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OCOBJIUBOCTI CUHTAKCHUCY AHIJIIMCBKOI MOBU

Iopsaok cJIiB B aHIIIHCHKOMY peYeHHi
Ha BigmiHy Bim ykpaiHCBKOTO pedeHHS (3 BUIBHUM IOPSIIKOM CIIiB) aHTJTIHCHKE

Mae QiKCOBaHMM MOPSIOK CIIB:

o0cTaBMHA | miagMeT NMPHUCYIOK | IONOBHEHHS | 00CTaBUHA | 00CTAaBUHA
(micus i (micus i
qacy) qacy)

[Ipu mepeknani pedeHHs Tpeba B MepIIly Yepry 3HAWTH MPUCYIOK 1 MiIMET, a
MOTIM 1HIII YJICHU PEUYCHHS.

O3HaueHHsa 3a3BUYail CcTOiTh miepen abo TMichs CJIOBA, SKE BH3HAYAETHCS.
O3HaueHHS YacTO YCKJIAIHIOE PO3YMIHHS CTPYKTYPH PEUYCHHS, TOMY IIPH NEPBUHHOMY
aHaJi31 HOro CroyaTKy MO>KHA MPOMYCTUTH.

B aHrmiiicekiii MOB1 3aJIeKHO BiJ PO3TAIIYBAaHHA Yy PEUYEHHI CIOBO MOXE
BUKOHYBATH POJIb PI3HUX WICHIB pEUEHHS 1 OyTH PI3HUMH YaCTHHAMU MOBH:

The investigations of the problem showed that his approach to it was promising.

Jocniooicennss npobaemu noxazanu, wjo 1o2o nioxio 0o Hei 08 nepcneKmueHUM.

They approach this problem in terms of theoretical data.

Bonu nioxoosmu 00 yiei npobiemu 3 mouxku 30py meopemudHux OaHuXx.

Bunaaku BiacTymy Bi NPpsiMOro NOPSIAKY CJIIB Y aHIJIINCHKINA MOBI

[Ipu HEOOXiTHOCTI BUAUIUTH (IMIJKPECIUTH) MEBHE CIOBO HEOOXITHO Mam'siTaT,
110 B aHMIICBKOMY PEUYEHH1 3MICTOBHA HACUYEHICTh MOCTA0IIOETHCS K KIHIIO PEYCHHS.
CnoBo, 1110 BU3HAYAETHCS, 3a3BUYall BUHOCUTHCS HA NTOYATOK PEYEHHS, AKIIO MPU LOMY
HE MOPYILIYETHCS T'PAMATHUYHHUI 3B'S30K MOMDK CIIOBaMH. Y TEpeKyajl MOXHa JT0AaTH
«camey JUIsl TOTO, 11100 MOCUIUTH 3HAYECHHS JOITOBHEHHS, 1110 BUILISETHCS.

This phenomenon we observed in our experiments.

Came ye Asuwue mu cnocmepieafzu 8 CBOIX eKxcnepumernmax.




JI71s1 3MICTOBHOT'O BUJIIJICHHS P13HUX YJIEHIB PEUCHHS TAaKOX JIOJAI0ThCS JI0AaTKOBI
CIIy’k00BI citoBa (KOHCTpyKIiA it is ... that, miacumroBansre aiecioso do).

It is ... that (who/which) MoxxHa mepekiacTH ClIOBaMHU «came», «TUIBKH Ie»,
GIKpas3y.

It is only recently that the fact has been discussed in literature.

I minbku HewooasHo yeti paxm 6y10 0620680peHoO 8 Timepamypi.

It is precisely this method that he followed.

Axpas yeii memoo 6iH i BUKOPUCTNAS.

[Homi B mepekynazi CilIoBO, IO BHUILISETHCS, BUHOCATH HAa KIHEIb PEUYCHHS,
OCKLUJIbKHU B YKpPAiHCHKiil MOBI 3MICTOBHE HaBaHTA)KEHHS T1aJ1a€ HA KiHElb PEUCHHS .

It was Doctor N who represented our firm.

Hawy ¢ipmy npeocmasnns dokmop N.

Homomikae nmieciioBo do (titeku y Past 1 Present Simple) s mocuimeHHs
3HAYEHHS MPUCYAKA CTABUTHCS TEPEa 3MICTOBHHUM JIECIIOBOM 1 BKAa3y€ Ha Yac, SKUW MPU
MepeKyIaal MePEHOCUTHCS Ha 1€ J1€CI0BO. B aHTIINCHKiINT MOBI 3MICTOBHE JIECIOBO B
1IbOMY BUMNAIKy Mae ¢opMy iH]iHITHBA O6€3 yacTku 0. Y mepekiiai BUKOPUCTOBYIOThCS
CJIOBA «JIIMCHOY, «BCE XK TaKW», «HAPEIITI» 1 T.II.

However, the problem does occur in the following situations.

lIpome ys npobrema Jiticno 3ycmpiuacmoscs 8 HACMYNHUX CUMYAYISX.

This experiment did prove our assumption.

L]eii excnepumenm gce s maxu 008i6 Haule NPUNYUJEHHS.

Inmi Bunaakyu nopyueHHs (pikCOBAHOT0 MOPSAKY CJIiB

1. V nonycTtoBUX peyeHHSX MIAPSAHE PEUYECHHS MOKE MOYMHATUCA 31 3MICTOBHOI
YACTHUHHM TIPUCYJIKA, BHUPAXKEHOI NPUKMETHUKOM abo0 IEMPUKMETHHKOM, 3a SKOIO
criayoTh coro3u though abdo as. Ilepekman ciig MOYMHATH 3 COMO3Y «XOoda» abo 3i
CJIIOBOCTIONTYYCHHS «SIKOIO 0%, «IKUM OM» 1 T.II..

Difficult though it may be the problem will be formulated.

Xoua ye mooice bymu i sadicko, 3a80anus 6yoe cghpopmynvosarno. Abo: Hxow 6 ne

8adickoio Oyna ys 3aoaua, 60HA Oyoe cghopmyrbosana.



Hard as it is we must do the work.

Xoua ys poboma i easzxcka, mMu nosunHi ii spooumu. A6o: Hkow 6 He 8axcKow
oyna ysa poboma, Mu nOGUHHI 3p0oumu ii.

2. Ha mouaTok pedeHHS MOXHA TOCTABUTH NESKI MPHUCITIBHUKA 1 CIIOJIYYHUKOBI
CJIOBA!

Only — tinbku

Only in this way — TiJIbKM TaKUM YHHOM

Only then — Tinbku Tomi

Never — HiKOJH ... HE (10 TpHUCYyIKa)

Barely — nense

Rarely — pinko

Nowhere — nHine

Not only ... but (also) — He TiabKH ..., ane i ...

Hardly (ever) ... when — negsp ..., 5K ...

No sooner than — He panimie, HixX

Not until/till — #e no / o

In no way — B sxogHOMY pasi

Neither ... nor — a Takox ... He (10 IpHUCyIKa)

On no account — B )xogHOMY pasi

In/Under no circumstances — 3a >xoJHuX 00CTaBHH

VY upomy BUMAKy pedeHHs OYIYIOThCS 32 TAKOK CXEMOIO:

be/have/modal/auxillary verb+subject+main verb Neve

r in this case will temperature remain constant.
Hixonu 6 ypomy eunaoky memnepamypa ne 6yoe 3aiudamucs HeamiHHO.
This did not present any information. Nor did they provide financial help.
Bonu ne npeocmasunu owcoonoi ingpopmayii. He 3abesneuunu 6onu makxooic i

Qinarncosy 0onomoey.



We could not identify the sample. Neither could we make the experiment once
more.

Mu ne 3moenu éusnavumu 3pA30K, A MAKONHC HE 3MO2IU npoeeCmU eKCnepumeHn
we pas.

Not only did they receive a grant but they (also) get a batch of new equipment.

Bonu ne minbku ompumanu epanm, ane u (makoxc) ompumanu napmito HO8020

001AOHAHHA.

EXERCISE 1. Translate the sentences into Ukrainian. Determine the part of speech
of the underlined words.

1. Professor N. lectures on that subject at our university. 2. We attended his lectures last

month. 3. This means is not efficient in that case. 4. It means that we must work hard at

this problem. 5. The results of our tests were unexpected. 6. Such reaction results in

dramatic changes in the end product. 7. We didn’t have any time to get the information
we needed. 8. Five times nine equals forty-five. 9. They had to repeat their question
several times. 10. Our country is a sovereign state. 11. They state that this technique is of
great importance for that branch of science. 12. The complete picture of this process has
been described in our papers. 13. To complete the system of numbers scientists

introduced irrational numbers. 14. There are five known phases, or states of matter:

solids, liquids, gases, plasma and Bose-Einstein condensates. 15. What we do really

matters.

EXERCISE 2. Translate the sentences into Ukrainian. Mind the inversion.

1. Nowhere can we see such rapid progress as in computing technique. 2. Only in this
region could we expect to find such an abrupt shift. 3. Of particular interest for the
present discussion is evidence for the properties of the charge carriers. 4. Mixed as these
elements appear to be, in reality they formed an entity. 5. For this purpose no direct
method has been devised, nor is it likely that such a method is possible. 6. Their tests

have proved that these factors do interact, giving rise to a sudden change of the whole



process. 7. This type of equipment did seem to be very reliable. 8. From the recent
studies we do know that sudden shifts can and do occur. 9. The importance of some
investments in science today needs no emphasizing, but it does need understanding. 10.
It is in this way that it became possible to explain this phenomenon. 11. It is only
recently, as a result of the introduction of the application of more sophisticated
techniques that scientists learned to solve such problems. 12. It was not until about 1911
that the first really successful theory of atomic structure was suggested by Rutherford.
13. It was A. S. Popov, who discovered the principle of wireless communication that
finally led to the development of electronic tubes for use in various communication
devices. 14. No only is computing equipment getting smaller, it is getting more
sophisticated. 15. No sooner had Alexander Fleming noticed an interesting mould growth
in one of his glass dishes than he knew that it was something important. 16. It is the

corruption probe that has left politicians around the world looking over their shoulders.

IMEHHUK

Oco0iMBI BUNIAIKH YTBOPECHHSI MHOKHUHH iMEHHUKIB

IMeHHUKH, 3a1103WYeH1 3 TPELbKOI Ta JATUHCHKOI, 30eperiin GOpMU MHOKUHHU ITUX

MOB.
OanuHa Muo:xuHa
Analysis — anais3 Analyses — ananizu
Basis — 0a3uc, ocHOBa Bases — 6a3ucu, ocHOBH
Crisis — kpu3a Crises — xpu3u
Thesis — qucepTartis Theses — nuceprariii, Te3u
Addendum — nonarox Addenda — nonarku
Bacterium — 6akrepis Bacteria — 6akrepii
Datum — mana BenuuuHa Data — gani Be1nuynHu




Stratum — mrap, macT

Strata — mpomrapku

Criterion — kpurepiii

Criteria — kputepii

Phenomenon — sButie

Phenomena — sasumia

Nucleus — sapo

Nuclei — sirpa

Radius — pamiyc

Radii — pagiycu

Stimulus — crumyn

Stimuli — ctumynn

Formula — dopmyia

Formulae/formulas — popmynu

Locus — micue

Loci — micia

Antenna — panio aHTeHa

Antennae — pamgioaHTeHH

Cactus — kaktyc

Cacti — xaktycu

Focus — dokyc, ocepenok

Foci — dokycu, ocepenku

Medium — 3aci0, cepemoBuiie

Media — 3acobwu, cepenoBuia

Spectrum — criekTp, aianazoH

Spectra — criekTpu, AlanazoHu

Diagnosis — mgiarxHo3, orinka

Diagnoses — miaruosu, OLiHKH

Equilibrium — pieHoBara

Equilibria — piBHoBaru

Ellipsis — emircuc

Ellipses — enincucu

Synthesis — cunTe3

Syntheses — cunTe3un

Apparatus — npwian, anapar

Apparatus — npwiaau, anapatu

Epithelium — emiremiit

Epithelia — emitenii

Dermatitis — nepmatur

Dermatitides — nepmaruTu

Fungus — rpu6

Fungi — rpubu

Vena — BeHa

Venae — BeHu

Index — innekc, moKa3HUK

Indices — innexkcH, MOKa3HUKH

Stoma — yctsuko, mpoaux

Stomata — yctsiaku, mpoauxu

Stimulus — CTUMY/I,

IMOAPAa3HUK

Stimuli — CTUMYJIH,

IMoAPa3HUKHU

Nucleolus — smepiie

Nucleoli — smepris

Matrix — matpuiis, popma

Matrices — matpuiii, popmu




IMeHHMK y QyHKUII 03HAYCHHS

B anrnificbkiii MOB1 IMEHHHUK, IO BU3HAYAETHCA, 1 IMEHHUK Y (DYHKI[IT O3HAYEHHS,
110 CTOITh MICJISI CJIOBA, 10 BU3HAYAETHCS, SIK IPABUJIO, MTOB'A3aH1 NPUHMEHHUKOM:

the new progressive methods of research

HO8I nepedosi Memoou O0CAIOHCEHHSL

Ane o3HaueHHs, BHpa)K€HE IMEHHUKOM, MOXKE CTOSTH IE€pel CIIOBOM, IO
BU3HAYAETHCS:

the new progressive research methods

Ha wmicue nepen cioBoM, 110 BU3HAYA€THCSA, MOXYTh HNEPEHOCUTHUCA OJHE abo
KUJIbKa IMEHHHUKIB 1 YTBOPIOBATH TaK 3BaHHUH JAHIFOXKOK IMEHHHUKIB (@ noun chain):

A lecture hall — rexyitinuii 3an

A first-year student — cmyoenm-nepuioxypcrux

Axmo micnast apTukisg (a00 1HIIOrO O3HAYEHHSI IMEHHUKA) € psifi IMEHHHKIB (SIK
MpaBWJIO, B OJHUHI) 1 0e3 mpuilMeHHUKA (MPUUMEHHUKHU MEPEPUBAIOTH PsIT), TO TUIbKU
OCTaHHE 3 HUX Oy/e CIIOBOM, JIO SIKOTO BIIHOCHUTHCS aPTHUKIIb 1 3 SIKOTO CJiJ TIOYMHATH

IepeKIIall BChboro psiay. Bci iHII coBa € HOoro 03Hau4eHHSIMH, BiJIIOBIAIOTh HA THTAHHS

CIKUU?»
Axuin? Sxun?  Axuit?  1lo?
X X X X

Sxmo B psALy NEpPHIMM CTOITh MPUKMETHUK, TO BiH 3a3BUYaill BIAHOCHUTHCS 10
OCTaHHbOI'O CJIOBA:

A complete requirements document should include the facts about the device.

llognuii onuc 6umoe noguHeH 8KII0YAMU BIOOMOCMI NO OAHOMY NPUNLAODY.

[HOMI TPUKMETHUWK, IO CTOITh MEPIIUM Y PsTy, BU3HAYAE HACTYITHUN 32 HUM
IMEHHHUK:

This research describes the development of a digital computer simulation model.

YV yvomy Oocniosxcenni onucyemscsi pospobka cxemu MOOento8anHs Yupposoi
00UUCTIIOBANILHOT MAWUHU.

Crnonyuyruku and ado OF MOXYTb MEpEepUBATH PSII.



The lecture and consultation time-table

Po3zknao nexkyiti ma xoncynromayiu

EXERCISE 1. Match the pairs.

1. sapa 1. phenomenon
2. nmai 2. radii

3. sBuIIa 3. strata
4. Gazucu 4. nuclei
5. kpuTepii 5. crises
6. nomartok 6. criterion
7. paaiyc 7. data

8. mana BenmMumMHA 8. bases
9. anamizu 9. stratum
10.sBUTIIC 10.nucleus
11.1onaTku 11.basis

12. nucepTartis

12.phenomena

13.ctumyn 13.criteria

14 xpusu 14.addendum
15.mapu 15.analyses
16.s51p0 16.radius
17.anams3 17.datum
18.6a3uc 18.addenda
19.map 19.thesis
20.xpuTepiii 20.analysis
21.paniycu 21.stimulus
22.MaTpuIli 22.vena
23.BeHA 23.equilibrium
24.iH0€eKcu 24.index

10



25.cepenoBuina 25.media
26.cuHTE3U 26.indices
27.1H1eKC 27.syntheses
28.piBHOBara 28.matrices

EXERCISE 2. Translate the noun compounds into Ukrainian.

1. plasma electron beam. 2. power consumption. 3. carbon-reinforced plastic. 4. racing
car bodies. 5. current and voltage measurements. 6. speed control system studies. 7. radio
frequency phenomena. 8. long-distance transmission system. 9. laser beam axis. 10. high
electron collision frequency. 11. foreign language studies. 12. high voltage transmission.
13. health records 14. emergency dispatch center. 15. dominant semiconductor process.
16. good signal-to-noise ratio. 17. silicon-germanium chip. 18. carbon nanotubes. 19.
higher-capacity data services. 20. semiconductor equipment makers. 21. complex high-

speed microprocessors.

EXERCISE 3. Write down paraphrases which will show the ‘grammatical meaning’

of the following noun compounds:

EXAMPLES
Noun Compounds Paraphrases
steam engine = engine which works by steam

cardboard carton = carton (which is) made of cardboard

milk carton = carton which contains milk

pocket torch = torch which can go in a pocket
copper electrode flat-panel display
iodine solution horseshoe magnet
glass jar test tube
condensation losses computer monitor

electron theory nickel alloy

11



Internet broadcast communications satellite

consumer electronics energy content
government office combustion chamber
cell phone laser beam

EXERCISE 4. Translate the sentences into Ukrainian.

1. A second-order three-point finite difference approximation for the boundary value
problem is well known. 2. The radio frequency power required by a radio transmitter
is usually obtained from an oscillator or amplifier. 3. The potential barrier height is
always automatically set up to be such that ensures a dynamic equilibrium state. 4.
The voltage time variation can be plotted for any given point along the line. 5. In an
attempt to develop a language-independent method of error recovery the following
techniques were used. 6. To understand how resolution enhancement techniques
work, step back and take a fresh look at basic optical lithography. 7. The present
paper is a survey of the electron transfer mechanisms. 8. The time schedule was
changed due to unforeseen circumstances. 9. All commands are forwarded to the
microdensitometer through the microprocessor-based controller. 10. It is desirable
that the diameter and length of shields are respectively not less than the doubled
value of coil winding diameter and length. 11. Three companies preferred the direct-
sequence code-division multiple access (CDMA) technology used by many cellular

and personal communications systems.

12



3AMMEHHUK

3ailMEHHUKHU B)KHUBAKOTHCA 3aMICTh IMEHHUKIB 1 IPUKMETHUKIB.

Oco0oBuii 3aiiMeHHHK It MOXe rpaTd poib (OPMAIBHOrO MiaMeTa (CTOITh
nepes NpucyakoM) i (opMaabHOro JOMOBHEHHS (CTOITH MICHA NPUCYAKA). Y LHX
BHITaJKaxX It He mepeKiIaaeThesl.

It is obvious that he is not going to take part in this discussion.

Bouesuow, wo 6in ne 36upacmucs bpamu yuacms 8 Yybomy 0062080pEHHI.

It follows that we have chosen the right way to estimate our results.

Jlociuno 6uxooumsv, wo Mmu o00paru NPAGUILHUL CNOCIO OYIHKU HAUUX
pe3ynromamie.

They considered it necessary to describe the whole procedure.

Bonu ssasicanu 3a neobxione onucamu 6cio npoyeoypy.

3aiiMeHHUK It, 110 3aMiHIOE HE OJHE CJIOBO, a ONMHUCYE MOHATTS, SBHIA, CIiJ
MEePEKIIaJIaTH CIIOBOM «IIE».

It was a standpoint shared by many philosophers.

L{e 6yna mouka 30py, sKy nodinsaiu bazamo ginocogis.

3aliMeHHUK 0NE/ONeS Mo)Ke BUKOPUCTOBYBATHCS SIK CJIOBO-3aMIHHUK IMEHHHMKA
B OJI./MH.

This procedure is much more complicated than that one.

L[a npoyedypa nabacamo cxiaouiwa, Hidc ma.

These models include the ones set out below.

L]i mooeni sxnouaroms mi, Wo HABEOEHi HUICHe.

One wmoxe BukoHyBath (QyHKIIO (opMarbHOro migMera. Taki pedeHHS
MEePEKIIaIal0ThCA HEBU3HAYE€HO-0COOUCTUMU pEUYCHHSIMH, abo MOXHA
BUKOPUCTOBYBATHU B TIEPEKIAI1 «MI».

To understand the meaning of the word one must look it up in a dictionary.

L1]o6 3po3ymimu 3HaueHHs Ybo2o C108a, mpeda NOULYKamu o2o 8 C108HUKY.

This problem is not difficult when one studies its aspects.

L[a npobnema He € 8ad*CKOI0, KOMU BUBHAIOMbCSL (MU BUBUAEMO) IT acneKkmu.

13



3BEpHITH YBary Ha MOXKJIMBUH MTepeKIIaj] HACTYITHUX BUPa3iB:

One has (had) to — 060B’s13k0B0 Tpeba (Tpeda Oyi10)

One must — Tpeba, moTpiOHO

One will have to — 060B’s13k0BO Tpeba Oye

One should — cnix

One could — moxHa Oyi1o0

One may (might) — MmoxxHa (J103BOJIUTH), MOXKHA OYII0

One Moxe OyTu hopMaIbHUM JI0JJATKOM, IO CTOITh MICHS MPUCYAKA. Y I[IBOMY
BUIIAJIKY BOHO 3a3BHYail HE TIEPEKIAAAETHCS a00 3aMIHIOETHCS (DOPMATTBHUM «HAM).

This enables one to observe and record all the changes.

L]e 0o36015€ (Ham) cnocmepieamu i peccmpysamu 8Ci 3MIHU.

3aMiCTh TO€IHAHHS IMEHHHMKA 3 MPUCBIMHUM 3ailMEHHUKOM B)XXUBAIOTh
abcomoTHY (opMy NMPUCBIMHUX 3aiiMeHHUKIB — Mine, his, hers, ours, yours, theirs.

Our method is more accurate than theirs.

Haw memoo 6inbw mounuti, Hidic ix (Memoo).

BkasziBui 3aiimennuku that/those, micas skux € nOpuiiMeHHUK —a0o
nienpukmeTHuk (dacrtime Participle II), MOXyTh BXXHBaTHCS 3aMiCTh IMEHHHKIB 3
npaBuM BHU3Ha4YeHHSAM. [lepeknan ykpaiHCBKOIO MOBOIO 4acTO MOTpeOye MOBTOPY
BIJIITOBITHOTO IMEHHHUKA.

This point of view is that of a mathematician rather than a physicist.

L[ mouka 30py € moukorw 30py mamemamuxa, a He Qisuxa.

These books are more interesting than those written many years ago.

L]i kHueu Oinbw YiKaesi, HidC KHUSU, HANUCAHI Oa2amo PoKie momy.

BkaziBui 3aiimennuku that/those moxyTs BxkHMBaTHCS BiTHOCHO OYAb-SIKOTO
MOTIEPETHLOTO BUCIIOBIIOBaHHS. [lepekinamaroThCss BOHH B IbOMY BUMAAKY CIIOBAMH
«I1e», «BCe IIe», «BC1 BOHU», «BCI 111 IBUIIA» TOIIO.

That proves our supposition.

L]e 00600ume Hauie npunyujeHHs.

14



EXERCISE 1. Translate the sentences into Ukrainian.

1. It is worth mentioning that this paper is often referred to. 2. It was a theory we
have never heard of. 3. We thought it important to improve the results of our work. 4.
It was clear that the data would be published in books. 5. This procedure is more
reliable than ours. 6. If one diagrams it one finds about twenty layers. 7. One cannot
start applying probability theory before one has an adequate method for the numerical
representation of the data. 8. As a matter of fact the atoms have an irregular to-and-
fro motion similar to that of the electron. 9. The planetary theory was not developed
to the same degree as that of the moon. 10. There are several approaches to this
problem. Those involve a choice of operation. 11. There is the number of relevant
documents. Please specify and list the major ones. 12. Usually each plant and animal
has its own unique genes, which are different from those of every other plants and

animals.

EXERCISE 2. Translate the paragraphs into Ukrainian. Replace, if possible, the
words in italics with words which make the meaning clear.

A) Just as you talk on the phone, so computers can talk to each other on the Internet.
Every computer has its own ‘address’ where it can receive messages. When you
access the Net, your computer connects to a computer called a net provider. That, in
turn, is linked to another computer called a main hub.

B) The idea is to use a small number of very fast memory chips as a buffer or cache
between main memory and the processor. Whenever the processor needs to read data
it looks in this cache area first. If it finds the data in the cache then this counts as a
‘cache hit’ and the processor need not go through the more laborious process of
reading data from the main memory. Only if the data is not in the cache does it need
to access main memory, but in the process it copies whatever it finds into the cache
so that it is there ready for the next time it is needed.

C) To manipulate a cell’s internal structure, we want instead to generate a strong
electric field inside the cell, and do it before too much charge has accumulated at the

cell membrane and turned it into Swiss cheese.
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EXERCISE 3. Translate the sentences into English. Mind one, it.

1. Ie 3aBmaHHs MOJKHA BUPIIITUTH AOCTPOKOBO. 2. Crif HeraitHO cTaTu 10 poOoTH. 3.
3aBKau MOXKHA 3HAWTH Buxin. 4. BoHM BHBYalOTh OpraHidHI IPOIECH, a TaKOX 1
HeopraHiuHl. 5. HixTto He cmoctepiraB me sBuule. 6. baxaHo nepeBiputH Lei
pe3ynbTaT. 7. MoXKHa O4YiKyBaTH, IO Il PEYOBHMHA JIETKO PO3UMHSETHCSA Y BOI. 8.
E#inmretiny 3Hago0umocss 6araTo pokiB, o0 po3poOHUTH HOro TEopiro BiAHOCHOCTI.
9. ImoBipHO, 11€i penapar aie sk ctumynarop. 10. 3 BHIlleCKa3aHOTO BUILIUBAE, 110
el Meto BigkpuBae HOBI MokIHMBOCTI. 11. [Ilo6 OyTu creriamicroM, Tpeba 6arato
npairoBaty. 12. I1ig yac ekciepuMeHTiB Tpeba BUKOPUCTOBYBATH Oe3MedH1 Mpuiiaau.
13. Moxna Oyno kpaiie 3pooutu BumiptoBaHHs. 14. HeoOxigHo 000B’SI3KOBO
OTpUMATH TOYHI pe3ysbTatd. 15. B iHTEepHETI MOXKHA 3HAWTU OYyIb-AKY 1H(OpMaLitO

Ha OyIp-sAKy Temy. 16. Y npoMy BUNIQAKY CJIiJl 3pOOUTH aHaJi3 KPOBI.

NPUKMETHUK I ITPUCJIIBHUK

IIpukMeTHHK B aHTJINACHKIN MOBI HE Ma€ poay 1 GOPMU MHOKUHU. Y PEUCHHI
NPUKMETHUK MOXK€ BUKOHYBATH (DYHKIII:

1) o3HaueHHst (Skui? 4yuid? KOTpUK?), CTOITh MIXK apTUKIEM abo I1HIIUM
O3HAYEHHSM 1 IMEHHUKOM.

It is an interesting book.

L]e yixasa kHuea.

2) iIMEHHOI YaCTUHU CKJIQJCHOT0 MPUCYAKA (CTOITh MICIS JI€CIOBa-3B's3ku t0
be, to get, to grow, to become, etc.).

This is an interesting book.

1le yikasa kHuea.

This work became boring.

L{a poboma cmana nyowoio.
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IIpucaiBHMK 1no3Havyae o3HaKW Jii 1 0OcTaBUHM ii BUKOHaHHS. [IpuciiBHUK
(s1x? ne? skuM 4MHOM?) MOXKE€ BUKOHYBATH (DYHKIIIFO OOCTaBUHU, O3HAUYEHHS 1 OyTH
3MICTOBHOIO YaCTUHOIO MPHUCYIKA.

He works here. Bin npayroe mym.

You must do it correctly. Bu nogunni 3pobumu ye npasuivHo.

We have very important news. ¥ nac oyoice easxiciusi HOBUHU.

S0 IPUCTIBHUK BXOAUTH J0 CKJIaJy MHOTOWICHIB MPHUCYIKA, TO TOMIOMIXKHE
JECTIOBO 1 CMMCIJIOBE JIECIIOBO BHUSBISIOTHCS BIJIPBAHMMHU OJWH BiJ OJHOTO.
[Tepexitam 1HOI €11 TOYMHATH 3 IIUX CJIIB.

This technique has recently proved to be very accurate.

Hewooasno 3'acysanocs, wo yeii memoo 0yxice moyHui.

SIKIO VEry BXKWBA€ETHCS IMepe]l IMCHHUKOM 3 apThkKieM the, To BOHO 3a3BHYaii
[IEPEKIANAETHCS CIIOBAMU «CaMUI», «TOU CaMMII».

| was sure of it from the very beginning.

A 6y6 yneenenuil 8 YbOMy 3 CAM0O20 NOUAMKY.

Jlesiki MPUCITIBHUKY 32 (HOPMOIO 301TatoThCs 3 MPUKMETHUKOM:

Near — 61u3vko/61uzbKUL

Late — nizno/niznii

Hard — cmapanno/cmapannuii/sasxckuti/sasxcko

Fast — weuoko/weuoxuii

Long — 0oszo/0062uii

Straight — npsamo/npsimui

High — sucoxo/sucokuii

[IpucniBHUKH, M0 BIAPI3HAIOTHCS 32 3HAYCHHSIM BiJl MPUKMETHHUKA, BiJl SKOTO
BOHU TTOXOJISITh:

Nearly — maiioce (Bin mpuKMeTHUKA NeAr — O.1u3bKuiL)

Lately — newjooasno (Bin npukmernuka late — nizniii)

Hardly — zeos (Bin npukmernuka hard — cmapannuii, meepouir)

Shortly — nesabapom (Bin npukmernuka short — kopomruir)

Greatly — snauno (Bin npukmeTHuKa great — senuxuii)

17



Largely — wupoxo, 6 3naunii mipi (Bix npukMeTHHKa large — eenuxuir)

Highly — naozeuuaiino (Big npuxmernuka high — sucoxuii)

Scarcely — zeow (Big npukMeTHHKA SCArCe — pioKicHUll, HeOOCMAMHILL)
Readily — oxoue (Big mpuxkmernuka ready — comosuii, cxunbHuir)

Presently — nesabapom, menep (Bim npuKMeTHHMKaA present — nmpucymniil,
NOMOYHUIL)

Badly — xonue, dyoce (Bin npukmernuka bad — nocarnuii)

Pretty — oocumo (Big npukmerHuka pretty — eapruii)

Mostly — 30ebinvuioco (Big mpucniBauka (Much) most — natibinouiuir)

Deeply — oyorce (Bin npuxmerHrka deep — arubokuii)

Formerly — paniwe, xonuce (Big npukmernuka former — xoauwmniii)

Hardly mae HeratMBHe 3HAYCHHS 1 YacTO BXKMBAETHhCS 3 3aliMEHHUKaMu any,

anyone, anywhere, anything ta ever.

CryneHi nopiBHSIHHSA NPUKMETHHKIB i IPUCJIiBHUKIB
B aHrmiicekiii MOBI, SIK 1 B YKpaiHCBKiH, SIKICHI MPUKMETHUKHA MAlOTh TPHU
CTyneHi mopiBHsHHs: 3éuuannuii (the Positive Degree), suwuii (the Comparative
Degree) i nansuwun (the Superlative degree).
dopMH BUIIOTO 1 HAWBUIIOTO CTYINEHIB MOXYTh OYTH npocmumu (BOHU
YTBOPIOIOTBCS 3a JOMOMOIOK CY(DIKCIB) 1 ckiraonumu (BOHU YTBOPIOIOTHCS 3a

JIOTIOMOT' 010 CITY>KOOBHX CJIIB).

3BuyaiHui Bunmia HajiBnmmia
cold colder (the) coldest
simple simpler (the) simplest
big bigger (the)biggest
easy easier (the) easiest
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[Ipu yTrBOpeHHI mpocTUX (OpM BHUILIOrO 1 HAWBMILOIO CTYIEHIB CIij
J0JIeP>)KYBAaTHCh TAKUX MPABHIL:

[TpocTi hopmu BUILIOTO 1 HAWBUILIOTO CTYINEHIB MAlOTh TaKl IPUKMETHUKHU:

1) yci omHOCKIaA0B1 MPUKMETHUKH;

2) IBOCKIJIaI0B1 MPUKMETHUKH, SIKi 3aKIHIYIOThCS Ha -y, -€r, -le, -ow:

happy — happier — (the) happiest

clever — cleverer — (the) cleverest

simple — simpler — (the) simplest

narrow — narrower — (the) narrowest

Cknaani (GopMu BHUIIOTO 1 HAMBUIIOTO CTYIIEHIB YTBOPIOIOTHCS JIOJaBaHHIM

ciryk60Bux ciiB more i (the) most o 3BuuaitHOTrO CTyTNeHs MPUKMETHUKA.

3BnyaiHui Bunmii HajiiBnmia
useful more useful (the) most useful
complex more complex (the) most complex

CximanHi  QGopMu BHUIIOTO 1 HAWBUIIOTO CTYINEHIB yTBOPIOIOTH  TakKi
NPUKMETHUKHU:

1) yci OaraTocknanosi (Ti, 10 MalOTh OUTBII SIK 1BA CKJIAJM) TPUKMETHUKHU:

beautiful — more beautiful — (the most) beautiful

2) ABOCKJIAJOB1 MPUKMETHUKH, SIKi HE 3aKIHUYIOThCS Ha -y, -€r, -le,

-OW 1 MarOTh HAroJIOC Ha TIEPIIOMY CKITaJIi:

careless — more careless— (the) most careless

useful — more useful — (the) most useful

VYci 1HI IBOCKIIAIOBI MPUKMETHUKK MOKYTh YTBOPIOBATH CKJIAaJHI (popmu
MOPSJT 3 MPOCTHUMH.

3) ycl NPUKMETHUKH, SIKI 30iraroThcsa 3a (OpMOIO 3 IEMPUKMETHHUKOM
TENEPIlHLOro ab0 MUHYJIOr0 Yacy (ToOTO 3aKiHYYIOThCs Ha -ing Ta -ed):

loving — more loving — (the) most loving

pleased — more pleased — (the) most pleased

tired — more tired — (the) most tired
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Jlesiki IPUKMETHUKY YTBOPIOIOTh BULIUH 1 HAMBULIUHN CTYIEHI MOPIBHSHHS HE

34 3araJIbHUMHU IIpaBUIaMu:

3BuuyaiiHui Bunmii HajiiBnnmia

good better (the) best

XOPOIINH Kpauuyi HaKpamuym

bad worse (the) worst

MOTaHU ! TipImii HaWTIpIIui

little less, lesser (the) least

MaJIEHbKHA M MEHIIAN HAMMEHIIUN

Less — nmopiBHsuibHAa (opma Big npukMmerHuka little 1 3a3Buuaii

BUKOPUCTOBYETHCS TITLKH 3 HE3JTIYCHHUMH IMCHHUKAMU. IMEHHUK MOYKHA OIyCTHTH,
SIKITO 3MICT 3PO3yMiTHUH.
| earn $100. Jack earns $200. | earn less money than Jack. (I earn less.)

Lesser — mopiBHSUIbHUNA TPUKMETHHUK, 110 BUKOPHUCTOBYETHCS JIUIIE MEpes
IMEHHUKOM 1 3HAYUTh «HE TAKE BEJIIMKE», «MEHII BOKIUBUN/3HAYYIIUI», 00 «HE TaK
0arato», «MeHIIe» TOIIO:

They too had felt the influence of the Christianity to a greater or lesser extent.

Bornu makooic 6iouysanu eniue xpucmusaHcmeda 8 OLbuLitl Yu MeHuii Mipi.

We think this is a lesser risk than taking no actions.

Mu esadicacmo, wo ye meruiutl pusux, Hisc 0y0b-saKi Oii.

This is the lesser of two evils.

L]e menuwe 3 060x 3011.

Crnogo little Mocxe OyTu He TUTbKM NMPUKMETHUKOM, a ¥ mpuciiBHukoM little
(mano), HanlpuKIan:

We managed to do very little last week.

[TpucniBHuKH, 1O 30iratoThea 3a (GOPMOIO 3 MPUKMETHUKAMH, YTBOPIOIOThH
CTYIICHI MOPIBHSHHS 3a JONOMOTror0 cy(dikciB -er, -est. [TpucniBuuku 3 cydikcom -ly

YTBOPIOKOTH CTYIIEHI MOPIBHSHHS 33 JOIIOMOTO0 CITy)k00BHX ciiiB more i (the) most.
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[IpucniBHUKH, 1110 YTBOPIOIOTH CTYNEHI IMOPIBHSHHS HE 3a 3arajibHUM

TIPaBUIIOM
3BuvyaiiHui Bummi Hansnmmuu
much, many more (the) most
Oarato OlIbIIIe HaWOIbIIIE
well better (the) best
no0pe Kparie HalKparie
badly worse (the) worst
MOTaHO ripiie HauripIe
little less (the)least
Majio MEHIIIe HaliMEHIIIe

Jlesiki TPUCHIBHUKM 1 TNPUKMETHUKM MarwTh MO JABI (OpPMH BHILOTO 1

HAWBHIIOTO CTYTICHIB, SK1 PI3HI 32 CBOIM 3HAYCHHSIM:

3BHYaAHM

Buimit

HanBunmii

old — crapwii

1) older —  crapimui,
crapuuii (3a ...)

2) elder — crapmmii (y cim')

1) the oldest — HakOLIBII
CTapuii, HalCTaAPIIIHiA
2) (the)

HaWcTapuii y ciM'i

eldest —

late — mizHii, 1) later — GibIr Mi3HIN 1) (the) latest — wHaiOiLIBII
ITi3HO 2) latter — ocraHHi¥ 3 ABOX | Mi3HIiM, OCTaHHIH (3a YaCOM)
(110 TIOpSAAKY) 2) (the) last — HaiOiIBII
oCTaHHiW, MuHYIHH (MO
TIOPSIIKY)
far — manekui, | 1) farther — Ginpm mameHil, | 1) (the) farthest — manGiTBII
TAJIEKO nani (mpo BiJICTaHb) JaNbHIN, HalTaJIbIIIe

2) further -

JTaJIbIINH,

HACTYITHUH, Haal (3a

qacoMm)

2) (the) furthest — maiiOiTbII

JTAJIbHINA
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near — OJIM3BKUH,

OJIN3BKO

nearer — OUIBII OJIM3BKUH,

OJIvKUEe

1) (the) nearest — HaiOLIBII
ONMM3bKUN, HAWOMIKYUH (110
BIJICTaHi)

2) (the) next — wacrymHwHit

MaiOyTHIH (110 TTOPSIAKY)

1. Ilpu mopiBHSHHI OJHAKOBUX SIKOCTEH NPUKMETHUK ab0 MPUCITIBHUK Y

3BUYAMHOMY CTYII€HI CTa€ MK MAPHUMH CIIOJTYYHUKAMH @S ... 8S (Tak (M) X .... K

1):

This equation is as correct as the above equation.

L]e piensanna make s mouHe, 5K i 8uwe32a0aHe PiGHAHHAL.

They speak English as fluently as their English colleagues.

Bonu posmoensaroms aneniicbkow maxk camo 8ilbHO, AK 1 IX aHeNIUCLKI KOJe2u.

Konu npuKMETHMKM 1 TPHUCIIBHUKA B 3BUYAMHOMY CTYIEHI CTOATH MIXK

CIIOJyYHUKaMHU as ... aS B MOE€HAHHI 3 BUcIoBaMHu twice (B qBa pasm), three times (B

TpU pa3u) 1 T. A., BOHU MEPEKIATAIOTHCS HA YKPAaiHChKY MOBY NMPHUKMETHUKAMHU Y

BUILOMY CTYIIEHI:

The new method is twice as efficient as the old one.

Hoesuii memoo 6 0sa pazu npodykmusHiuie cmapoeo.

Konu B moenHanHi as ... @S 3 MPUKMETHUKOM BKa3yeThCs po3Mip (3a3BUYail B

nudpax), TO HOro ciii MEpeKIalaTh CIOBAMH THUITY «JIOPIBHIOE», «CTAaHOBUTHY,

«TOXOJIUTH JI0» 200 HE MepeKIaaaTH B3araii:

The experiment lasted for as long as 3 months.

Excnepumenm mpusas 3 micauyi.

At present we can build houses as tall as 90 meters.

B oanuii wac mu mosxcemo 6yoyeamu 6younxu 3aesuuxu 0o 90 m.

Bumuii crymiHb miCHS CHONYyYeHb 6 064 pazu, 6 mpu pasu i

T.HO.

NEePEeKIaZIaeThCsl HA aHMIMCbKY MOBY MPUKMETHUKOM Yy 3BUYANHOMY CTYIEHI, SKHUN

CTOITh ITOMIX aS... as:

Their room is twice as large as ours.
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Ixna kimuama 60siui 6invua, Hise Hawa.

ko npyruii 00’ €KT NOPIBHIHHS HE 3ralyeThCsl, TO &S MICHS IPUKMETHUKA HE
CTaBUTHCS:

This house is twice as old.

L]eui 6younox 8osiui cmapiute.

3BEpHITH yBary Ha Mmepeksiaj HaCTyITHUX CIOBOCIIONTYYECHb:

Twice as much as — 6 0sa pasu 6inviue

Four times as long as — 6 vomupu paszu dosuie

Four times as high as — 6 vomupu pazu suwe

Ten times as much as — 6 decsams paszis Oinvuie

Half as much as — yosiui menue

Half as many as — yosiui menue

Half the weight — 6 06a pasu necwe (3a sazoro)

Half the size — 6 d6a pasu menwe

[ToenHaHHS TPUKMETHUKA a00 TPUCTIBHUKA B IMO3UTHBHOMY CTYTEHI, IO
CTOITh MIX HHMH COIO3y, aS .. as 1 npukMeTHHka pPOsSSible mnepexnamaerbes
MPUKMETHUKOM 200 MPUCTIBHUKOM Yy BHIIIOMY CTYIICHI:

We shall try to help you as quickly as possible.

Mu nocmapaemocs donomoemu 8am AKOMO2a weuouLe.

2. ko € migo3pa Ha HEPIBHI SAKOCT1, BUKOPUCTOBYETHCS MAPHUN CIOJTYYHHUK
not as ... as (ue Tak (ui) ... sK):

This equipment is not as new as your equipment.

Lle ycmamxysanns ne make Ho8e, K éauie 001AOHAHHS.

3. Jlis TOpiBHSHHS ABOX SKOCTEH ab0 CTaHIB TICis TPHUKMETHUKA abo
NPUCITIBHUKA Y BHIIOMY CTYIICHI BxKUBaeThes than (Hix):

They demonstrated better results than their competitors.

Bonu npooemoncmpyesanu kpawi pezyiomamu, HidC iX KOHKYPEHm.

Bumuii cTymiHb NPUKMETHUKIB MOXE OyTH TOCWICHHH 3a JIOMOMOTOI0
npuciiBaukiB much, far, still, a great deal (mabararo, 3HauH0, 3Ha4YHO, III€):

This work is much more interesting than the previous one.
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L[a poboma nabacamo yikasiue nonepeoHwvoi.

4. Ilepen MPUKMETHUKOM B HAaWBHIIOMY CTYIICHI MOXKE BXKUBATHUCS MPUCTIBHUK
by far (mabaraTo, 3Ha4HO). B 11bOMY BUIAJIKy TPUKMETHUK MOXKE IEPEKIIATIATHCS HA
YKpaiHChKY MOBY IPUKMETHHUKOM Y BUIIIOMY CTYTICHI:

This device is by far the most useful comparing with all other instruments.

L]eti npunao nabacamo KOpUCHIWULL Y NOPIBHAHHI 3 YCIMA THUUMU NPUTLAOAMU.

Jlist mepenadi 3aI€KHOCTI OJTHIET AKOCT1 BiJ 1HIIOI TIepel MPUKMETHUKOM a00
HPUCITIBHUKAMH y BHIOMY CTYIIEHI BXKHBAIOThCsS O3HadeHi aprukm the ... the i
MEPEKIAAAIOTHCA KOHCTPYKINEID YMM ..., THM. Y TaKUX pPEUCHHSAX, MOXKIHUBO,
BIJICYTHIM MPUCYIOK.

The sooner the better. Yum weuowe, mum Kpauge.

EXERCISE 1. Translate the sentences into Ukrainian. Mind the idioms.

asearly as (aslongagoas) - we, eoxce

as little as — minbKu

as long as - 00 Mux nip..., NOKU, OCKLIbKU
as late as — goice, MibKU

as soon as — AK MIIbKU

as well as — mak camo, siK

1. The chromosome theory of the heredity was proposed as late as in the 80’s
of the twentieth century. 2. As little as one part of heavy water in 100000 parts of
water may be detected. 3. Gregor Mendel’s book was published as early as the end of
the XIX century. 4. Biological changes continue as long as living creature is alive. 6.
The existence of DNA was discovered as late as in 1944. 7. All of us are at risk for
caries as long as we have our natural teeth. 8. Horizontal crustal displacements were
therefore taking place as early as the transition between the Archean and the
Proterozoic, and may have been active as long as a billion years earlier. 9. As early as
three and a half years of age, children know that the order in which one recites

numerals is crucial. 10. Personal data do not have to be particularly sensitive
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information, and can be as little as a name and address. 11. As late as the seventeenth
century, the view was advanced that animals are nothing more than machines. 12. It
will lead to a tremendous amount of new in-depth understanding as well as to the
fabrication of novel high technological devices in many fields of applications from
electronics to medicine. 13. The rate of nitrate reduction was dependent on
temperature as well as organic matter content. 14. As long ago as 1988 Ken
Ledingham at Glasgow University and two collegues had proposed inducting fission
in uranium-238 (quite safe) in just such a way, but at that time suitable laser did not

exists.

EXERCISE 2. Choose the correct item.
. That was a pretty/prettily embarrassing situation.
. You have an opportunity to get higher education here free/freely.
. The shelf was so high/highly that he couldn’t reach it.
. They may be late/lately home tonight, as they have plenty of work to do.

1
2
3
4
5. In our country children under six years old travel free/freely.
6. She has near/nearly finished her course paper.

7. They have been going abroad a lot late/lately.

8. This college is high/highly recommended for its range of courses.

9. The miners have to dig deep/deeply to find oil.

10.The new supermarket is very near/nearly our house.

11. The ministers were deep/deeply involved in the bribery scandal.
12. She found it hard/hardly to get used to living in a foreign country.
13. Which of his book do you like most/mostly?

14. | have to work quite hard late/lately.

15. She is sometimes late/lately for work.

16. That mountain was too high/highly for them to climb it.

17.1t is near/nearly time to finish your test. Hurry up!

18.She writes most/mostly romance novels.

19.My dormitory is near/nearly the university.
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20.They found it hard/hardly to explain their problems.

21.His father is a high/highly respected scientist.

22.She was pretty /prettily dressed for official ceremony.

23.He doesn’t hear anything when he is deep/deeply absorbed in his work.

24.The animals can roam free/freely here.

EXERCISE 3. Translate the sentences into Ukrainian. Pay attention to the
underlined words.

1. Hydrogen is readily combined with chlorine and fluorine. 2. There is hardly any
living substance which does not consists of compounds containing oxygen. 3. As
highly oxidized compounds the ceramics are strongly resistant to nearly all
chemicals. 4. Temperature largely determines the process of plant growth. 5. They
started their seminar shortly after the experiment. 6. The complexity of cell
membranes could not formerly be studied. 7. Such experiments are generally made in
a glass tube. 8. These structures are clearly seen under the microscope. 9. Some
discussions will possibly be arranged after the lessons. 10. The course of this process

can be entirely changed.

EXERCISE 4. Translate the sentences into Ukrainian.

1. The design of this new device is as important as that of this machine. 2. The
temperature today is as high as it was yesterday. 3. Since the very first days of its
foundation this town has attracted a lot of tourists. 4. This radio set is not as powerful
as that one. 5. The obtained yesterday are far better. 6. He is much more experienced
than other physicists in his laboratory. 7. The longer the wavelength of a particular
wave, the less is its frequency; the shorter the wavelength the greater the frequency.
8. The lower the losses, the higher the efficiency of an electrical device. 9. At room
temperature these compounds react to a lesser extent. 10. Bad is never good until
worse happens. 11. As a rule, the magnitude of the useful signal is tens and even
hundreds of times lower than the natural level of noise in the receiver. 12. The more

the load resistance is increased; the less becomes the total amount of power involved.
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13. Relatively less attention has been paid to another way of obtaining information.
14. Further work on this problem is badly needed. 15. Little is known of Herodotus’
personal history, since ancient records are scanty, contradictory and often fanciful.
16. He is a lesser person in the government. 17. The current global food crisis is
creating hardships for people everywhere, but people in developed countries are
suffering to a lesser degree than people in the underdeveloped parts of the world.18.
It becomes clear that companies are being required to have nothing less than a
continuous, real-time, “God’s-eye” view of everything in their corporate systems. 19.
We need some further information on this problem. 20. The worst and the coldest
period in the country lasts for six months. 21. Jane’s computer is much more
powerful than mine. 22. To keep the base current as low as possible the base is made
thin with a low impurity concentration. 23. Since the voltage in the suppressor grid
remains considerably lower than the minimum anode voltage, its suppressing
functions are not impaired. 24. The voltage rise required may be smaller in practice
because the instability temperature at the cathode may be lower than the melting
point due to the much higher electrostatic forces present. 25. The faster the wire
moves and the stronger the field through which it moves, the greater is the induced
e.m.f. and the resultant electric current. 26. Another striking peculiarity is that in
radio rays the sun presents far less contrast to the sky background than in optical rays.
27. As a rule, the magnitude of the useful signal is tens and even hundreds of times
lower than the natural | of noise in the receiver. 28.That is why this branch of science
makes wide application of latest findings of radiophysics to increase the sensibility to
the maximum. 29. The higher the current flow due to a higher voltage, the greater is
the number of electron collisions per second. 30. Air capacitors have the smallest
losses as compared with all other types of capacitors. 31. This discovery turned out to
be one of the most fruitful and important achievements of our physicists. 32. The
greater the energy of the beam of particles, the more information about atomic

components can be obtained.
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EXERCISE 5. Translate the sentences into English.

1. Ile HaWiHHIIINI €KCTIOHAT B MiCIIEBOMY apXeoyioriuHoMy My3ei. 2. Buixasmmu 3
KpaiHu, BIH MOYyBaB ceOe Bce ripuie 1 ripme. 3. SJkuil 3 HMX JTOKYMEHTIB MEHIII
BaXMBUK? 4. BiH BBaxaB, IO KepyBaTH aBTIBKOK HA0arato CKIATHINIE, HIXK
aitakoM. 9. Ileit moeTr He Takmit Bimomuid, sk [lleBuenko, ane MeH1 Mo100ar0ThCS HOT0
BIpIII HaBITH OUTBIIE, HIX BIPII 1HIIUX MOETIB. 6. Onmucanuii HaMu MeTo MOTpedye
MOJIAJIBIIIOTO OUTBII JETANbHOTO aHami3y. /. Pe3ynpTaTu Bammx ek3aMeHiB Habarato
ripun, HDK MU ouikynu. 8. Lleit xmapouoc — HauBunuid y cBiTi. BiH B Tpu pasu
BUIIUI 3a MornepeaHbo 30yaoBanuid. 9. YuM nani Mu mogopoKyBajiu KpaiHOK, THM
OuTbIIe IIKaBUX peder 3ycTpiyanu mo goposi. 10. Ha 3ycTpiui 1mpoMy NHUTaHHIO
NpUAUTIIIM HabaraTo MEHIEe yBaru, aHixk BoHO 3aciyroBye. 11. Ille na mouatky 19
cropiuust, Yapas3z bebimx 1 Ana JlaBneiic, nouka noera baiipona, npaioBanu Hax
AHATITHYHOIO MAIIMHO, SKY MOXHA BBa)KaTH MPOTOTHUIIOM CYY4aCHOT'O KOM IOTepa.
12. HoBe obnagnanHs B 1Ba pa3u edekTtuBHime 3a crape. 13. Bin came Ta mrogmHa
JUIS BUpIMICHHS mie€i ckmamHoi 3amadi. 14. Ile mmranHs Habarato ckjaagHime 3a
nonepenHe. 15. Mu neaBe BCTUTIIA MPUBECTH JI0 JIaly BCl HEOOX1AHI TOKYMEHTH 0
TOYATKy HOBOI'O HABYATBHOrO POKy. 16. loro foCATHEHHS y 1IbOMY HAMPSMKY OyITH
HE MCHII IIIHHUMH, aHDK JIOCATHEHHS Horo monepeaHukiB. 17. S xuBy OJ1M3bKO Bij
YHIBEPCUTETY, TOMY 51 POKUJIAIOCS TOCUThH MMI3HO 1 BCTUTal0 BYACHO HA TEPIIy Mapy.
18. V cBoill KIiHILI BOHM BUKOPUCTOBYIOTH HaliCyyacHIIII METOAM AIarHOCTUKH 1
nikyBaHHs. 19. [{e MeHII 3HauyIa po3pooka y cepi KoMIT IOTEPHUX TeXHOJOT1H. 20.
Bouu Hamaranucst 3poOuUTH Bce sikoMora mBujimie 1 sikicHime. 21. Yum Ouibiie TH
BYMII, TUM OUIbIlIE TH 3Haem. YuM Ouiblle TH 3Hael, TUM Oulblie 3a0yBaemr. Yum

OinbIre TH 3a0yBAa€Ell, THM MEHIIE TH 3HA€MI. TakK JJis 40ro BUUTHCS?

28



JIECJOBO

JiecioBa-3B'13KM CIYT'YIOTh JUISl 3'€JTHAHHS HiAMETa 31 3MICTOBOIO YACTHUHOKO
NPUCY/AKA,  BHUPAXEHOIO  IMEHHMKOM,  IPUKMETHHUKOM,  J1ENPUKMETHHKOM,
1H(QIHITUBOM, T€PYHIIEM 1 YUCITIBHUKOM.

B sixocTi miecnmoBa-3B's13kM MOYKHA BUKOPHUCTOBYBATH TaKi JIECIIOBA:

To be bytu

To get

To turn CraBatu

To grow

To become

To look Burisinatu
To remain 3anumarTucs

He is a doctor. Bin nixap.

It turned dark. Cmemmnino.

The task looked difficult. 3ae0annus euensoano eaxcxkum.

This field of science remains unexplored.

L[a cany3v nayku 3anumiacmoscs HeOOCai0HCEHOTO.

HiecioBo 0O MoXe BHKOPHCTOBYBATHCS SIK CIIOBO-3aMiHHHK Ji€CIIOBa-
npucyaka. Y IbOMY BHUINAAKY BOHO 3aMIHIOE TMPHUCYIOK MOMEPETHHOTO PEUYCHHS,
BHPaXEHUH 3MICTOBUM JieciioBoM. JliecioBo dO mo3Hauae 4ac i y3TOIKYETHCS 3
nigmerom. [Ipu nepekiaai moBTOPIOETHCS 3aMIHEHE J1ECIOBO, HAIPUKIIA:

A wise man seldom changes his mind, a fool never does.

Pozymna noouna pioko 3mintoe 8ot 0ymKy, 0ypHa — HIKOIU (He 3MIHIOE).

3aMicTh TpUCYIKA, II0 CKIAJAEThCS 3 JIOMOMDKHONO 1 OCHOBHOIO
JiecioBa, MOKE BUKOPUCTOBYBATHCS TIEpIIEe JOMOMIXKHE II€CIOBO, IO BUPaKae dac
ab6o monanbHicTh. [Ipu mepekiani Tpeda MOBTOPUTU OCHOBHE 3MICTOBHE JIECIOBO B
BI/IMOBIAHOMY Yaci, HAPUKIIA;

Their work has surprised us and so have their achievements.
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Ix poboma 30usysana nac, a maxoic 30usyeanu ix 00CAeHeHHs.
We should gather all the information we can.

Mu nosunni 3ibpamu 6cto inghopmayito, sIKy Modxircemo 3iopamu.

AxtuBHuii cran (Active Voice)

JliecioBo BUCTyNa€ B aKTUBHOMY CTaH1, KOJIH MIJIMETOM PEYCHHS € Cy0’ €KT Aii,
110 BUKOHYE ITIO JIIFO.

[Ipu mnepexsami MU TIOBUHHI BHU3HAYUTH 4Yac, BHJ 1 CTaH aHIJIIHCBKOTO
npucyaka. Y ckiaaHux gopmax mieciosa tuny have been done, was being carried
out, will be explained i T. 1. HeoOXigHO 3BepTaTH yBary Ha pOJIb IEPIIOTrO
JIOMOMDXKHOrO piecinoBa. lle giecioBo Bkazye Ha 4vac, Oepe ydacTb B YTBOPEHHI
NUTaIbHOI 1 3amepeyHoi GopMu, a y HeocoOoBUX (OpMax d1€CIOBAa MICTUTh iX
XapakTepHi 03HakH (4acTKy t0 abo 3akiHueHHs —iNg). Y ckiaaHiid GopMi MpUCYIKa
OCTaHHE CJIOBO € CMHCIIOBUM JII€CIOBOM 1 3aBXKIW [EPEKIAJA€EThCsA, 1HIII
KOMITOHEHTH BPaxOBYIOThCS MIPHU MEPEKIaai, OCKUIBKA BOHM BHU3HAYAIOTh Yac, BU] 1
crocio.

HiecnoBa y dopmi Simple BiTHOCATH Jit0 10 TEMEPINTHBOr0, MUHYJIOTO abo
MalOyTHBOT'O Yacy, HE BKa3ylOUH Ha T€, SK BOHO MPOTIKAE B Yaci, a B TEMEPIIIHHOMY
9aci MIKPECIIO0Th 3BUYANHY JIifO0.

He goes to school.

Bin xo0ums 0o wikony.

dopma Past Simple Tense BxuBaeTbcs, KOIM MOBa #jae Mpo Jii, IO
BIIOYyBaJIMCSl B MUHYJIOMY IPH BUPQKEHH1 pANY MOCIIJOBHUX [IIi; MPU HAIBHOCTI
oOcTaBuH yacy tuiry yesterday, last month, the other day i . 1., a Takox sIKII0 Hac
[[IKaBUTh Yac BYMHEHHS JIii B MHUHYJOMY, TOOTO y NMHTaJIbHHX pedyeHHAX 3 When
(komm) 1 mipm BimmoBiAi Ha utaHHs 3 When. Lle Binpizase Past Simple Big Present
Perfect, sikuit Takok MepeKIagaeThCs MUHYJIMM YacOM, ajie BKUBAETHCS, AKIIO HAC
IIKaBUTh PE3yJIbTAT Jii, a He Yac i1 3aiicHeHHs. [HIMMH clioBamu, BxkuBaroun Past
Simple, mu Bignosizaemo Ha nmutands «Komu tpamunocs?», Present Perfect — «Illo

Tpanuiocs?»
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| did this work yesterday. — 4 pobus yio pobomy suopa.

| have just done this work. — A minvxu wo 3pobue yio pobomy.

| saw him two days ago. — 4 6auus tioco 06a oni momy.

| have seen him. — 4 (sorce) bauus tiozo.

SIkmo onHa i B MUHYJIOMY BinOyBajiacsi paHille 3a IHIIY 1 € BKa3iBKa Ha
nepeayBaHHS OJHI€l il 1HINHM, TO I Jii mepemaroThes aiecioBamu y ¢opmi Past
Perfect, a nmis, sika caigye mizuimre — gieciaoBom y ¢hopmi Past Simple.

We had carried out our experiment before the professor came.

Mu npogenu excnepumenm 00 moeo, sik npuLiuLo8 npoghecop.

HiecnoBo-tiprcynok y hopmi ContinUOUS BUCIIOBIIIOE 10, 1110 BiZOYBA€ETHCS B
TOYHUN MOMEHT abo0 BIPI30K 4Yacy B ChOT'OJICHHI, MUHYJIOMY a00 MaiOyTHbOMY.
MomeHT ab0 BIIPI30K Yacy BHU3HAYAETHhCS 3a3HAYEHHSIM TOYHOIO  dYacy
npuiiMeHHuKOM at «B» abo from ... till «3 (Bix) ... mo», a00 moyaTkoM abo KiHIIEM
iHmoi xii. Ilpucymok y dopmi ContinUOUs 3aBkau MEPEKITaIa€ThC HEJOKOHAHUM
BUJIOM. HAMPUKJIIA;

The machine is running.

Mawwuna 3apaz npayioe.

We were writing our report from 5 till 7 o'clock.

Mu nucanu csiti 36im 3 5 00 7 200unu.

He was listening to music when we came.

Bin cnyxag my3uKy, KOIu Mu npUtuLIU.

Come at 3 o'clock tomorrow. We will be discussing this issue at the meeting.

Ilpuxooeme 3a6mpa o 3 2oouni. Mu 6ydemo ob2o60pro6amu ye numaHHs Ha
3yCmpIyl.

Sxmo mnpucymok mae ¢opmy Present Continuous, B mepekiani iHOAI
BBOJISITHCS CIIOBA THITY «3apasy, «y TEMEPINIHii yacy, «B TaHUH MOMEHT».

HiecnoBo-mpucynok y dopmi Perfect Continuous BucIOBIIOE Jif0, IO
rmoyanacs B MHUHYJIOMY 1 TpUBa€e B MOMEHT MoBieHHS. [Ipu 1mpoMy 3a3Buuaii

BKa3y€ThbCA, CKIJIBKHU Jacy BIKC HpOTiKa€ Ili}I, 1 BxuBaroTLCs ciosa for «IIPOTATOM»
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abo since «3». CMHCIOBE JI€CIOBO CIIiJ TEpeKIaaTH JII€CIIOBOM HEIOKOHAHOIO

BU]TY, JOJIAI0UH «BXKE», SIKIIO HEOOX1THO.

| had been writing this exercise for an hour before you came.

A 6oice nucas yro enpaesy npomscom 200UHU 00 moco, sK 6u npuﬁtwlu

We have been observing this phenomenon for a month.

Mu eo1ce micayb cnocmepieaemo 3a yum A8ULeM.

Skmo miecnoBo croith y (dopmi Present Perfect Continuous, ioro cimig

nepekazaTi TEIepillHiM YacoM, Ha BIAMIHY Bijg miecioBa y gopmi Present Perfect,

SIKMU TIEPEKIIANAETHCA 3a3BUYall MUHYJIMM YacOM, HAIPUKIIA:

We have discussed his book.

Mu 062060punU Y1 KHUICKY.

We have been discussing his book for an hour.

Mu 062060proemo 11020 KHU2Y 8Jice 200UH) .

Yacu aHIJiicbKOI MOBH (AKTUBHHI CTaH)

Tense Form Affirmative Negative Interrogative
Present Vil | work | do not work Do | work?
Simple V;+-s |Heworks He does not work |Does he work?
(he/she/it) |l go | don’t go Do | go?
He goes He doesn’t go Does he go?
am/are/is |l am working [l am not working |Am | working?
Present (be) He is working He is not working |Is he working?
Continuous + | am going I’m not going Am | going?
V, He is going He isn’t going Is he going?
+
-ing
Past Simple V, | worked | did not work (V1)|Did | work (V1)?
regular: He worked He did not Did he work (V1)?
-ed work(V,)
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Tense Form Affirmative  |Negative Interrogative
irregurlar: |l went Ididntgo (V:) |Didlgo (V1)?
2nd column He went He did n't go (V,) Did he go (V1)?

was/were |l was working. |l was not working Was | working?

Past (be’) He was workingHe was not Was he working?

Continuous +V; working

+ | was going | wasn't going Was | going?
-ing He was going [He wasn't going  |Was he going?
have/has | have worked [l have not worked|Have | worked?

Present + He has worked He has not worked|Has he worked?

Perfect V3 | have gone | have n’tgone  |Have | gone?
regular: -ed |He hasgone |He hasn'tgone  |[Has he gone?
irregurlar:
3nd column

Present have/has |l have been | have not been  |Have | been

Perfect + working working working?

Continuous been He has been  He has not been |Has he been

+ working working working?
V, | have been | haven't been Have | been going?
+ going going
-ing He has been  |[He hasn't been Has he been going?
going going
Past Perfect had | had worked. |l had not worked. [Had | worked?
+ He had worked [He had not Had he worked?
Vs worked
regular: -ed |l had gone | hadn't gone Had I gone?
irregurlar:  |He had gone  He hadn'tgone  [Had he gone?
3nd column
Past Perfect had | had been | had not been Had | been

33




Tense Form Affirmative  |Negative Interrogative
Continuous + working. working working?
been He had been  He had not been |Had he been
+ working working working?

V, | had been | hadn't been Had | been going?

+ going going

-ing He had been [He hadn'tbeen  |Had he been going?

going going
Future will | shall work I shall not work | Shall I work?
Simple + He will work  |He will not work  (Will he work?

V, I'll go I won't go Will 1 go?

He'll go He won't go Will he go?
Future will I shall be I shall not be Will | be working?
Continuous + working working

be He will be He will not be Will he be working?

+ working working

Vi I'll be going I won't be going  |Will | be going?

+ He'll be going. |He won't be going \Will he be going?

-ing

Future will | shall have [l shall not have [Shall I have
Perfect + worked worked worked?
Simple have He will have  |He will not have |Will he have

+ worked worked worked?

V3 I'll have gone [l won't have gone [Shall | have gone?
regular: -ed |He'll have gone [He won't have Will he have gone?
irregurlar: gone
3nd column

Future will | shall have I shall not have  Shall I have been
Perfect + been working [been working working?
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Tense Form Affirmative  |Negative Interrogative
Continuous have He will have  |He will not have \Will he have been
+ been working |been working working?
been I'll have been || won't have been Will | have been
+ going going working?
V1 He'll have been He won't have Will he have been
+ going been going working?
-ing

EXERCISE 1. Translate the sentences into Ukrainian.

1. The geologist’s first task is to locate geological conditions suitable for the
existence of oil. 2. These devices look pretty much alike. 3. The scale is so short that
the relative error becomes appreciable. 4. It is of no practical importance whether this
pathway exists in physical or logical space. 5. Upon treating the compound turned
dark red. 6. My opinion remains unchanged, though you tried to make me change my
mind. 7. Their point of view becomes increasingly apparent when one faces the
problem. 8. Hubble’s dscovery that the Universe is getting bigger led to an amazing

theory about the history of the Universe.

EXERCISE 2. Translate the sentences into Ukrainian. Mind the functions of do.

1. Semiconductors do possess many wonderful properties. 2. All of them conduct
electric current worse than metals do. 3. Some of the devices using a semiconductor
let electric current pass through them only in one direction and do not conduct it at all
in the other. 4. This branch of science has never before played such a role in the
history of mankind as it does nowadays. 5. The sun rotates on its axis just as the earth

does, from west to east, but takes longer to complete a rotation.

EXERCISE 3. Translate the sentences into Ukrainian.
1. She has been here since ten o’clock. 2. They have been to London. 3. The group of

scientists attended the meeting yesterday. 4. This procedure met the specific
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requirements. 5. We worked at this problem many years ago. 6. It has developed from
the primitive crystal and became one of the most basic of our electronic servants. 7.
Fortunately we have calculated all possible losses. 8. Experience has shown that it is
almost impossible to rely on this instrument. 9. After he had completed his drawing
he gave it to the engineer. 10. These automatic lines have been functioning for a
number of years. 11. We have been carrying on this experiment since nine o’clock
and have not yet been through with it. 12. The research workers of our institute had
designed this device by the end of the last year. 13. Many other applications of this
technique are becoming increasingly popular. 14. They were explaining this theory
when you came. 15. Unlike diagrams or films, the television shows something that is

taking place at exactly the same moment.

EXERCISE 4. Translate the sentences into English.

1. Lle#t OynuHOK HaNeXHUTh MOeMy OpatoBi. Bin ToO1 nmogobaetscsa? Bin nmoOyayBas
HOro MUHYJIOTO POKY, ajie He )KMBE B HbOMY. 3. Byrno mi3Ho, Konu BiH 3aTenedoHyBal
MeHl. 4. Sk mpaBuiio, BOHA HE OOTOBOPIOE TaKi BAXKIIMBI MUTaHHS MO TenedoHy. 5.
Konu mu Buiinuin 3 momy, Oyino X0J0IHO 1 OB criIbHUM Aoml. 6. Buopa o chomiit
MU OOTOBOpPIOBANIU 1110 MpobOsiemy. 7. Mu He 0OTroBOpIOBaiv 1€ MUHYJOrO pasy. 8.
Bin 3HailmoB BIANOBIAP Ha JEKUIbKA CKJIQJAHUX IHWTaHb, KOJIU TPOBOJIUB
eKcrepuMeHT. 9. BiH He JUBHUBCS TeNEeB130p O LIOCTIH, B 1€l Yac BiH 0OrOBOpPIOBAB
BaxuB1 tuTanHs 1o tenedony. 10. He TypOyiics. S moroBopro 3 HUM, K TUIbKU BiH
npuige. 11. S aymatro, mu migemo 0 mapky, koiau jgouy BiryxHe. 12. Koneru He
O6aumnu ii 3 TOoro yacy, sk BOHa Buiima 3 odicy. 13. S mpamroro y wiit dipmi 3
BEepECHS MHUHYJOro poky. 14. BiH poO3MOBISIB 3 IUPEKTOPOM MHUHYJIOTO THKHSL.
JlupekTop 3rajgaB 6arato BaXJIMBUX (PaKTiB CTOCOBHO MalOYyTHHOTO KOHTpakTy. 15.
OcTanHIM 4YacoM s HIYOTO HE 4yB MIpo ix mocmimkeHHs. 16. Ckinbku pasiB BU
BHCTYITAJIA 3 JIOMOBIIIIO IIbOTO poKy? 17. S mie He nmpuroryBaB Bedepro. S 30uparocs
KYIIUTH BCE€ HEOOX1JIHE y HaWOmmkuomy cyrnepmapketi. 18. Bin panrtom 3ranas, 1o
3a0yB 3poOUTH BaXIuBi po3paxyHku. 19. YoMy TBil Apyr OyB BIICBHEHHM, 1110 BOHH

He Bri3HaM oro? 20. Bin OyB maciuBul, 110 OTpUMaB Ielly MPeMito Ha KOHKYPCI.
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21. llo nmpodecop BCTUT PO3MOBICTH BaM J0 TOro, sk s npuidmoB? 22. BiH He
MOMITHUB, 1110 3a0yB CBili cOTOBHIl. 23. MU IpUTOTYEMO BC1 JOKYMEHTH JI0 TOTO, SIK BU
3aiimere A0 Hac B odic. 24. 3acnokoit Koro. BiH gymae mpo CBOIO MOMUJIKY ITLTHIMA
neHb. 25. CKUTbKH 49acy BOHU MPAIIOIOTh HAA 1M TpoeKToM? — BoHM mpaIfioroTh
HaJ HUM 3 MUHYJOTO MICSI 1 me He 30MparoThes 3akiHuyBaTH #oro. 26. XTo 3
BaIllUX KoJIer mpaifoe y jaboparopii 3 20157 27. Bouu Oynum myke po3apaToBaHi:
BCIO HIY XTOCh CIiBaB y CYCiAHIN kBapTupi. 28. Mu 3Hanu, mo BiH pO3pOOJIsAB Iei
IpUCTPiil Bxke Oarato pokiB. 29. i croaiBaBcs, 1110 BOHU MIKITYBaTUMYThCS TIPO CBOIX
mitHix OatbkiB. 30. S 3aRxaum OyB ymHEeBHEHWH, IO 3HAHHS aAHIJIIHCBKOI MOBHU

JIOTIOMO>KYTh MEH1 B MOili MailOyTHi# kap’epi. | Moi crioiiBaHHS CTBEPAMIIKCE.

EXERCISE 5. Read the texts. Put the verbs in brackets into the correct tenses
and forms. Explain your choice.

A) SCIENCE AND TECHNOLOGY (to seem) modern ideas, but humans (to
strive) to understand the world and (to invent) machines to help them ever since they
first (to walk) on the Earth 30,000 years ago.

The earliest people (to live) simply by hunting animals and gathering fruit and
there (to be) no need for science to be anything but basic. But as people (to settle)
down to farm around 10,000 years ago, the first towns and cities were built in the
Middle East and life (to become) much more complicated. At once science and
technology (to begin) to develop apace to meet their varied needs. The Babylonians,
for instance, (to create) numbers and mathematics to keep track of goods and taxes.
The Egyptians (to study) astronomy to help them make a calendar. And the
astonishing achievements of Greek thinkers like Archimedes and the engineers of the
Roman empire (to lay) the foundations of modern science and technology.

Later deep thinkers (to realize) that ancient ideas (can) not necessarily be
trusted: the only way to learn the truth (to be) to look and learn for themselves.
Observation and experiment (to become) the basis of a new approach to science
which (to lead) to a huge range of discoveries such as Newton’s laws of motion,

Dalton’s atoms, Darwin’s theory of the evolution of life and many more — right up to
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recent breakthroughs in the science of genetics. Trade and industry, meanwhile, (to
fuel) a revolution in technology which (to begin) with the steam-powered factory
machines of the late 18th century and (to continue) to gather pace with the latest
computer technology of today.
B)  Archimedes (to be) the world’s first great scientist. Of course, others (to study)
scientific subjects before, but Archimedes (to be) the first to think about problems in
the scientific way that we now ( to take) for granted. He (to come up with) abstract
theories that could be proved or disproved by practical experiments and by
mathematical calculations.
Archimedes (to live) in Syracuse in Sicily, which (to be) a Greek colony at the time.
He was born there around 285BC, and (to spend) most of his life in the city studying
geometry and inventing all kinds of fantastic machines. Those (to include) the famous
Archimedes’ screw, a device for pumping water, and many war machines which he
(to build) for the defence of Syracuse.

Archimedes was regarded with awe in his lifetime, and there are many stories
about him.
The most famous (to be) about a task that the king of Syracuse once (to set) him. The
king (to want) to know if his crown (to be) pure gold — or if the crafty goldsmith (to
mix) in some cheaper metal as he (to suspect). Archimedes (to think) about this tricky
problem in the bath one day when suddenly he (to notice) how the water level (to
rise) the deeper he (to sink) into the bath. The story (to go) that he (to leap out) of his
bath and (to run) naked through the streets to the king, shouting at the top of his voice
“Eureka! Eureka!” which (to mean) “I (to get) it! I (to get) it!” Later, he (to show) the
king his idea. First, he (to immerse) in water a piece of gold that (to weigh) the same
as the crown. Then he (to immerse) the crown itself and (to discover) that the water
level (to be) different. Archimedes then (to conclude) that the crown (to be) not pure
gold because the difference in water levels (to show) that the crown (to have) a
different volume to the gold, although they (to be) the same weight. This (to prove)

that it must have been made of a different metal. The goldsmith was executed.
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EXERCISE 5. Put the verbs in brackets into the correct tenses and forms (add
not if necessary). Finish the story any way you choose.
Donald came home late. He was tired and hungry; the phone (to stop) ringing all day
so he (to miss) lunch. He (to walk) into the empty flat. The cat immediately started
miaowing in the kitchen. It wasn’t his cat, it (to belong) to a friend. He (to promise)
to look after it while his friend was away on holiday. He didn’t particularly (to like)
cats but it was only for ten days. He went into the kitchen and (to take) out a tin of cat
food, (to open) it, and (to put) the contents into the cat’s dish. He (to hate) the smell
of the stuff and (to wonder) how the cat could possibly eat something which smelt so
bad. He then slowly started (to prepare) himself a meal. He (to light) the stove, put oil
into a frying pan then quickly cut up and (to add) an onion, a couple of old carrots, a
pepper and some bits of vegetables he (to find) in the fridge. It was only then that he
(to remember) that he (to be) to the supermarket for over a week. A quick check (to
confirm) that he (to have) no meat in the fridge. He stood indecisively for a second or
two, one hand resting on the open fridge door, the other lightly holding the knife. The
vegetables sizzled in the oil. The cat was noisily eating...
IMacuBHuii cran (Passive Voice)
dopma Passive mokasye, 1o CcjI0BO, IO MO3HA4YaE 0co0y abo MpEaAMET, IO
CTOITh nepea I[iECJ'IOBOM B IMIaCUBHOMY CTaHi, HC CaMO BHUKOHYE€ I[iIO, d Ha HbBOTI'O
MEePEeXOIUTh 1S I[LOTO J1€CTOBA, TOOTO BOHO BiJIYyBa€ Ha c001 HOTO Jit0.
B aHrmiiicekii MOBI TacCMBHMH CTaH YTBOPIOETHCS 3a JIOIIOMOTOIO

nonomikuaoro aiecioa {0 be Ta Il ¢popmu miecnosa (Past Participle) ocHoBHOrO

nieciosa. JliecmoBo 10 be 3MiHIOEThCS B 3aJI€KHOCTI BiJl 0COOH Ta Yucia miaMeTa.

Yacu aHrJiicbKoi MOBHU (ITAaCUBHUI CTaH)

PRESENT PAST Future
Simple islam/are + V; was/were+ V; will/shall + be
(regular: -ed (regular: -ed
. . . . +V3
irregurlar: irregurlar:
3nd column) 3nd column)
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Letters are sent Letters were sent Letters will be
every day. yesterday. sent tomorrow.

Continuous is/_am/are+ was/were +being
B(l?éggraxs—ed tVs
irregurlar: (regular: -ed
3nd column) irregurlar: 3nd

column)
Letters are being | Letters were being
sent now. sent at 5 yesterday.

Perfect has/have+ been | had+been + Vj will/shall+hav
z-rg/g3ular: -ed i(ﬁg;t:?lra-lr:ed e/has+been +
irregurlar: 3nd column) Vs
3nd column)

Letters have been | Letters had been sent | Letters will have
already sent. before he phoned. been sent by
5 tomorrow.
Perfect
Continuous

Ilepexyag macCMBHOIO CTAHY

VY nepekiani ciij 30epiratv MOPsI0K CIIIB aHTJIIMCHKOTO PEYCHHS.

The answers are given instantly upon demand.

Bionosioi oaromucs 6iopa3y ic nicis 3anumy.

AHTIIHCHKOr O Passive MoxHa

y  dopmi

BUKOPUCTOBYBATH aKTUBHY (OpMy Ji€CiioBa, ajie MAMET aHTJIIMCHKOTO PEYSHHS BXKE

IlIpu mepeknami pUCYyIKa
oyzae inmum. Coaig mam’siTate, 1m0 TUTBKH oco0OoBi 3aiiMennuku (I, you, he, she, it,
we, they) MoxyTh OyTH MiZIMETOM B aHIJIIHCHKIN MOBI.

I'was told a lot of interesting things.

Meni po3nosinu bazamo yikagoeo.

40



They were shown a new lab.

Im noxazanu HO8Y 1ab0pamopiio.

He will be given this project.

Homy 0adyms yeii npoexm.

[HOMI MOXITMBUY TIepeKIIaa MPUCYIKa aHTIIIHCHKOTo pedeHHs B (opmi Passive
JIECIIOBOM y MTACHBHOMY CTaH1 3 3aKIHUCHHSAMHU -cA 200 -Cb.

The advantage of this technique over others was recognized by many scientists.

Hepeeaea uvbo2co Memody neped IHUWMUMU 8U3HABANACA OA2amMbMAa 64EHUMU.

SAxmo Tpeba 3ramath cy0’ekTa Aii, MICHS TPHUCYJKa B IACHBHOMY CTaHI
BXKHMBA€EThCA a00 mpuiiMeHHHK DY, a0o npuiiMmennuk With. Hanpukian:
This project was done by our engineers. ([isu)
Many moden labs are equipped with such devices. (InctpyMeHT, 3Haps )

Jlns  mepeknany BHKOPUCTOBYEMO OpYIHMM BIAMIHOK abo cloBa 34
donomoezor. Hanpuknan:

This phenomenon was carefully studied by students.

L]e sisuwye 6y10 y8adtCHO B8UBYEHO CINYOEHMAMU.

Drying process is effected with pumps.

IIpoyec ocywenns 30iticHIOEMbCS 30 O0NOMO20H0 HACOCIB.

Bakki BUnajaku nepekJjaay naCMBHOI0 CTaHY.
1. B aHrmifchbKid MOBI ICHYIOTH JI€CJIOBA, 3 SKUMU MOKHA BHUKOPHCTOBYBATHU
SK MPSMHE Tak 1 HEMpsSIMHUH JgoaaTok (IO BiAMOBiNalOTh HAa muTaHHa to whom?
«koMmy?»). OOuaBa OONATKH MOXKYTh BHUCTYNAaTH MIJAMETOM IaCHUBHOIO 3BOPOTY.
Hanpuxknan:
He was shown this agreement yesterday.
This agreement was shown to him yesterday.
Buopa iiomy nokazanu yro y200y.

VY nboMy BHITQJIKy Hal4acTIIe B)XUBAIOTHCS TaKi JIECIIB:
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to give

JaBaTu

They were given a new task.
A new task was given to them.

Im oanu nose 3a0amnns.

to grant

Ha/1aBaTh
(cyOcumito, IO3UKY)

She was granted a loan.
A loan was granted to her.

[ii haoanu no3uxy.

to offer

NIPOIOHYBATH

| am offered a new job.
A new job is offered to me.

Meni npononyioms Hogy pobomy.

to pay

IJIaTUTH

We are paid bonuses monthly.
Bonuses are paid monthly to us.
Ham suoaroms npemiro koocrnozo

MICAYAL.

to promise

001ATH

He was promised a promotion.
A promotion was promised to him.

Homy obiysnu niosuwenns.

to show

MIOKa3yBaTH

We were shown a new film.
A new film was shown to us.

Ham noxasysanu nosuii ghinom.

to teach

BUKJIaAaTHn

They are taught English at university.
English is taught to them at university.
Im euxnaoarome AH2NTUCLKY MOB) 8

VHIgepcumemi.

to tell

pO3IIOB1IaTH,

TOBOPUTH

We are often told this story.
This story is often told to us.

Ham uwacmo posnosioaromo yio icmopiio.

2. SIKIO aHTIMCHKOMY JIECIOBY 3 NMPUHUMEHHUKOM BIJIMOBiJIa€ yKpaiHChKE

T€ECIOBO 3 MPUHMEHHHKOM, TO TMEPEKJIaj] 3 aHTJIIHChKOI MOBH PEUYEHHS, 110 MICTHUTH

TaKe JII€CJIOBO Y MACUBHOMY CTaHi, Tpeba moynHaTH 3 mpuiiMeHHuka. Hampukan:
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They are often spoken about.

1Ipo Hux uacmo 2oeopsmeo.

Lle Taki mieciaoBa, SIK:

to aim at

psIMyBaTH 0

These hopes will be aimed at.

o yux naoiti 6y0yme npsamyeamu.

to account for | mosicHroBaTH His mistake was accounted for by his
10-HEOy/Ib illness.
HUOZO NOMUIIKA NOSICHIOBANACH 1020
X80p000I0.
to agree upon | momosisitucst | The terms will be agreed upon.
po 1Ipo ymosu 6y0yme domosnsmucs.
commenton | komentyBatu | This is another piece of information
which can't be commented on.
L]e we oona inghopmayis, sKy He ModicHa
KomMernmyeamu.
to deal with matu cipaBy 3, | The problem was dealt with by our
pO3riIgaaTu experts.
L0 npobnemy posensioanu nawii axisysi.
depend on noknazxarucs | The man can be depended on.
Ha Ha uro JZIOOtu MOHCHA NOKIAACMUCDH.
fight against | GopoTucs These ideas are usually fought against by
POTH scientists.
IIpomu yux ysenensb 36udatino 6OpsMuvCsl
BUEHI.
to hear of 9yTH PO The device was heard of by this engineer.
IIpo yeti npunao uys yeii indcenep.
to insist HaroJsratd Ha | These terms were insisted on.

on(upon)

Ha YUux ymoeax HanojiAacajiu.
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to laugh at cmistucs Han | He is often laughed at.
Hao num wacmo cmiromocs.
the listen to CIIyXaTH The teacher was listened to attentively.
Buxnaoaua cnyxanu ysasicro.
look after JTUBUTHCS 32 The children will be looked after very
well.
3a oimbvmu 6y0yme 0youce 0obpe
OUBUMUCD.
look at JTUBUTHCS HA They were looked at with interest.
Ha nux ousunuce 3ayikasneno.
look for HIYKATH The book was looked for everywhere.
Lo knuey wykanu 6croou.
look into pO3MIISIIATH Can this be looked into?
II1OCH Yu moowcHa ye pozenanymu?
to object to sarepeuyBati | Our proposal is objected to.
MPOTH, lIpomu nawoi npono3uyii 3anepeyuyoms.
BHUCIIOBJIFOBATHU
HCECXBAJICHHA
to provide for | mependayaru | The industrial decrease could be
10-HEOY/Ib, provided for.
3a0€3MeunuTu 3HUIICEHHS NPOMUCTOBOCII MOMCHA OYIO
nepeobauumu.
to refer to nocwiatucst Ha | Their papers were referred to.
Ha ix cmammi nocunanucs.
to rely on noknazxatucst | These figures can be relied on.
Ha Ha yi yugppu mosicna noxnacmucs.
to speak roBoputy ipo | The book is much spoken about.
of/about IIpo yro knuey baecamo 2osopsimo.

to send for

IIOCHJIATH 3a

The doctor has been sent for.
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3a nikapem nocnanu.

to touch upon | Topkatucs The problem was touched upon by our
4Ooro-HeOy/ib teacher.

Haw suxnaday mopxnyscs yiei

npoobaemu.
to wait for YeKaTH Ha He had to leave, he was being waited for.
KOI'OCh HUOM)/ 006e10cs1 nimu, HA HbO2O YeKaiu.

Coiy 3BepHYTH yBary, 1o giecioBo refer to B moemnanHi 3 @S nepexiagaeTbes
I[iGCJ'IOBOM «Ha3UBATUCA», HAIIPUKIIAL:
This phenomenon is referred to as acceleration.

L]e sasuwe nazusacmuvca akcenepayiero.

3. [TacuBHI1 3BOPOTH 3 MOJAQAIBHUMH JI1€CTOBAMH.
[licns MopanpbHUX JI€CIIB MOXE B)XXHMBaTHUCS MacuBHa (opMma 1H]iIHITHBA

OCHOBHOTO JII€CJIOBA.

can

have to +V,

may }
(regular: -ed

must +be - i
irregurlar:

ought to 3nd column)

should

etc.

Hanpuxmnan:

The work must be done at once.

Poboty Tpeba BUKOHATH 0/1pasy.

These data shouldn’t be used.

[li mani He ¢l BUKOPUCTOBYBATH.

He had to be told the truth.

Vomy 10Besocst po3IOBiCTH TpaBy.

The project needn’t be implemented in our laboratory.

Hemae nmotpeOu BUKOHYBaTH 11eM TPOEKT B HaIIIii 1abopaTopii.
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4. Jleski miecnoBa, 110 MalTh Npu co0l MPUUMEHHUKH B YKPAiHCHKid MOBI,

BXKMBAIOThCS 0€3 MNpUIMEHHUKIB B aHrmiichkiid. [lpum mepekmani aHrmiichbKoro

pEUYEHHsT 3 TaKUM JIECIIOBOM B TACMBHOMY CTaHl CIHiJi MOYMHATH MepeKiIaj

YKPaTHCHKOIO 3 IpUiiMeHHUKA. [0 TaKuX TI€CITIB HAIEKATh:

to answer BiZMIOBIAaTH (HA) Your letter will be answered tomorrow.
Ha eaws nucm oadymo 6ionogios 3asmpa.
to address 3BepTatucs (10) He was addressed
Jlo nvoeo 36epuynucs.
to affect/ BIUIMBATH (Ha) The development of this science was
to influence influenced by the discovery of radioactivity.

Ha pozeumox yiei HayKu 6nIuHyn0 I0OKpUmmsi
PpaoioakmusHOCMi.
The roses were affected by that cold winter.

Ha mposanou ennunyna xonoona 3uma.

to approach

MIIXOIUTH (J10)

This problem must be approached from
different points of view.

o yiei npobremu mpeba nioxooumu 3 pizHux

MOYOK 30D).
to enjoy OTpUMATH The film will be enjoyed by everybody. Bio
3a/I0BOJICHHS (Bi) | Qhinvmy 6ci ompumanu 3a00801eHH .
to follow iTH cimijioM (3a); The lecture was followed by a film.
CTEXKUTH (32) 3a nexyicro caioysas intom.
to join NPHUETHYBATHUCS We will be joined by foreign colleagues in a
(o) few days.
3a kinvka OHi6 00 HAC NPUEOHAIOMBCS
IHO3EeMHI KOIe2U.
to watch CIIOCTEpIraTw, Their work is often watched.

CTEXUTH (3a)

3a ixuvoro pobomoro uacmo cnocmepiearome.
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5. Bapto 3anam’atatu Taki ppa3eosoridyHi CIOBOCIOIYYEHHS, SIK:

To arrive at a decision — nmpuitHATH pilICHHS

To catch hold of — BxormuTucs 3a

To do away with — nmokinuutu 3

To find fault with — 3BunyBauyBaTu y

To lose sight of — BTpauatu 3 moss 30py

To make a contribution to — pooutu BHECOK

To make application — BukopucToByBaTn

To make mention of — 3ragyBaru npo

To make use/application of — BixuBaTH, 3aCTOCOBYBaTH

To pay attention to — 3Bepraru yBary Ha

To put an end to — mOKIHYNTH 3; MMOKJIACTU Kpaid

To take advantage of — ckopucrarucs

To take care of — mikmyBaTucs mpo

To take hold of — BxormTucs 3a

To take notice of — 3Bepraru yBary Ha

L1i criomy4eHHsI TEX 4acTO BXKMBAIOTHCS B MacuBHiN dhopmi. Hanpuxma:

This state of things must be put an end to.

Taxomy cmany peueil nompibHO NOKIACMU KPAU.

Skio npu nepekiaAl Ha aHTIIAChKY MOBY (Ppa3eosoriyHuX CIOJYyYEHb ICHYE
HEOOX1THICTh 3BEpHYTH yBary Ha camy Jit0, IMEHHUK BUHOCUTBHCS Ha MEPIIMM TIJIaH 1
CTa€ MiMETOM, a JIECIOBO npuiimae Gopmy nmacuBHOro crany. Hanpukmna:
Mention is made of an improved version of this method.
3eadyemucs nokpaweHull 8apianm ybo20 Memooy.

Care should be taken of elderly people.

Cnio niknysamucs npo aimHix a00ell.

6. 3amicTh momoMiXKHOTO jiecioBa be B Ckiafi MPUCYIKIB, BHUPaXKCHUX

aiecmoBamu y popmi Passsive, MoxkyTh BxkMBaTHCA JieciioBa get i become.
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Y TeKCTi 3yCTpiYaroThCs TPU PI3HOBWAM MacUBHOro crany: be + V3  (Past
Participle) — koncrararis nii, crany; become + V3 (Past Participle) — ctanoBnenus
nii; get + V3 (Past Participle) — mepexin y HoBwmii ctaH; jomortucs aii. Hampukma:

These difficulties are overcome by the use of up-to-date devices.

Li mpyonowi donaromscs 3a804KU GUKOPUCMAHHIO CYYACHUX NPUNAOIs.

He became engaged in this work in 1970.

Bin nouas 3atimamucs yieto po6omoro 6 1970.

Since the initial state is null, only this part of the system gets excited.

OcKinbKu noyamro8ull cmau OOPIGHIOE HYNI0, MIIbKU Y YACMUHA CUCTNeMU

NOPYULYEMBCS (MPUXOOUMb 8 30Y0XHCeHULl CMAH).

EXERCISE 1. Translate the sentences into Ukrainian.

1. The meeting will be attended by representatives of different organizations. 2. What
Is watched or waited for seems too long in coming. 3. His warning was not taken
notice of. 4. This theory must not be lost sight of. 5. Visitors were shown the way to
the exhibition. 6. The experiment was followed by measuring temperature. 7. This
discovery will be referred to by our experts. 8. The results of our work have been
unaffected by the environmental conditions. 9. Methods employed in solving a
problem are strongly influenced by the research objective. 10. His first book was
shortly followed by another. 11. This agreement was arrived at three years ago. 12.
This research is hardly to be dealt with. 13. These compounds will be dealt with in
another chapter. 14. Our question has not been answered yet. 15. This situation can
be approached from different points of view. 16. Automation is often referred to as a
new subject and its various aspects have not yet all been paid adequate attention to.
17. Mention should be made of the ways to sort out the problems which occured
during the experiment. 18. No notice was taken of the fact that our approach was not
a new one. 19. These impolite manners should be put an end to. 20. Every time when
something goes wrong during experiments, our laboratory assistant is found fault

with.
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EXERCISE 2. Put the verbs in brackets into the correct tenses.

1. The doctor must (send for) immediately. 2. The patient (operate on) tomorrow. 3.
Never say that in public. You (laugh at) by everybody. 4. This novel seems to be a
good one. It (speak about) muck. 5. The man cannot (rely on). 6. The new safety rules
(insist on) by our engineers. 7. This news must (account for) by the journalist. 8.
Your article (refer to) in the journal last month. 9. When we arrived, the song (listen
to) by all children. 10. That discovery never (hear of). 11. The guys must (take good
care of) in this camp as their guides are all experienced people. 12. Great contribution
(make) to the development of this science since 1999. 13. The decision (arrive at) as
soon as we get the answer from the British delegation. 14. His late arrival not (to
account for) yet. 15. No application (make) of the computers bought for our lab. 16.
The drawbacks which prevented us from reaching high standards of education last
year, must (do away with) this year. 17. When we entered the classroom, Professor
Smith (listen to) by all members of our group. 18. I'm afraid that these novel views
(object to) by everybody until you explain properly the facts that will let us succeed
in the work. 19. The choice of treatment can (influence) by the methods which have
been suggested recently by Dr.N. 20. If their theories not (lose sight of), the

researchers could have achieved tremendous success in this field long ago.

EXERCISE 3. Turn the following sentences into the Passive Voice.

Model: Our colleagues have made some experiments recently. — Some experiments
have been made by our colleagues recently.

1. Researchers made use of readily available acrylic fibers. 2. This unit can serve the
needs of a few people. 3. Popov invented the radio. 4. The students listened to the
professor with great attention. 5. We cannot fix any telephone lines in these districts.
6. Scientists are looking for inexpensive ways to solve the problem. 7. The firm will
sell this equipment to various research institutions all over the world. 8. Our
observatory had picked up another gravitational wave signal before other scientists
began to discuss it. 9. They will tell the guest about their studies as soon as he arrives.

10. We took into account the information which we had obtained before. 11. They
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can increase the power of the laser light traveling through the interferometer arms
from the current of 200 kilowatts to a projected 3 megawatts. 12. Our teachers insist
on careful consideration of this issue.13. The government should take care of the
need to finance domestic research. 14. They were developing those methods when
you joined their team.15. They had to demonstrate the results of their studies at the
meeting which we held last week. 16. As a rule our colleagues refer to the facts
which they can verify. 17. Thanks to a new method, you can now implement the
approach that relies less on rigid rules and more on probabilities. 18. Students must
take into account a number of ways to simulate the process. 19. Basing on new data
we will improve the system. 20. The researcher will show us the methods used for

preventing this kind of attacks.

EXERCISE 4. Put questions to the underlined words.

1. The doctor was sent for in the morning. 2. Your ideas will be spoken about at the

conference. 3. Mary will be given the invitation to the university. 4. This laboratory

was founded by a well-known scientist. 5. They can be granted the scholarship by the

city authorities. 6. The device will be mounted on the desk in our lab. 7. The

customers have been offered significant discounts. 8. More accurate information is

needed to begin the work on the project. 9. These disorders must not be treated with

the outdated methods. 10. A new therapy is being developed by our researchers now.

11. The case has just been described in this journal.

EXERCISE 5. Put the verb in brackets into its correct form.

Substances (consist of) small parts, or particles, which (know) as molecules.
Molecules (compose of) atoms. Some substances, like salt and water for example,
(have) molecules which (can, analyse) further into other substances. If a molecule of
water (analyse), for example, it (find, consist of) two atoms of hydrogen and one
atom of oxygen. Substances whose molecules (compose of) atoms of other
substances (know) as compounds. Other substances (have) molecules which (can,

break down) into atoms of other substances, and these (call) elements. Hydrogen and

50



oxygen, for example (be) elements. Thus if a molecule of oxygen (analyse) it (find,
consist of) only atoms of oxygen and not of any other substance. There (be) 92
natural elements. Some (be) metallic solids like copper, iron and lead; some (be) non-
metallic solids like sulphur and carbon; and some (be) gases like oxygen, hydrogen

and nitrogen.

EXERCISE 6. Read the text. Use the required tense forms and voices.
Translate the sentences into Ukrainian.

Some engineering problems (to take) longer to solve than others. Toshikatsu

Kuwahata, an engineer at the audio factory of JVC (to be) no stranger to such lengthy
struggles. He (to wrestle) for more than 20 years with his own personal challenge —
making a speaker cone that could (to manufacture) in quantity out of wood. When he
(to try) to form the cone out of wood, even thin sheets of wood, it (to crack).
One day, his colleague Satoshi Imamura, (to dine) at one of his favorite restaurants.
He (to contemplate) the texture and malleability of the dried squid he (to chew). He
asked the waiter how it (to prepare), and the waiter (to explain) that the squid (to
soak) in sake.

They (to try) soaking the speaker wood in sake. It (to work)! (They also (to
try) whiskey; it didn’t. Imamura isn’t sure why, but he (to theorize) that there (to be)
something unique about the acids in sake, which simply (to ferment), as opposed to
those in whiskey, which (to distil) after fermentation.)

The sake (to make) the wood sheets malleable but — crucially — without

affecting their strength.

EXERCISE 6. Complete the text with the verbs given below. Put them into the
correct tenses and forms.

Give, tell, teach, offer, promise, show, pay, send, grant.

I’ll never forget my first day at that office. I 1 to arrive at 8.30, but when | got
there the whole place seemed to be empty. I didn’t know what to do because I __ 2

no information about the building or where | was going to work, so | just waited
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around until some of the secretaries began to turn up. Finally I _ 3 a dirty little
office on the fifth floor, where I __ 4  a desk in a corner. Nothing happened for an
hour, then I _ 5 some letters to write on a computer by one of the senior
secretaries. This wasn’t very successful, because I 6 how to write letters. (In the
letter I 7  when | 8 the job, I _ 9 the proper training, but they had
obviously forgotten about this). By lunchtime things hadn’t got any better, and |
decided that I _ 10 enough to put up with this nonsense, so I walked out and didn’t

go back.

EXERCISE 7. Translate the sentences into English using Passive Voice.

1. Ik MOoXHA TOSICHUTHU 1€ siBulle? 2. BamoMy eKCrepuMEeHTy NPUAUIHIN BEIUKY
yBary. 3. IIpo crapux mromeit moOpe mikIyrOThcs y ik kpaini. 4. Ha ¥oro
iHdopMalliro He ciif nmokiaaaTucsa. 5. Komu mu 3aiiiuii 10 ayauTopii, CTyJIeHTam
PO3MOBIaH PO BaXKJIUBI BIAKpUTTS. 6. Ha Bac yekanu Bai criiBpoOITHUKK BUOpa 3
8 10 9 panky. 7. IIpo ui gocsarneHHs me He uyan. 8. Moro Bix’i3[ HiXTO He MOMITHUB.
9. HoBi npunaan 4acTo BUKOPUCTOBYIOTHCS B YHIBEPCUTETChKHX JabopaTtopiax. 10.
Panoro yHiBepcutery Oyino MpUIHATO PIlICHHS MOOYIyBaTH HOBUM T'YPTOXHUTOK. 11.
3 TakUMHU HEJOJIKaMHU y BUPOOHUITBI CiiJ MOKiHUMTU. 12. J[o HaAmmMx TypHUCTIB
IOWHO mpueaHanucs Typuctu 3 Himeuunnu. 13. o ctarTio Tpe6a oOroBopuTH Ha
HacTynHik Hapami. 14. Ili Tectu cmig 3pobutu sxomora ckopime. 15. Bamri
pe3ynbTaTH He ciiJ MyOJiKyBaTH, IOKM BU iX peTesbHO He mepesipute. 16. 3apa3 y
CYC1JIHIH J1abopaTopii TOBOPSITH PO HOBI CpoOM CTBOPUTH BiuHMU JIBUryH. 17. Ha
Ballll NMUTaHHSA IWIOMHO BignoBumM Ham ¢axiBui. 18. Ilporm #oro mnponozuuii
IHBECTYBATH KOIUTH y TaKUM CKIAAHUNA MPOEKT BUCIOBIOBanuCS Hamii (izuku. 19.
[Ipo wro HikaBy rirnoTe3y 3aBXkIH 3raayloTh, KOJIM OOrOBOPIOIOTH ONTHUYHI siBUILA. 20.

Ha »xaunp, mpo Taki MeTou 60poThOH 3 ITiEF0 XBOPOOOIO 111€ HE Yy B HAIIIIHM KpaiHi.
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Y3I'OOKEHHSA YACIB. HEIIPSAMA MOBA

B ykpaiHCcbKOMY HIAPSIHOMY JOJAaTKOBOMY PEUYEHHI  JIECIOBO-TIPUCYIOK
BXKUBAETHCSI Yy TENEPIIIHBOMY, MHUHYJIOMY ab0 Mail0yTHbOMY daci, 3aJeKHO BiJ
KOHTEKCTY. B aHIiChKIA MOBI 1I€ B1IOYBA€THCS TUIBKM KOJIM MPUCYAOK F'OJIOBHOI'O
pedeHHst Mae (popMy TeepintHLOro a0 MakOyTHHOTO Yacy.

| believe that experiments will bring us new information.

The scientists realize that they have made a serious mistake.

He will demonstrate us that his approach is promising for further studies.

SIKIo0 TMPHUCYNOK TOJIOBHOTO pEYeHHS Mae (GopMy MHUHYJIOro dacy, TO B

HIAPSIAHOMY 10AaTKOBOMY PE€UYEHH1 BIIOYBAETHCS y3TOPKEHHS YaciB.

Tonosne peuennus 1liopsoue peuenns

PRESENT - BYIb-SIKHUH YAC 3AJIEXXHO BIJ] 3SMICTY

PAST - Present Simple sminwoemocs na  Past Simple
Present Continuous > Past Continuous
Present Perfect > Past Perfect
Past Simple >  Past Perfect

Present Perfect Continuous > Past Perfect Continuous

Harmpuxnan:

| was sure that he knew about our research.

We entered the lab and saw that our colleagues were discussing something.

They told Nick that Professor Brown had left the country.

Jane told us that she had been studying those phenomena for five years.

Jnst toro, moO BHpPa3sUTH MAHOYTHIO M0 Yy MIAPSAHOMY JOJaTKOBOMY
peUeHHi, JiecI0BO-TIpUCYIOK Mae Gpopmy Future-in-the-Past.

We did not expect that they would come back.

The inventor knew that his work would be a success.

David thought that the visitors would be staying in the city.

She said that they would have done everything by that time.
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[IpaBuiia y3rojpkKe€HHS 4YaciB HE 3aCTOCOBYIOThCS, SKIIO Y MIAPSTHOMY
JI0JIATKOBOMY PEUEHHI1 MAEThCS MPO 3arajJbHOBIIOMI (PaKTH.
The students knew that metals conduct electric current.
The children did not know that the Earth moves round the sun.
The Past Simple Mmosxe He 3MiIHIOBATHCH, SKIIIO € TaKi MOCWJIAHHS HA MUHYIIE, SK:
In 2000 Professor said that he began to work in this field in 2000.
3yearsago She thought that he carried out those experiments 3 years ago.

yesterday We knew that Peter came yesterday.

[TpaBuiio y3ropkeHHs 4aciB 3aCTOCOBY€EThCS NIPU TpaHcopmallli peyeHHs 13
IpsAMOI MOBU y HenpsAaMy. Hanpuknan:

b

“Igotup late.” > Greg said he needed a new car.

“I've already done the task.” > He said that he had already done the task.

“I gotup late.” > She said that she (had) got up late.

“ I'was working at ten o’clock.” > He said that he was working/ had been working at
ten o ’clock.

“I'll call you tomorrow.” > He said that he would call me the following day.

B aHrmiiicekiii MOBI peuYeHHs, III0 BHUCJOBIIOIOTH OOILUSHKHA, YrOAH,
3aMOBJICHHS, TIOpaJy Ta MPOMO3UIlli, NEPEBOJIATHCS 13 MPSIMOI MOBU y HENpPSMY 3a
nornomororo iH¢iHITUBY. Hanpukian:

“ I shall sign the agreement. ~ > He promised to sign the agreement
“Finish you work intime. > She asked to finish our work in time.

[Ipu nepeBeneni cneuianbHux nutadb (what, where, why, Tomo) 13 npsamoi
MOBH Yy HENpSMY MHTabHI CIIOBAa 30€piraroThCsi, MPU [bOMY TMOPSIOK CIIB Yy
HIAPSITHOMY PEYEHH1 3MIHIOETHCS; PEUYECHHSI MEPETBOPIOTHCA Ha CTBEP/KYBAJIbHI.
[HOM1 3MiHU TOTPEOYIOTH 1 BIAMOBIAHI 3aliMeHHUKH. Hanpukian:

“When did_you come ?” > She asked when | had come.
3arayibHi MUTaHHSA BBOSTHCS Y HENpsIMy MOBY crioiydnukamu If abo whether

1 MCPCKIATat0OThCA YKpa‘l‘HCI)KOI-O CIIOTYYHHKOM YMH, SIKHM CTaBUTHCS nmepca

3MICTOBUM JiieciioBoM. Hampukman:
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“Will they be ready in time?” > She asked if they would be ready in time.

Bona 3anumana, uu 6y0yms 60HU 84ACHO.

EXERCISE 1. State whether the action of the object clause precedes (P), follows
(F) or is simultaneous (S) with the action of the principal clause in the following
sentences. Translate the sentences into Ukrainian.

1. He asked me what work | was doing and whether | intended to go to university. 2.
She claimed that she had met Brian on her way home. 3. | knew that my mother
would be against this decision. 4. She said that she would be staying in town the next
day to do some shopping. 5. | forgot what he looked like. 6. In the hotel the
receptionist informed us that the American had been staying there for three weeks. 7.
It was also said that they had developed an up-to-date technique. 8. They were
interested to know if the test had shown anything new. 9. They were sure that the
letter would attract other scientists’ attention. 10. She confessed that she could not
understand what had caused the accident. 11. Everybody thought that the couple had
lived in happiness for nearly ten years. 12. Ann said that she had recovered and added

that she was going to join us the following week.

EXERCISE 2. Put the verbs in brackets into the correct tenses and forms.
Explain your choice.

1. Dick scarcely realized what (to happen). 2. She saw that he (to try) to tell her how
lonely he (to be) the previous month. 3. She asked if the guy (to tell) his fellow-
students about his suspicions. 4. They promised that they never (to do) anything like
that in future. 5. | was surprised that you (not to tell) them the story before. 6. They
assured us that they (to take part) in the conference next time. 7. We heard that you
(to be) free and decided that you (to be able to) to help us. 8. I didn’t know that your
friends (to go) on holiday without you. 9. We believed that you (to read) in the
journal that the experiment already (to prove) our hypothesis. 10. Robert said that his

wife still (to be) in hospital and he (to visit) her in the evening. 11. We hoped that
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Sam (to succeed) in buying that equipment at last. 12. Jerald asked whether they (to

be) experienced enough for the expedition.

EXERCISE 3. Rewrite these questions as reported speech.

Model: He asked her, ‘What are you doing? * He asked her what she was doing.
1. What will you do there?

When do you think you’ll get there?

Why have you decided to do that?

When did you decide?

Can you change your mind?

Have you got everything you will need?

When’s the new manager coming?

How does she know my name?

© 0 N o a B~ w N

What time is the meeting?

10.When does the last train leave?

11.1s service included or not?

12.Are you going to take part in this project?

13.Have you done the work?

EXERCISE 4. Change the sentences as shown.
Model: 1 won'’t tell anybody. (He promised)

He promised not to tell anybody.

I’1ll be ready in time. (He promised)

Leave early. ( She advised me)

Please, don’t smoke here. (She asked me)
We’ll pay for tickets. (We offered)

Why don’t I go shopping? (He offered)
You ought to tell the police. (She advised me)
Wait outside. (I told her)

OK, I’'ll pay half. (He agreed)

© N o a0 kB 0D E
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9. Park round the corner. (She told me)

10. Finsh your presentation. (She asked me)

EXERCISE 5. Translate into English.

1. Mu He 4ynu, 110 BU BK€ BIAPEMOHTYBAIM 11 npuiaau. 2. Bin 3auByBaBcs, 1110
BH BCE I IPAIIOETe HAJ CBOEIO CTAaTTer0. 3. AHA cmomiBayiacs, 1Mo il apysi
OTPUMAIOTh JIUCTAa BYAacHO. 4. Sl He 3HAB, YW MOTOJWINCH HAIlll KOJETH Ha IIe
iHTEepB’10. 5. Bin He OyB BIEBHEHM, 110 BIAKIIOUYMB oOjagHaHHs. 6. S cromiBaBcs,
10 KYPHAIICTH HE 3alHUTAOTh HAC MPO MPUYUHU MOXKexi. 7. BiH BBaxaB, 10 MU
Oynemo mpairoBatu pazom. 8. IIpodecop kazas, 110 Bi3bMe y4acTh y JOCTIIHKEHHSX.
9. ToM He 4yB, UM OTPUMAIM MIJAPYYHUKH 1HIII cTyneHTU. 10. S BianmoBiB iM, 110

0auyuB LIIO BUCTABY.

EXERCISE 6. Match the speakers and the quotations. Report what they said.

What were these people?

Stravinsky Louis Pasteur Galileo Galilei
Elvis Presley Alfred Hitchcock Steve Jobs
Walt Disney Macchiavelli Albert Einstein
Dmitri Mendeleev Hippocrates Isaac Asimov

b

1. “I love Mickey Mouse more than any woman I've ever known.’

b

2. “Television has brought murder back into the home, where it belongs.’

3. “It is the function of science to discover the existence of a general reign of
order in nature and to find the causes governing this order.”

4. “I was very lucky. The people were looking for something different and | came
along just in time. ”

5. “There are in fact two things, science and opinion; the former begets
knowledge, the latter ignorance.”

6. “My music is best understood by children and animals.”

7. “The end justifies the means.”
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8. “Stay hungry. Stay foolish.”

9. “Only two things are infinite, the universe and human stupidity, and I'm not
sure about the former.”

10. “Science knows no country, because knowledge belongs to humanity, and is
the torch which illuminates the world.”

11. “The saddest aspect of life right now is that science gathers knowledge faster

b

than society gathers wisdom.’

b

12.“And yet it moves.’

(The key to this exercsise is on p. 62)

MOJAJIBHI JIECJOBA TA iX EKBIBAJIEHTU

MopanbHl Ji€cioBa BUPAXKarOTh BIIHOIIEHHS IO Jii, HE BXXUBAIOTHCS
CaMOCTIMHO (KpIM KOPOTKHX BIJIOBIJEH) 1 TUIBKA B TMOETHAHHI 3 MI€CTOBOM. Y
SIKOCT1 MOJQJIBHUX BXKUBAIOTHCSI HACTYITHI J1€CIIOBA:

niecmoBo can (could — y munysnomy gaci) — «Mortu» ((i3HdHa MOXKIIUBICTH
3miicHeHHs 1ii) Mae ekBiBajicHT to be able to (able — 3gaTHwmif);

aiecioBo may (might — y wmwuHymomy daci) «MOrtu» (JI03BOJICHO, €
MOJKJIMBICTB 1IOCH 3po0uTH) Mae exBiBasieHT t0 be allowed to (allow — no3BonuTH);

niecaioBo Must (He Mae GopMH MHUHYJIOTO 4acy) — «IOBHHEH» (MOTPiOHO,
MOBHHHO OYTH 1I0Ch 3p00JieH0) Mae JBa ekBiBasieHTH: 10 be 1o i to have to; to be to -
«ITOBUHEHY 3a IMONEePEIHHOI0 JOMOBJICHICTIO 200 3a monepeaHiM mianoM; to have to
«TTOBUHEH» B CHJTy TIEBHUX OOCTaBUH;

niecmoBa should/ought to — cmig Oyno ©, moBHHEH, clijfi (BUCIIOBJIIOIOTH
nopajy abo MopaibHUI 000B’S30K);

miecioBo need (dacTiimie BXXMBAE€TbCS B HEraTWBHIA (opMi B 3HAYeHHI
B1JICYTHOCTI HEOOX1THOCTI);

niecioBo shall (Bupakae «Oe33anepeuny» MOBUHHICTS);

Hiecnosa will/would (BHCITIOBITIOIOTE MOKIIMBICTD, OaXKaHHSI, HAIIOJISATAHHS).
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We can readily notice the difference between these properties.

Mu mooicemo necko nomimumu pisHUYIO MIidiC YuMu 61aCMu6oCmamu.

We shall be able to improve the results.

Mu 3moicemo noninwumu pe3yromamu.

The task may be performed in our lab.

L]e 3a60annsa mooicna sukonamu 8 Hawlil 1a60pamopii.

We were allowed to perform the task.

Ham oozeonunu suxonamu ye 3a80anms.

We must work hard to get enough information.

Mu nosunni 6aecamo npayrosamu, wob ompumamu 00CmMamHbo iHpopmayii.

| was to take part in the conference.

A nosunen 6ye 63amu yuacms 8 KOHgepeHyii.

We had to learn by heart a number of mathematical terms.

Ham ooeenocs eusuumu na nam’samo pso mamemamuyHux mepminie.

We need not do it.

Ham ne nompiono pooumu ye (nemae neobxionocmi).

This problem ought to be discussed.

L1 npobnemy cnio 6yno ob6ecoeopumu.

The book shall, however, be mentioned in our paper.

Oonaxk (0606'13K060) Y KHU2a NOGUHHA OYMU 32A0AHA 8 HAWIL CIAMMI.

| will say a few words to support this theory.

A xouy cxazamu Kinovka ciis, wob niompumamu yro meopiro.

| would pay more attention to this problem.

Meni xominocs 6 npudinumu Oinvwe ysacu yit npoosemi.

VY HaykoBiif JiTeparypi aiecioBo Should naiivacriiie BXXHBA€TbCS B 3HAYCHHI
«IIOBUHEHY.

This phenomenon should be described in detail.

L]e ssuwe mae 6ymu 0OKIAOHO ONUCAHO.

HiecmoBa  will/would MoxyTh BXHMBaTHCI B  3HAYEHHI 3BHYHOCTI,

MOBTOPIOBAHOCTI il B TEMEpIillIHBOMY, MHHYJIOMY 1 MaiiOyTrHhoMy dyaci, Will
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MIAKPECITIOE «HAIOJIETIIUBICTBY JIii, a WOUld — HOro MeHIIy peryJisipHiCThb.

Y mepekiaai MOKHAa BHKOPHCTOBYBATH CJOBO <«BBHUYAMHO», a CMHCIIOBE
JI€CIIOBO MEPEKIIAIA€ThCA BIAMOBIIHO 10 KOHTEKCTY.

The rise of the temperature will not affect the accuracy of our data.

lliosuwennss memnepamypu (3a36uuaii) He 6NAUBAE HA MOYHICMb HAWUX
OaHUX.

Under such conditions we would not get this substance.

3a makux ymo8 Mu 36U4aiiHO He OMPUMYEMO Y10 PEUOBUHY.

[HOMI MOMaIIBbHI Al€ECTIOBAa BUKOPUCTOBYIOTHCS ISl BUPAKCHHS HMOBIPHOCTI Jii,
HaIMPUKIAA;

There must be an answer to the question.

Tosunna 6ymu (icnye) 6i0nosiov na ye numamHs.

ko 3a MOJANbHUM [IECIOBOM 171e 1H(MIHITUB y nepdexTHid dopmi, To Le
MoOJaJIbHE J1€CIOBO BHUpa)Ka€ MPUMYIIEHHS, BIPOTIAHICTh TOr0, IO SIKACh i BXKE
BimOynacsa. B 1pomy Bumaaky B TEepeKkiail BXKUBAIOTHCS CJIOBA «Ma€ OyTH»,
«MOXKJTHBOY, «MMOBIPHO», 2 CMUCJIOBE JIIECIIOBO CTaBUTHCS B MUHYJIOMY 4Yaci (1HOI1
31 CIIOBOM «BXKE»).

Some mistakes must have been corrected in that work.

Hmosipno, desxi nonmunxu 6ynu eunpaeieni 6 miii po6omi.

Could/might + Perfect Infinitive BuciioBitoe ayxe HEBEIUKY BIICBHEHICTH B
3a1MCHEHH] i

This thing could have belonged to the XI-th century.

Mooicnuso, ys piv nanescana 0o XI-eo cmonimmsi.

Ought/should/need + Perfect Infinitive mokasyroTs, mo is, ska NOBHHHA
Oyna BinOyTHCS B MUHYJIOMY, HE BinOymacs:

You should have informed us a year ago.

Bam nompiono 6yno nosioomumu nac pik momy.

This experiment need not have been repeated.

L]eti excnepumenm ne nompiono 6yno nosmoprosamu. (Ane 1io2o nogmopuiu,).
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EXERCISE 1. Translate the sentences into Ukrainian.

1. Within this time the maximum change in conductivity was to be observed. 2. The
details of this experiment should be specified in this paper. 3. They didn’t have to
hurry, they had a week at their disposal. 4. These interconnections need not be
reexamined. 5. This book is to be published soon. 6. We will be able to obtain the
necessary data in a month. 7. A further possibility that should be taken into account is
that the ion-pairs in a given solution need not all be of the same type. 8. In this case
visual images are to be transmitted by electrical means. 9. The ideal would contain
things which have intrinsic value. 10. On the other hand, a hygroscopic material like
human hair or nylon, as it is used in many hygrometers will absorb more moisture at
58. 11. The requirement may have been met in the previous experiment. 12. Most
people must have already learned to operate this device. 13. Many reports on
scientific research include the discussion of how the research ought to have been
done in the light of the experience gained in having done it the first time. 14. The

description of our tests should have been more complete.

EXERCISE 2. Translate into English.

1. He moxe Oytu, mo00 BiH HE TMepeBipuB oTpuMany iHdopmaiiito. 2. Bona poours
Oarato opdorpadgiyHux MOMUJIOK, 1M ciif Ourbine yutaTd. 3. Meni He chig Oyio
NepeiaTi BYOpa, CbOrO/IHI 1 HE MOKY BUKOHYBATH HaBiTh JieTKl (13U4HI BIpaBHu. 4.
XBoporo Tpeba Oyio HeraitHo mokasaTu Jiikapro. 5. He Moxe OyTH, 1110 BU 4yJId IO
micHio! 6. SI He MIr 3rajaTu METOAH, SKI MM BHUKOPHUCTOBYBAJIM, 1 MEHI JOBEIOCS
CIIUTATH HAIIOT0 BUKIaAada. 7. MOXIMBO, BOHU 3aXOAWJIN 0 HAC, al€ MU i3AWIH Y
BIIpSJDKCHHSI, 1 BOHH HE 3MOTJIM PO3MIOBICTH HaM OCTaHHI mmoxii. 8. Bu Manu modaru
BUBUYEHHS LbBOr0 MaTepialy MUHyJoro Micaus. 9. JleBigy He JoBenocs Lie pas
TOTYBATHUCS JI0 TECTY, BiH 3MIT J100pe HamucatH oro Buopa. 10. Y TUTHHU MUTYHKOBI
posnanu, i chig gaT sKich giku. 11. Ha oMy THXHI MU MaeMO MPOBECTH HAYKOBY
KoH(pepeHIlio Ha HamoMy ¢akynasTeTi. 12. Bam Tpeba Oyne 3BepHyTHCS 10 daXiBIliB,
SKIO0 BH Oa)kaeTe 3aKiHYUTH peMOHT BYacHO. 13. TobGi He Tpeba HarajayBaTH MEHI

PO Hally 3ycTpiy, st Bce AoOpe nam’araw. 14. He tpeba Oyno Tomy KymyBaTH Take
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nopore o0JiaJiHaHHS, BOHO HE 3/1a€ThCsl AyXe HaaidHum. 15. Panime 4u mi3Hiimie
Homy noBeAeThCcs NMpUHATH pimieHHd. 16. He Tpeba Oymno poOuTu 11 BpaBu, MU
Ma€eMO po3MIsiIaTH Led matepian 3aBTpa. 17. CTyneHTH MOBHHHI YBaKHO CIIyXaTu
JIEKIIIF0, 3aBTpa MH 3MOXKEMO OOTOBOPUTH II0 TeMy Ha cemiHapi. 18. Bam
KoMM'toTep Tpeba HeraHO MOAKJIIOUUTH 1O KopropaTuBHOI Mepexi. 19. Ham He
JIOBEJIOCS 3alpOIITyBaTH MaicTpa A0 J1labopaTopii, OCKUIbKKH MalKit 3Mir po3iopatucs
3 npobniemoro. 20. Bona morna 6 1 He OAsTaTH TaKy TEIUy KYpPTKY, ChOTOJHI JTyKe

TEIUIO 1 CBITUTH COHIIE.

(The key to ex. 6 on p. 62)
1.Walt Disney 2. Alfred Hitchcock 3. Dmitri Mendeleev 4. Elvis Presley 5.
Hippocrates 6. Stravinsky 7. Macchiavelli 8. Steve Jobs 9. Albert Einstein 10. Louis

Pasteur 11. Isaac Asimov 12. Galileo Galilei

JIENNPUKMETHHUK

JlienpukMeTHUK € Heoco00BOIO (GopmMoro jiecioBa, BIH Ma€ O3HAKU
npuKMeTHHKa abo mpuciiBHUKa 1 giecioBa. Participle 1 (V+ing) i Participle 11 (V3),
MO3HAYAI0YU O3HAKH MpeMETa, BKa3yIOTh Ha Jir0 abo cTaH mpenMeTa (a moving car),
a He Ha HOoro SKICTh, K 11e poOUTh NpUKMETHUK (a good book).

®opMHu Ai€NPUKMETHUKA

Active Passive
Participle | planning being planned
Participle Il — planned
Perfect Participle having planned having been planned

Participle | BiamoBigae ykpaiHCbKOMY JI€MPUKMETHHUKY, 110 3aKIHIYETHCS Ha
—4yuii (YATAIOYMH, 3HAIOYMK), 1 JIENPUCITIBHUKY HEIOKOHAHOIO BHIYy Ha —YH

(mitaroum, mocrmimaroun). Participle | Moxxe BXoguTH 10 CKJIaay O3HAYaIbHOIO
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3BOpOTY micis 3aiimenHukiB that abo those (mis MHOXMHUM), MO0 3aMIHIOIOTH
iMmeHHUK. Y npomy Bunanaky Participle | ciin nepexnanaru:

a) AienmpuKMEeTHUKOM abo mienpuciiBaiKoM (that/those He mepeknanaroThes);

0) o3HAYAIBHKMM IMAPSAIHUM peueHHsM, A¢ that mepeknagaeTscs — motl, sxuil,
those — mi, sixi.

They were able to meet all engineers except those designing a new device.

Bonu manu moxcnusicmes 3ycmpimucs 3 ycima iHocenepamu, 3a UHAMKOM MUux,
SAKI NPOEKmMYomsb HO8UL Npuiad (abo npoexmysau).

Participle | mo3nauae airo, oqHOYACHY 3 II€I0 AIECTOBA-IPUCY/IKA.

[Mepen Participle | B pyHKIIii 00CTaBUHM MOXYTh CTOSATH CIIOJydHHKH When i
while.

Participle | 3 muMu cnojxyYHHKamMHu TEpEKIAAA€ThCS i€NPUCTIBHUKOBUM
3BOPOTOM 0€3 CIOJyIHHKA a00 MiAPSTHAM PEUEHHSM, 10 BBOAUTHCS CIIOTYIHUKAMHU
«KOMUY, «8 MOU YAC AKY.

While translating a difficult text students should consult a dictionary.

llepexnaoarouu easckuti mekcm, cmyOeHmu NOBUHHI ULYKamu ROMpIiOHI c108a
8 CJIOBHUKY (KOAU CIYOeHmU NepeKiaoarmos meKkcm ...).

MOoXITMBHI TaKOX TEpeKsia]] TAKOro 3BOPOTY 3a JOMOMOTO IMEHHMKA: [Ipu
nepexnadi 8aicK020 MeKcmy ...

Participle Il mepeknagaeTbest JIENPUCTIBHUKOM MTACUBHOTO CTaHY JIOKOHAHOT'O BUIY
(-eHui, -THit) 060 3a JTOMOMOTO0 MIAPSTHOIO PEUCHHS.

The device invented in our laboratory is reliable.

Ilpunao, sunauioenuil 6 Hawii 1abopamopii, € HAOIUHUM.

Devices invented in our laboratory every year are reliable.

Ilpunaou, wo sunaxoosamse 6 Hawit 1a60PamMopii WOpPoKy, € HAOIUHUMU.

Participle Il y ¢yHkmii o3HadeHHs, M0 CTOITh MICJII O3HAYYBaHOT'O CIIOBA,
CJIJI CTaBUTH Tepe] O3HAYYBAaHUM CIIOBOM Yy TIEepeKiaZi Ha YKpaiHChbKY MOBY,
HaATIPUKIIAI;

All the phenomena mentioned were consequences of one and the same law.

Bci 3eadani ssuwa 6ynu naciiokamu 00H020 i M020 JHC 3A4KOH).

63



Y pom o6crapunm Participle Il moxe BBomuTHCs croidyunukamu When
(xkomm), If (sxmro), as (gx), though (xoua), unless (sxmro ... He), until (mokwu ... He),
once (pa3 yxe, K TUIbKH) 1 T.JI.

VY pomni obcrapuru Participle |l mepeknamaeTbcst Mi€CIIOBOM-TIPUCYIKOM Y
NacCMBHOMY CTaHl, HI0 CTOITh Yy MIAPSAHOMY pEYEHi, IO BHUKOHYE (YHKIIIIO
00CTaBUHHU, HAIPUKIIA:

When writte, the article was handed to the editor.

Konu cmamms 6yna nanucana, éona byna eiooana peoakmopy.

If applied, this rule will help us to solve the problem.

Axwo ye npasuno 6yoe 3acmoco8aHo, BOHO OONOMONCE HAM BUPIUUMU UYIO
3a0auy.

Koncrpykiii 3 hopMaibHUM migMeToM it mepekiaaroTbess HACTYITHUM YHHOM:

as it was mentioned — six 32adysanocs

as it is desired — saxwo baxcano

unless it is stated — sixkwo ne 32adyembcs

VY Takux KOHCTPYKI[iSIX CJIOBA It IS MOKYTh OIMyCKATHCA.

AOCOIIOTHMI AIENPUKMETHUKOBHUI 3BOPOT
AOcomoTHH  (HE3aJeKHUH)  NIENPUKMETHUKOBHM  3BOPOT  3a3BUYail
BUJIUIAETHCS KOMaMHU; BIH MICTHTh CJIOBO, IO IMO3HA4Yae oco0y abo MpeaMer, siKe
BUKOHYEe  (yHKIIIO mmiaMera. Y  QyHKII  J1I€CIOBa-TIPUCYJIKA  BUCTYIAE
TENpUKMETHUK. Takuii 3BOPOT TEPEKIAMAETHCS  MIAPAAHUM  pPEYCHHSIM, a
TIEMPUKMETHUK — TPHUCYAKOM IIhOTO peueHHs. Yac Tpucyaka BU3HAYAETHCA 3a
dbopMor0 TIEMPUKMETHUKA. PEeUeHHS 3 AIEMPUKMETHUKOBUMH 3BOPOTAMU OYIyIOTHCS

3a JBOMa CXEMaMMH.

1. IlinpsaaHe peyeHHs! : I'onioBHE peyeHHs
Iliomem + Oienpuxmemmux
AOcomoTHHM (He3aIeKHUN) T1EMPUKMETHUKOBUT

3BOPOT IICPCKIAAAECTHCA 3a JOIIOMOI'OXO Hi,Z[pH,IIHI/IX
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CHOHy‘IHI/IKiB THUITY KOCKIJIbKUY, «KOJIUY, KAKUL0Y, «X0Uay,

«NICISL MO20 AK)» TOLIO.

Hanpuxknan:

The temperature of a substance being raised, the movement of its molecules is
speeded up.

Konu  memnepamypa  pewosunu  niosuwyemocs, pyx il = MOAeKyl
NPUCKOPIOENTBCAL.

The key having been lost, they could not enter the house.

Ockinbku Koy 6y6 empadenuil, 60HU He MO2IU Y8IUmu 6 OYOUHOK.

All this having been settled, he went home.

Llicna moeo sk 6ce ye 06Y10 3a1a200H#CeHO, MU RIULTU O0OOMY.

2. 'osloBHE pevyeHHsI , Higpsaane peyenus
niomem + oicnpukmemuux aOCOIIOTHUMN (HE3aICKHUI)
TEMPUKMETHUKOBHM 3BOPOT TIEPEKIATAETHCS 32

JIOTIOMOTOF0 CYPSIAHUX CIIOJYYHUKIB TUITY «ay, «1»,

«pudoMy» abo 6e3 CoTyIHHKA.

Hanpuxmnan:

At last, the excitement died down, the captain having assured the passengers,
that there was no longer the slightest danger.

Hapewmi, 36y0ocenns cmuxno, a xaniman 3anesHus nacaj;cupis, wjo Oiivbuie
HeMae HcoOHOI Hebe3nexu.

AOCONIOTHUI 1€ENPUKMETHUKOBUN 3BOPOT MOKE BBOAMUTHCS MPUIMEHHHUKOM
with, sxuii He mepekiamaeThess. Koma B IbOMY BHITaIKY 1HOI BiZICYTHSI.

With the temperature falling rapidly and the wind getting stronger, we were
not able to carry on our investigations.

Tax ax memnepamypa weuoxko nadaia i @imep cmasas CUTbHIWUM, MU He 8

3M031 OYIU NPOBOOUMU HAULTL OOCATIOHNCEHHL.
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EXERCISE 1. Translate into Ukrainian.

1. The letter received will be discussed later. 2. The wounded soldier must be
examined by a surgeon. 3. While being examined, the boy couldn’t help crying. 4.
Having measured the parameters, the scientists decided to stop the experiment. 5.
While using this knife, you should be careful not to cut yourself. 6. Being seriously
i, he did not stop his research. 7. The tree struck by lightning was leafless and black.
8. The room facing the garden is rather comfortable for our work. 9. Having arrived
earlier, we were able to see the sites. 10. | was too excited to eat.11. She had her
kitchen painted last week. 12. He likes to have his hair cut every month. 13. He left
us saying he would be back in two hours. 14. Having been rejected by the publisher,
the story was returned to the writer. 15. The book written in an archaic language was
difficult to read.

EXERCISE 2. Open the brackets, use the appropriate forms of the Participle.

1. (to write) his first novel, he worked endless hours till dawn. 2. ( to spend) so
many years in a foreign country, he was eager to be coming home. 3. (to wait) in the
reception room, he was thinking of what he would say. 4. (to leave) a note with a
secretary, she promised to come back in the evening. 5. (to be) away from home, he
still felt himself part of the family. 6. The people (to wait) for you look very angry. 7.
The man (to stand) at the corner of the street was our lecturer last year. 8. The

magazine (to send) yesterday, turned out to be amusing.

EXERCISE 3. Join the two sentences, using the Participle and making the
necessary changes in the word order.
Model: 1.The world disappointed him. He became a monk.

Having been disappointed by the world, he became a monk.

2. She was exhausted by her studies. She quickly fell asleep.

Being exhausted by her studies, she quickly fell asleep.

1. She realized that she had missed the last bus. She began to walk. 2. I didn’t want to

hear his explanations. | had heard them before. 3. The pirates found the treasure.
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They started fighting. 4. He got on the train. He helped an elderly lady. 5. We visited
the museum. We wanted to share impressions with other visitors. 6. He showed us the
way to the park. He was afraid we’d got lost. 7. I didn’t agree to sit down. I thought
that the grass was wet. 8. | entered the room. | saw a broken window at once. 9.
David had to give up his idea of buying a country cottage. He was not able to borrow
money from a bank. 10. He fed his pets. Then he began to cook dinner for his family.
11. They announced the results. They invited us to celebrate our victory. 12. He was

very angry when his car broke down. He had had it serviced only a week before.

EXERCISE 4. Translate into Ukrainian. Mind the Participle.

1. The goods produced by the factory are in great demand. 2. While examining the
animal he noticed that its leg was broken. 3. He asked us to go on with our
experiment, promising not to interrupt us again. 4. Having finished the research the
scientist made a thorough analysis of the collected data. 5. The figures mentioned in
their report were published in a newspaper. 6. The answer received from your
company greatly surprised us. 7. The techniques applied must be discussed once
more. 8. The substance heated changed its properties. 9. Unless discussed, this
method must not be used. 10. When offered to take part in a conference, he began to
collect the data of his experiments. 11. The problems being discussed are of great
importance for our work. 12. The house being built in this street will soon be ready.
13. That lesson, once learned, was never forgotten. 14. It was a standpoint shared by

many scientists. 15. Having been defeated, the enemy was obliged to retreat.

EXERCISE 5. Translate into Ukrainian, use the Nominative Absolute
Participial Construction.

1. The weather being fine, all the windows were opened. 2. The weight of all the
molecules of a substance being the same, the molecules are considered to be
composed of exactly the same number and the same kind of atoms. 3. All gases and
liquids expand when heated, their density being at the same time reduced. 4. The

experiment having been made, everybody was interested in the results. 5. Other
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theories having so far proved inadequate, dynamo theories of solar fields are regarded
as the most promising. 6. The difficulties having been overcome, we went on making
further experiments. 7. Water exists as ice at low temperatures and as steam at higher
temperatures, with the temperature depending upon pressure. 8. The letter having
been delayed, the news reached us too late. 9. Our petrol being exhausted, we could
go no further. 10. With the structure of various companies being different, the model
is often inadequate in each particular case. 11. With the question of representing
information settled, the major design question becomes one of logic operations. 12.
The original signal is reconstituted thereby, with the noise impulses “smeared”. 13.
Several treatment of this problem have been presented, with theories resulting from

this investigation.

EXERCISE 6. Translate into English, use the Participle.

1. OGnannanHs, ke Hajaicaanu HaM 3 Himeuuwnu, ayxe HaziiiHe. 2. Po3noBiBIIA
HaM TIPO TPHI3] HAIIX TOBapHImiB, 0aThko mimoB y can. 3. [IpountaBmm OGarato
kHUT JliKKeHca, BOHA 3yMijla HamwcaTd gomoBiab. 4. IligiiimoBmm 10 ABepel, BiH
BITUMHMEB iX. 5. byayun myxe 3aiiHATUM, s He T00auuB Bac. 5. BoHu mooOitsin Ham
BIJPEMOHTYBAaTHU TOMIKO/KEHY MamuHy. 6. Mos 6a0ycs, 1m0 po3moBiIa MEH1 IO
icTopito, ckopo mnpuine g0 Hac. 7. JlurhnHa, 1o miuakaina, Oyna XBopa. 8.
CKOpHUCTaBIIUCh HAIIMMHM JAHUMH, BiH CKOHCTPOIOBAB UyMOBHMH mpwian. 9. Mu
IIOMHO OOTOBOPHWIIM METOMH, SIKi BAUKOPUCTOBYIOTh y cydacHid ¢izumi. 10. S mokazas
iM BHHax1J, sSIKUA OyB MpPEACTABIEHUI HAIOK TPYHOK HA MIXKHAPOJHIM BUCTaBII.
11. Och npobiiemu, sIKi 3aBXKIU OOTOBOPIOBANIM Ha Hamux 3ycrpiyax. 12. Kabmyuka,
3HAWICHa HEMIOJaBHO, MAa€ BEMUKY IIIHHICTH. 13. Hamararounch BiIKpUTH XBIPTKY,
BOHM 371aMaiu kirod. 14. He 3Haroum ix agpecu, BIH HE 3MII CIIOBECTUTH iX BUACHO.

15. IlignucaBiy AOTOBIp, TUPEKTOP BiJIZIaB HOTO CEKpPETapIo.
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EXERCISE 7. Translate into English. Use the Nominative Absolute Participial
Construction.

1. SIkmo yac 103BOJIUTH, BOHHM MPOBEAYTh NOCHIKEeHHA. 2. Konu coHle miaHsuIoCh,
TYpUCTH MU Bropy. 3. OCKUIbKM BaHTaXIBKY B)K€ BIAPEMOHTYBaJIH, HOBI MeOIi
npuBe3yTh uepe3 AeKiibka roauH. 4. Komu noMuiky B po3paxyHkax Oyio 3HaieHO,
MU BHUPIIIMIA TOYaTH BUPOOHUITBO. 5. Skmo moroga Oyae CHOPHUSATIUBOIO, MU
3MO>KEMO MPOBECTU 3MaraHHs. 6. OCKUIbKH OYJIO BXKE TEMHO, 51 IOBEPHYB JOJOMY. 7.
Konu Bce Oyno nepeBipeHo, MU BIANPAaBUIM HAIIOro mpeactaBHuka 1o Jlongona. 8.
Konu tBip Oyno HamucaHo, s mo4yaB poOWTH iHIN 3aBiaaHHsA. 9. Skmo ymoBu
JT03BOJISITh, 1HXKEHEPH BI3bMYTh yuacTh y KoHbepeHiii. 10. OckiIbKH TyB CHIBHUN
BiTEp, NOMIT ckacyBaiu. 11. Konmu miit Opart 3aryOuB rpouii, BiH HE 3MII IPUiXaTu B

KwuiB BuacHo. 12. OCKUIbKY 3aUIIIIOCS OaraTo yacy, MU MIILIU BiIMOYUTH.

TEPYHIIN

['epynniii € HeocoOoBOIO GopMOro AiecioBa. BiH 3aBXKAM BHCIOBIIOE IO K
mpoliec, 1Mo po3BUBAEThCs. ['epyHAIN Mae rpaMaTH4HI O3HAKH K JI€CIOBA, TakK 1
IMEHHUKA:

a) TepYyH/II SIK 11€CTIOBO MOKE YTBOPIOBATH CKJIaAH1 (hOPMH 1 MaTH micis cede
npsIMHEA 101aTOK (0e3 mpuiiMEeHHKKa), Hanpukiad: to write letters — writing letters;

0) TepyH[Ili, SIK 1 IMEHHHUK, MOX€E MaTH nepes co00r0 NpUCBIMHUN 3aliMEHHUK,
MPUUMEHHUK 1 O3HAYEHHSI, aJie HIKOJIM HE BXXUBAETHCS 3 apTHUKJIEM 1 HE Mae (popmu
MHOXXWHH, HAPUKIIA];

| think of going to London.
lepyHmiii cimig nepeknagatu abo IMEHHUKOM, IO TMO3Ha4yae mporec (-x#ws), abo
JECIIOBOM, YacTilie iH(pIHITUBOM, 1HOI (KO0 € MPUUMEHHHK) TIEMNPUKMETHUKOM,
HaATIPUKIIAI;

| like swimming.

Memni nooobaemuvcs niasaumsi.
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They kept speaking.
Bonu npoooeaicysanu cosopumu.
He could repair these parts without using a special device.

Bin 3mie siopemonmysamu yi uyacmuHu, He 3ACMOCOBYIOUU CHEYIAIbHO2O

IHCMPYMEHM)).
®opmMH repyHain
Active Passive
Simple writing being written
Perfect having written having been
written

Simple Gerund — nepenae airo, OAHOYACHY 3 JI€F0 MPUCY/IKA;

Perfect Gerund — Bka3ye Ha nepeayBaHHS [ii, BUPa)XCHOI T'epyHIieM, il
MIPUCY/IKA;

Active Gerund — Bka3ye Ha Te, IO MiJIMET caM 3JIHCHIOE Iif0, BUPAKCHY
repyH/ieM;

Passive Gerund — Bka3ye Ha Te, IO Jisl TePYyHIsS MEPEXOJUTh Ha MiJMET,
HaATIPUKIIA;

He insists on his being sent on a mission.

Bin nanonsieae na momy, wo6 11020 nocianu y i0ps0#CeHHs.

| remember having been helped then.

A nam'smaro, wo meni mooi donomoanu.

OCKUTBKM TepyHAIM Ma€ rpaMaTU4YH1 03HAKW IMEHHUKA, BIH MOYKE BXKMBATHCS:

1. ¥V poni migmera.

Recycling is becoming popular nowadays.

2. Y pomi mogaTka Imicas TEBHUX JIECIIB 1 CTaIUX BUPA3iB.

|. Tlicns giecniB 6e3 npuitMEHHUKA!

admit avoid deny
anticipate consider discuss
appreciate delay enjoy
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escape mind resist

excuse miss risk

fancy postpone save

finish practice spend
forgive prevent stand

go (for activities) quit suggest
imagine recall tolerate
involve recollect understand
keep (=continue) report waste
mention resent etc.

lepyHaiii BXHBa€Thcs Mmicas giecaoBa t0 mind B muTajdbHHX 1
3anepeyHux peueHHsX. [liecmoBo t0 mind mepeknamaeTbcss y  I[bOMY
BUIIAJIKY SIK 3anepevysamu, He Mamu Hiu020 npomu.

Do you mind my smoking here?

Bu ne 3anepeuyeme, sikujo 1 mym 3axypio?
Would you mind giving me your pen.
byovme n106'a3mi, oatime meni c8or0 pyuKy.
I don’t mind joining the team.

A ne npomu npueonamucs 00 KOMaHOU.

[Micnsa miecnis dislike, hate, like, love, prefer (doing sth to doing sth),
1100 BUCJIOBUTH IEpEBary.

| prefer reading books to watching movies.

Ane micas would like / would prefer pxuBaerbcs iHOIHITHB,
HaIPUKIIA]T:

| would like to stay here.

Il. Ilicna miecniB, fAK1I B AaHIVIIMCBKIA MOBI 3aBXIW BIXXUBAIOTHCA 3
IPUMMEHHUKAMM:
accuse of approve of burst out

apologize for blame smb for congratulate on
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count on inform of put off

depend on Insist on result in/from
dream of keep on stop from
forgive for leave off succeed in
give up object to suspect smb of
go on persist in thank for

hear of prevent from think of, etc.

[11. TTicns cranux BUpasis:
be afraid of, be angry for, be aware of, be bored with, be busy, be capable
of, be clever at, be disappointed in, be fond of/keen on, be good at, be
grateful for, be guilty of, be pleased at, be proud of, be responsible for, be
slow at, be sorry for, be surprised at, be worried about, be (not) worth, be
for/against, etc.;
can’t stand/bear, can’t help, can’t afford, what’s the use of, there is no point
in, it’s no good/use, what’s the use of, look forward to, have difficulty in,
have trouble, have a hard/difficult time,be used to, get round to, in addition
to, feel like, go on (= continue), etc.

Hanpuxknan:

It’s no use crying about it.

He is proud of having won the competition.

| could not help thinking about it.

He3aJsexxnunii repyHaiaJlbHUM 3BOPOT
Hezanexuuil repyHaianbHUIl 3BOPOT CKJIAAAETHCS 3 MPHUCBIMHOTO
3aiiMeHHMKa a00 IMEHHHKA B 3arajbHOMy a00 MPUCBIMHOMY BIAMIHKY 1
repysais. llepeknanaeTbcs MAPSAHUM pEUYEHHSM, J€ TEpyHIId CTae
MPUCYAKOM I[OI'O PEYEHHS, a 3aiiMEHHUK a00 IMEHHUK — HOro MiIMETOM,
HaIPUKJIaA:

They informed us of the book having been published.
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Bonu nogidomunu nam npo me, wjo kHuea 6yna onyonikosaua.

B aHrmiiicekii MOBI TPUCBIMHUN 3aliIMEHHUK CTAaBUTHCS TMEpe
TEPYHJIIEM TUTBKH Y BUTIAJKY, KOJIM 110, 110 IepeAacThCs MPUCYIKOM, 1 110,
0 TepeNacThCsl TEePyHAIEM, BHUKOHYIOTH pi3HI ocoOu. [lpucsiitHuit
3aiiIMEHHUK, IO CTOITh MEpeA TepyHAIEM B IepyHAladbHOMY 3BOPOTI, MpHU
nepekyaagl crtae ocoOOBMM 3aiMEHHMKOM Yy Ha3MBHOMY BIAMIHKY, TOOTO
1 IMETOM.

I insist on your answering them immediately.

A nanonseaio na momy, wob eu 8iOnNosiNU iM He2atiHo.

3. YV HayKOBHUX TEKCTax TEpYyHIIM Jy>K€ 4YacTO BXKHMBAETHCS IICII
NPUMMEHHUKIB.

Y  noemHaHHI 3 TEpPYHIIEM JEsIKI NPUAMEHHUKH HaOyBalOTh
XapaKTEPHOT'0 3HAYCHHS:

on (upon) — nicas, no,

IN — npu, 6 npoyeci;

by — wuisixom, 3a donomozoro;

while — oorouacno / nio uac + niecaoBo;

without — ne + miecioBo, 6e3 + IMEHHHUK;

through — 3a donomocor, 3a60sku, uepes.

Hanpuxinan:

You can make some notes while reading.

Bu mooiceme pooumu oesiki Homamxu nio 4ac YumamnHs.

EXERCISE 1. Translate into Ukrainian. Mind the Gerund.

1. It is worth while thinking over the effects | have just described. 2. Here is
no sense in doing this work now. 3. He is used to getting up early. 4. It is no
use going there now. 5. Did you succeed in finding this article? 6. You
helped me greatly by giving me your notes. 7. They could not help seeing the

importance of the process. 8. He died without leaving either a personal or a
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political will. 9. The purpose of the method is determining system stability.
10. We succeeded in building a flexible system. 11. I dislike borrowing
things from people. 12. We do not like being told such things. 13. This
prevented the letter from being sent off. 14. Extensions are being made to the
factory with a view to increasing the output. 15. Upon receiving the message
he went to discuss it with his captain. 16. I’'m looking forward to going on
holiday. 17. My colleague succeeded in translating this difficult test. 18. She
suspected him of deceiving her. 19. | gave up the idea of taking part in that
project. 20. He persisted in joining his friends. 21. We dream of seeing these
breathtaking mountains. 22. The judge accused the teenagers of having
robbed the store. 23. They don’t feel like discussing this problem. 24. He
insisted on being informed about the accident. 25. We object to investing
money in this project. 26. We are looking forward to being sent on a
business trip. 26. This teacher doesn’t approve of his students skipping

classes. 27. These experiments resulted in destroying our equipment.

EXERCISE 2. Translate into Ukrainian. Mind the Gerundial Complex.

1. There is a probability of Mister Green’s being sent to Canada. 2. Their
leaving before the end of the lecture attracted attention. 3. We have heard of
an agreement having been reached. 4. This is due to the reaction running at a
low temperature. 5. These houses have been constructed without sufficient
consideration having been given to their design. 6. Excuse my not having
rung you up. 7. We insisted on their beginning the lecture immediately. 8.
There was great danger of the changes being accepted as inevitable and final.
9. He insisted on the matter being discussed by everybody. 10. The change in
velocity resulted from the force acting from outside. 11. The possibility of
radio waves being reflected from the moon to the earth has been frequently
speculated upon by workers in the radio field. 12. This warning may result in

the scientist’s getting rather confused.
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EXERCISE 3. Open the brackets using the correct form of the Gerund.
1. He remembered (cross) the road but he didn’t remember (knock down). 2.
| am still hungry in spite of (eat) four sandwiches. 3. He got into the house
by (climb) through the window without (notice) by security guards. 4. We
complained of (offer) a very dark room at that hotel. 5. Excuse my (come)
into the room without (knock). 6. His parents thought that their son was not
cable of (earn) his living. 7. The tourists are not used to (drive) on the left. 8.
It’s no good (buy) a car if you don’t have a driving license. 9. The baby liked
(tell) this story. 10. The engineer was surprised at (show) the drawings by his
foreign colleagues. 11. | insist on (treat) politely by shop-assistants at your
supermarket. 12. Are you good at (solve) such problems? 13. The man

avoided (do) the work without our permission.

EXERCISE 4. Fill in the blanks with the prepositions.

1.They showed no wish ... leaving. 2. What’s the use ... playing this game?
3. She thanked us ... for supporting her idea. 4. I was not used ... driving a
big car through crowded streets. 5. What are your reasons to accuse her ...
taking the money? 6. Unfortunately, I haven’t succeeded ... making much
impression on them. 7. He did not object ... being examined. 8. They
insisted ... shaking hands. 9. She went ... interrupting me while 1 was
speaking. 10. He is proud ... having won the chess tournament. 11. You will
be sorry ... being rude. 12. Did you have any difficulty ... getting a visa? 13.
He will be accused ... having broken the law. 14. He went to his office in
spite ... being ill. 15. He is interested ... developing the project. 16. He
objected ... going abroad.
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EXERCISE 5. Translate the sentences into English

1. S mamonsraro Ha TOMy, 100 JomoMorTu ii. 2. BiH 3amepedyBaB, IO
371aMaB KOMIT'toTep. 3. BoHM qyMaroTh Npo Te, 100 MoiXxaTtu y BIAMYCTKY 10
bykogeni. 4. BoHa 3BuHyBadye HacC B TOMY, 1110 MU P1JIKO BiJIBiAyeMo ii. 5. S
HE MOXY HE MOCMIXaTuCs, KoM 0ady iX pa3oMm. 6. Maiikil He 3amepedyBas,
o6 Tom mnpuiimoB Ha Bedipky. 7. BiaBigyBaul OTpUMYIOTH BEJHUKE
3aJIOBOJICHHSI BiJ] TOTO, 10 Oadath 11i KapTuHU. 8. BoHa mpomomkyBaia
MpUIMATH JIIKY, SIKi TpU3HA4YMB i Jikap. 9. Moi apy3i yHUKarOTh KyIyBaTH
MPOJAYKTH B IUX KpamMHUIX. 10. Mukona 3 HETEpmiHHAM 4YeKae Bi3H, 1100
noixatu y BiapsamkeHHs. 11. Bonu npuBiTanu Hac 3 TUM, 1[0 MU OTPUMAIIA
xopori pe3ynbratd. 12. S He 3anepedyro, 1110 6a4uB iX B TOH JeHb. 13. Bin
MIOWHO KUHYB NManuTu. 14. AHHa HE MOTJla HE IOTOJAUTHCS 3 HAIIOK TOYKOIO
30py. 15. Ham nmoBeneThcs BiIKIIACTH MPOBEACHHS IILOTO TECTy depe3 Opak
gacy. 16. Bin mocriliHo yHuKkae 3ycTpiui 3 Hamu. 17. Mu 3 HerepmiHHSIM
YEeKaeMo, 1110 HaM MOKaXyTh oTpuMaHi fgaHi. 18. S Hanondraro Ha TomMy, 1100
MEHI MOKa3ah pe3yabTaTu TecTy. 19. Bona wmpisna npo Te, mo0 ii
3anpocuyii Ha 10 mpe3enrarito. 20. Konern mojskyBanu 3a Te, L0 iM
BYacHO Hajgamu jgomomory. 21. Tu 3BuUHYBauyemr MEHE B TOMY, IO A
oOmanyna tebe? 22. Mu Oosutics CHI3HUTHUCS Ha JiTak. 23. YHHKaW IUTH
QJIKOTOJIbHI HAIol, BOHU MOXYTh 3aMOISTH MIKOAY TBOEMY OpraHizmy. 24.
[IIym B aymuTopii 3aBakaB MEHI CKOHIIGHTPYBATHUCS Ha MOid JIOTOBiai. 25.
Tom GosiBCSI pO3MOBIIATH 3 AUPEKTOpoM. 26. Bonu poscwmisiiucs. 27. Bonu
OpuUBITAIM HAc 3 TUM, 10 MU Burpaiu mard. 28. I[IpomoBxyiite
NOPIBHIOBATU JaHi, Kl BU OTPUMYETE ]l Yac eKCIepUMeHTIB. 29. baTbku
3arnepevyyrTh MPOTH TOTO, 1100 BiH BUXOJWB 3 IOMY y Takui mi3Hii dac. 30.
51 cnogiBatocs, 10 MEHI PO3KaXKyTh BCE, IO CTOCYETHCS IIHOTO BUMAAKY. 31.
[IponoBxyiiTe BHKOHYBaTH BuMipioBaHHA. 32. Bona Oosumacsa, mio ii
mokaparTh. 33. Ham moBeaeThes BigKiIacTH OOTOBOPEHHS CTATTI HA JCSIKUAN

gac. 34. Wne noin, 1 iif He XO4eThCsl BUXOAUTH 3 JoMy. 35. Bona Hamomsrana
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Ha TOMY, 100 il JO3BOJIMIN TPOBOJIUTH eKcriepuMeHTH. 36. S He 3BUK, 110
31 MHOKI PO3MOBIISIIOTH Tak TIpy06o. 37. @axiBiIi HE CXBaIIOKTh
BUKOPUCTaHHS Takux TepMmiHiB. 38. Uu BapTo 3HOBY MOBEPTATHUCS JO IHMX
nutadb? 39. Bopii mobOowioThCs, 10 curyamis noripmutees. 40. S
ITHUIIAIOCS THM, IO PO3IOBiB iM mpo 1i pocmuan. 41. Horo mino3piomoTs B
NOpYLIEHH] 3aKOHY 1 oTpuMaHHi xabapiB. 42. Mepi He Morjia He AyMaTH Ipo
Te, mo Mapk neck Tyt mopsia. 43. XTo 3aBakaB TOO1 3pOOMTH HEOOXimHI
BuMiptoBaHHs? 44. S 1 He MpiAB KynuTH Taky IiHHY pid. 45. Byap macka,
npobadre MeHl1 3a Te, 10 5 3pO0UB 110 MOMWIKY. 46. Sl He pOoTH TOTrO, 1100
MEHE 3aIPOCHIIN B3ATH y4acTh B IIbOMY IpoeKkTi. 47. BoHa 3aBxau oTpumye

3a/I0BOJICHHSI BiJ CBSITKYBaHHS POJMHHHX CBST.

IHOIHITUB

[ndiniTuB € HeocoOoBow (OpMOIO Ji€CiIOBa, fKa Mae JesiKi
BJIACTUBOCT1 IMEHHHMKA 1 JIIECTIOBA.

Ak niecnoBo 1H(IHITUB MOXKE BHpa)XaTH XapakTep [ii (TpUBATICTb,
3aBepIleHiCTh) Ta cTaH. [loka3Hukom iH}IHITHBA € yacTka 10.

®opmu iHpiniTHBA

Active Passive
Indefinite to translate to be translated
Perfect to have translated to have been translated
Continuous to be translating
Perfect Continuous to have been translating

dopma Simple He yrouHioe 3B 53Ky Aii, 300pakeHol 1H()IHITHBOM, 3
4acowm, Ipo AKAM KJI€ MOBA, HAIIPUKJIAL:

| want to answer your question.
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A xouy sionogicmu Ha eauie 3aNUMAHHS.

| want to be answered at once.

A xouy, wob meni 8ionosinu 8iopaszy ic.

Continuous Infinitive Bupaxae mif0 TpPUBAJIOrO XapakTepy,
OJIHOYACHY 3 JII€I0 JI€CIOBA-NPUCYJIKA, HATIPUKIIAT:

I knew him to be translating this article.

A 3nas, wo 6in (6 mou uac) nepexnaoas yio cmammio. (a060.: A 3nas,
W0 i1 (8 MOIL 4ac) nepekiaoae yio cmammio.)

Perfect Infinitive Bupaae niro, mo mnepeaye Aii aiecioBa-IPHCYIKa,
HANPUKIIA:

He is happy to have taken part in our work.

Bin wacnueuti, wo 6316 yuacmo 6 Hawliti pooomi.

She was glad to have been given such an interesting book.

Bona 6yna paoa, wo iti 0anu maxy yikagy KHuey.

Perfect Continuous Infinitive Bupaxae airo, Mo TpuBaja MPOTATOM
MEBHOI0 MEPIOAy 10 TENEepilIHbOr0 MOMEHTY, a0o [ii0, II0 TpHUBajla B
MUHYJIOMY NPOTATOM SIKOTOCh MEPI0Jly Yacy, HAPUKIA:

| am happy to have been working here all these years.

A wacnusuti, wo npayrorw mym 6ci yi poKu.

| remember to have been living there for three years before you came.

A nam'smaro, wo srcue mam 3 poxu neped mum, K U NPUIXAIU.

OcHoBHi ¢yHKuii iH(pIHITUBA B peYeHHI

BXKMBaHHS nepeKIa
1. migmer To walk is useful. iMeH. abo iH.
2. gactmHa nipucyaka | Our aim is to master English. iMeH. abo 1H.
3. 10JaTOK She likes to sing. H.
4. o3HauCHHS The desire to find the solution was | iud.,
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very strong. IMEH.,
It will be done in the years to come. | mpukm.
He was first to prove it. miap. ped.

The method to be used is not new. | o3Hau.

5. obcTaBuHa She went there to study physics. iH.,
Hydrogen reacts with oxygen to JUETPUKM.
form water.

3BopoTt «1oaaTok 3 indiniruBom» (Complex Object)
3BOpOT CKJAIA€ThCsl 3 IMEHHUKA B 3arajJilbHOMY BIIMIHKY a0o0
00’ekTHOro 3aiimeHHuka (Me, you, him, her, it, us, them) Ta iH}iHITHBA.
[H}iHITUB BUpaxkae Ait0, IKy BUKOHYE a0 sIKOi 3a3Hae mpeamer abo ocobda,
MO3HAYCHUI IMEHHUKOM M 3aMEHHUKOM, 1[0 CTOITh Mepel IHPIHITUBOM.

We would like you to inform us about the results of your project.

They want our group to finish the program testing by tomorrow.

Sk npasuino, Complex Object mnepeknagaerbes —MIAPSIHAM
JTOJATKOBUM PEUCHHSIM.

3BOPOT BXXMBAETHCS TICIS TMEBHUX [I€CTIB. YMOBHO IIl JI€CTOBa
MO>KHA PO3JUIMTH Ha JIB1 TPYIIU:

I) Tiecnosa, micins sikux BxuBaeTbess Complex Object 3 inginiTHBOM
3 yacTkoro 1o.

This enabled us to begin our investigation.

I) diecnoBa, mcis sikux BxkuBaeTbess Complex Object 3 indiniTuBOM
0e3 yacTtku 10.

Our English teacher makes us learn the new words.

J1o mepioi rpynu HaJexkarh:

1) niecnoBa, siKi BUpXKAOTh HaMipu Ta OaKaHHS:
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to want, to wish, to desire, to like, to dislike, to hate, to intend,
should/would like, nanpuknaz:

| would like them to do it.

A 6 xomis, w06 60HU Ye 3poouUn.

2) niecnoBa, sIKi BUPAKAOTh MIPUITYIICHHS

to consider, to believe, to think, to find, to know, to expect, to suppose,
HaIpHUKIag:

The lecturer considers him to be the best student of our group.

Buxnaoau esascac tioco kpawum yunem Hauloi epynu.
3) nmieciioBa, siKi BUpaXKarOTh HaKa3, MPOXaHHs, J03BLJ:
to advise, to allow, to ask, to cause, to force, to force to order, to request,
to recommend, to permit, Hanpukaan:

He ordered the group to stop talking.

Bin naxaszas, wob epyna npununuia posmoseisamu.

o apyroi rpynu HajexaTh J1€CIOBA:
1) to make (y 3HauyeHHi «mpumymyBatu») i t0 let («ro3BoysaTm») —
3MYIIYyBaTH, HAIIPUKIIA!

The rigid deadline made us speed up.

JKopemkuil Kinyesuil mepmin 3MyCu8 HAC NPUCKOPUIUCAL.
2) ni€ciioBa, sIKi BUPAKAIOTh CIPHUIMAaHHS 3a JTIOMIOMOT0I0 OPTaHiB YyTTS:
to see, to hear, to feel, to watch, to observe, to notice Too.

| heard him deliver a lecture on the subject.

A uye, wo 6in uumas 1exyiro Ha yro memy.

ITicns niecnis to see, to hear, to feel, to watch, to observe, to notice
3amicTh iHGiHITHBA B Complex Object moxe BxuBatucs Participle 1 mis
onmucy Aii B mporieci. Ik mpaBmiio, YKpaiHCBKOIO MOBOIW IH@inimue Oyne
nepeKJIaaTics JIiECIIOBOM JIOKOHaHOro Buay, a Participle | — mieaoBom

HCIOKOHAaHOI'0 BUly, HAIIPUKIIA/L:
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We saw them cross the road.

Mu bauunu, sax 6oHu nepemuyiu 00poey.

We saw them crossing the road.

Mu b6auunu, sk 60HU nepemuHaIu 00poc).

HiecoBa to allow (mospomsitu), to permit (mo3somstu), to enable
(maBatn MOuBICTH), t0 have, to get (B 3HauYeHHI «IOMaraTucsi TOTO,
mob»), to make, to force, to cause, to lead (B 3Ha4YeHHI «pUMyITYBaTH,
3MyITyBaTH, POOUTH Tak, mo0») 3a3BUYail HE BUMAraloTh NpH TEPEKIai
CIIOJTYYHHKA 10, HATIPUKIIA]T:

This enabled us to begin our investigation.

L]e 0ano nam moowciugicms nouamu Hauie OOCAIONCEHHSL.

SIkio 1HGIHITHB MICI MHUX Ji€CTiB BKUBA€Thes B (opMmi Passive, To
IpU MEepeKIIaii HOro Ciijl MOCTaBUTH 0€3MOCEePeIHhO MICIs MPUCYIKA, NMPU
IIbOMY BHKOPHUCTOBYETHCSI HOTO aKTUBHA (popMa, HATIPHUKITAT:

It enabled the temperature to be measured.

Lle 0o3sonuno eumipamu memnepamypy.

Sxmo paiecnoBa to advise, to allow, to permit, to forbid we
NOTPeOYyIOTh TPSIMOTO JIOAATKA, TICHS HHUX CTaBUTHCS 2epyHOill, SIKIIO
noTpeOyIOTh — iH@iHimue, HAMPUKIA;

We don't permit people to speak loudly in the office.

Mu He 00360a3€MO H00AM 2010CHO 2080pUMU 8 OQICI.

We don't permit speaking loudly in the office.

Mu ne 0o36015€M0 2010CHO 2080pUmMuU 6 OQici.

Sxmo miecnoBa to make, to let, to hear, to see Tomo crosATH Y
nacuBHIA (opmi, TO 1H(QIHITUB y LOMY BHUIAJIKY BKHBAETHCS 3 YACTKOIO 10,
HaIPUKIIA]:

He was seen to talk to the Dean.

3Bopot «miamer 3 inginituBom» (Complex Subject)
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3BOPOT CKJIQJAEThCS 3 IMEHHHMKAa B 3arajJbHOMY BIAMIHKY a00
0Cc000BOr0 3aliMEHHUKA Ta 1IHQIHITUBA. 3BOPOT MEPEKIATAETHCS TOAATKOBUM
niapsaHuM pedeHHsM. [Ipucyiok roioBHOro pedeHHss Moke MaTth GopMmy
Passive 1 mepekiagaeThCs HEBU3HAYEHO-OCOOOBUM PEUCHHSIM  THUITY
«TOBOPATHY, «BIIOMO», «IOBIIOMISEThCA». [HPIHITUB y LBOMY 3BOpPOTI
3aBXKIU BXKHBa€Thes 3 yacTkoro t0. Pewenns 3 Complex Subject ymoBHO
CKJIQJIAETHCS 3 TPHOX YACTHH 1 MA€ HACTYITHUHN BUTJISI:

IMinmer > Ilpucynok (I1i€ciIOBO B aKTHBI UM nacuBi) > iH(piHITHB 3 tO
1 2 3

He is said to take part in this project.
1 2 3

3 yKpaiHCbKOi Ha AaHIJIIICHKY MOBY HACTylHE pEYeHHs Oyzae
nepeKyafaTics y TAKOMY HOPSAKY:

Losopsamy, wo 6in bepe yuacms y YybOMy NpOeKmi.
2 1 3

[Ipu nepekiiaji Ha aHTIIIICHKY MOBY CIIOJIYYHHUK 1440 HE BXKUBAETHCS.

3BOPOT «ImiAMET 3 1H(IHITUBOM) BXKUBAETHCSI 3 HACTYIMHUMH TpyHamMu
JIECIIB, 1110 BUCTYNAIOTh Y PEYEHH1 y POJIl IPUCYIKA!
1) JliecnoBa, siKi BUpPaKalOTh CIPHUHATTS 32 JOIMOMOIOI0 OpPTaHiB UyTTS i

B)KMBAIOTHCS B IIACUBHOMY crani: to see, to hear, to feel, to watch, to

observe, to notice Toro.
She was heard to mention this name in her lecture.
Yynu, wo eona 3eadysana ye im's 6 c8oitl n1exyii.
2) [iecnoBa, sKi BHPaXarOTh MNPUIYINIECHHS, JYMKY, CIOJIBaHHS 1

BXKHMBAIOTHCS B nacuBHOMY cradi: to consider, to believe, to expect, to

know, to report, to say, to suppose, to think roruo.
They are known to work here.

Bioomo, wo eonu npayroroms mym.
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3) liecnoBa, sKi BHpakalOTh Haka3, MPOXaHHS, [O3BLA, MNPUMYC 1

BXKMBAIOTHCSA B MacuBHOMY ctaHi: to order, to ask, to request, to allow, to

permit, to make, to cause, to force roimo.
They were ordered to leave the hall.
IM Hakasaaiu saituuiumu 3ali.

4) [iecnoBa 1 3BOPOTH, $IKI BUPAKAIOTh NPHUITYIIEHHS 1 BXHBAIOTHCS B

aKTUBHOMY cTaHi: t0 seem, to appear (3maBarucs, MadyTh), t0 happen, to
chance (rpamnstucs, BumagkoBo onwmHATHCA), tO prove, to turn out
(BusiBiiaTHCs), be likely/be unlikely (iimoBipHO/ManoliMoBipHO), be certain
(6e3ymMoBHO), be sure (HamneBHO).

Under these conditions the output is likely to increase.

Ipu yux ymosax eunyck npooykuyii, UmMosipHo, 3pocme.

This scientist appears to use our equipment in his experiments.

Leii suenuti, Mabyms, UKOPUCMOBYE 8 CBOIX eKCNepUMEHmMAax Hauie
001A0HAHHS.

This proved to be important.

Busisunocs, ye 6yno eaxciugo.

SAxmo to prove BxwuBaeThes B Qopmi Passive, To #oro cimin
NEePEKIIAJIaTH CIIOBOM «IOBOJIUTH:

This was proved to be important.

byno ooseoeno, wo ye sasiciuso.

[Ipucynok y pedeHHI 31 3BOPOTOM «IMiJMET 3 1H(QIHITUBOMY» MOXKE
MaTu HeraTuBHY (opmy. B 1pomy BHUNAgKy SIKIIO NPUCYIOK Mae (opmy
Active, TO 3amepedeHHS TEPEHOCUTHhCS HA 1H(DIHITUB, a TPUCYIOK
BUHOCUTHCS BIIEpE] Y CTBEPKYBAJIbHIN (OpMI, HATTPUKIAA:

Explicit and detailed models do not appear to be available for this
purpose.

30aembcs, wo AcHux i O0KIAOHUX mooenet OJisl Yi€i Memu He ICHYE.
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SIKIO TPHCYIOK BHpakeHH aiecioBoM y ¢opmi Passive 3 not, to
BOHO 30epirae 3arnepedyeHHs, HapUKIIa;:
The programme is not considered to have been realised.

He @sasicacmucs, wjo ys npoepama byna peanizoéana.

3Boport «for + iMeHHHMK + iH(QIHITHB»

VY 1iit KoHCTpyKITii TIepen IH(IHITHBOM € CJI0BO, 110 TIO3HAYAE OBy
oco0y abo mpenmer, sike BBOAMTHCS NpuitMeHHHKOM fOr i crae migmerom
MIAPSITHOTO pedeHHs. FOr mpu mepekiaal JornomMarae BU3HAYUTH MOYATOK
HiIPSITHOTO peYeHHS (BBOIUTHCS CIIONIYUHUKAMHU «uf0/uj06»), e 1HPIHITHB
CTa€ MPUCYIKOM, HATPUKIIA;:

For this method to be valuable it must be improved.

11]06 yeit memoo 6y8 kopucHum, 11020 mpedba 800CKOHAIUMU.

This mechanism is provided with special devices for the whole system
to function automatically.

L]eti mexanizm 3ab6e3neyenuti 0cooOIUBUMU NPULAOAMU OJISL MO20, W00
6cs cucmema YHKYIoOHY8ana asmomamudto.

MosnuBuii TiepeKsial Mboro 3BOPOTY IMEHHUKOM a0 1H(IHITHBOM.
He 3aBxam HEOOXigHO IepeKiIajaTH 3BOPOT 3a JOMOMOIOI0 IiIPSIHOTO
PEYCHHSI, HAPUKIIA];:

Everybody waited for the meeting to start.

Bci yexanu nouamxky 360pis.

There is a possibility for him to attend the conference.

Y nHvoco € moowcnugicmo 6ymu npucymuim Ha yiti KOHpepenyii.

EXERCISE 1. Translate into Ukranian. Mind the function of the
Infinitive.
1. The new method to be used depends upon the natural conditions of the

district. 2. The factors to be considered are of great importance taking into
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account the further development of this method. 3. He was the last to take
part in the discussion. 4. To perform this work one must have all the
necessary equipment. 5. To avoid the accident the cars had to move very
slowly. 6. To meet the increased demand for industrial goods, a great
number of new shops have been opened in the town. 7. To solve this
problem you have to make a great many experiments. 8. To calculate the age
of our planet requires much knowledge in different branches of science. 9.
To summarize the findings of this tremendous work would require many
pages. 10. It is ironical that we publish articles on cybernetics, yet fail to
develop simple and effective feedback mechanisms to serve our purpose. 11.
Incidentally, it is convenient to introduce the following abbreviations. 12.
This technology calls for the assessment to be made at the time when the
new equipment is being considered for installation. 13. The suggestion is
both attractive and interesting but the work is not sufficiently advanced for
any definite opinion of its validity to be formed. 14. Such programs remove
the need for other users to wait for a busy printer to become free. 15. Our
findings prove that it is physically possible for the ground ice of Alaska to

have been formed by a process of segregation.

EXERCISE 2. Translate into English using the Infinitive. Mind the
functions of the Infinitive.

1. BiH nocuTh NOCBITYEHUH BUKJIamad, mo0 moscHuTH e ssumie. 2. 1106
n00pe 3p03yMITH 111 TIPOILIECH, MU TIOBUHHI BUBUUTH iX MEXaHIUHY MIPUPOIY.
3. Mloro 3aBaHHs — 3HAWTH JOKa3| IS M1TBEP/KEHHS HAIIOi T1noTe3u. 4.
Tom mepmuM po3MOBIB HAM MPO JOCATHEHHS B raidy3i HAHOTEXHOJIOTIH. 5.
Bu npuOynu 10 Bok3any ocTaHHIMU. 6. S panuid, 1110 MEHE MOBITOMUIH PO
novyatok ekcnepuMmenry. 7. Ham npodecop moOUTh, KOIU A0 HBOTO
3BEPTAIOTHCS 3a mopaaor. 8. Barcon 1 Kpik mepmmmu BiAKpWA CTPYKTYPy

JIHK. 9. Tpymnomni, sxi Tpeba MogomaTd B MEPIIYy YEpry, CTOCYIOThCS
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TexHiuHOro acrtexty. 10. Momy mkoza, mo BiH 3po6HB Tak 6araTo MOMMIIOK.
11. Indbopmamis, npo sky Tpeba MOBIAOMUTH Yy CTaTTi, MIJKPECIIOE
IMOBIPHICTh 3aCTOCYBaHHS TaKMX MPUCTPOIB, Xoua 11e Tpeda nepeBiputu. 12.
Marepian, skuii Oyne BUBYATUCA, Oyke KopucHHM. 13. BumiproBanbHi
Npwiaan, S[KUMU OynyTh KOPUCTYBaTHCS CTYAEHTH, TOBHHHI OyTu
Hagitaumu. 14. 11{o6 3po3ymitu i siBuia, Tpeba BUTpaTUTH Oarato 4acy Ta
3ycuib. 15. IIg Tema HaaTO BaKiIuBa, 1100 BIAKIAAATH 1i OOTOBOPEHHS HA
iHme 3acigands. 16. Kynutu Hadikpaiii TiApyYHUKA y)KE BaXIJIHBO IS

IIoAaJIbIIOro HaB4aHH:.

EXERCISE 3. Combine the two sentences using the Infinitive as in the
model.

Model: | was invited to the conference. | am proud of it. — | am proud to
have been invited to the conference.

1. Nick is spending his holiday in the mountains. He is happy about it. 2. We
are often shown these experiments. We are glad of it. 3. | am not working in
your team now. | am sorry about it. 4. They will be given a chance to
participate in this research. They are pleased with it. 5. Jack has missed the
train to London. He is upset about it. 6. We are taught a lot of useless
subjects here. We are furious with it. 7. | passed my exams yesterday. | am
glad of it. 8. Jane was not allowed to join the project. She was very upset
about it. 9. | am watching an exciting comedy. | am delighted with it. 10.
Mark has been shown a collection of old coins lately. He is proud of it. 11. |
was late for the concert. | am sorry about it. 12. She has not been doing any

exercises for three months. She is sorry about it.

EXERCISE 4. Fill in the blanks with the particle to where necessary.
1.This is the place from which I saw John ... arrive at the station. 2. Women

always want you ... write them letters. 3. Don’t let it ... trouble you. 4. Tell
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me what I you would like me ... do. 5. We expect Peter ... play with the
children. 6. She watched him ... open the safe. 7. The family suspected it
and wanted to make Nick ... see a lawyer. 8. You can’t make me ... say
what you want me ... say. 9. She felt her heart ... beat wildly. 10. I knew
them ... be right. 11. The officer commanded his men ... fire. 12. Put on a

thicker coat, I don’t want you ... catch cold.

EXERCISE 5. Translate the sentences paying attention to the use of the
Complex Object.

1.I don’t like him to mention my name. 2. Ancient people supposed the
world to be flat. 3. The doctor pronounced the patient to be out of danger. 4.
Did you feel the bridge shake? 5. Nobody said anything, we just watched
him put it away in his case. 6. Many of the audience considered the speaker
to overstate his case. 7. We knew their research to have been completed. 8.
The way she looked at me made me blush. 9. He is the man who observed
the accused man enter the bank. 10. The scientist believes the experiment to
have been carried out properly. 11. She didn’t expect her son to study

architecture. 12. | have never heard him tell a lie.

EXERCISE 6. Replace the following complex sentences or groups of
sentences by simple sentences with the Infinitive Construction.

Model: The salesman urged me. He insisted on my buying the car.

The salesman urged me to buy the car.

1. I never smoke indoors. My wife doesn’t like it. 2. He’s an honest boy. |
know it. 3. The suspected man entered the building. We saw him. 4. | looked
out of the window. He crossed the street. 5. She sent us an answer. We didn’t
expect it. 6. No one had expected that that she would marry the man. 7. He
ordered that tea should be brought at once. 8. They sang in Italian. We heard
it.
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EXERCISE 7. Translate into English. Use the structure Complex
Object.

1. S He Xouy, mo0 BOHA 3Haja mpo 1e. 2. MeHi 6 He xoTinocs, 10 BOHU
crizHumucs. 3. XBopoba OpaTa 3Mycuia ii mepeixatu 10 BEIUKOro MicTa. 4.
Buknagau po3paxoByBaB, 10 CTYJIEHTU 3pO3yMilOTh Iie mpaBwio. 5. Bci
3HAIOTh, 110 HbIOTOH — Benmukuii BueHUit. 6. Miii KEpIBHUK TEPIITH HE MOXE,
KO MU poOMMO MOMHIIKH Yy JOKyMeHTax. 7. Bona He moria mpuMmycuTu
Wioro 3acmiBatu. 8. Jom mpUMycCHB Hac MOBEPHYTUCH 10 1oMmy. 9. baTbko
MPUMYCHB CHHIB BipeMoHTyBaTu cTul. 10. Mwu mobaumnu, 1o BOHA
neperinBae piuky. 11. Mu cmocrepiranu, Sk BiH MIJIAIIOB J0 BIKHA,
PO3TOPHYB XKypHaJ 1 mo4yaB untatd. 12. BiH Bia4yB, 110 XTOCh AUBUTHCS Ha
Hboro. 13. BoHa Gauuna, 1110 BiH npuMipse KocTioM. 14. Mukoina 6a4uB, 1110
["anna mock numre. 15. S xouy, 1100 110 CTaTTIO HAAPYKYBAIM B 3aBTPALIHIN
razeti. 16. Bin xoTiB, m00 fioro kapTuHu Oauwiu B pi3HUX KpaiHax. 17. S
xouy, o6 Me0ml goctaBuian noaomy. 18. Mu He 3HaiH, 110 poOOTYy OYI0
3akiHyeHo. 19. S He mpumyckas, mo cTarTio Bke HaapykyBamu. 20. L
IHKEHEepU HE XOTUIM, Wmo0 ix mnpuiagamu KopuctyBanucs. 21. Ham

BUKJIaJ[a4 aHTJIiHCHKOI MOBU 3MYIITy€ HAC BUUTHU CJIOBA.

EXERCISE 8. Translate the sentences paying attention to the use of the
Complex Subject.

1. The river is supposed to flow in this direction. 2. You are expected to
know such things. 3. He is known to be an expert in this field. 4. The theatre
Is reported to have given several performances in Ukraine. 5. He was said to
have organized the whole business. 6. The agreement is certain to have been
signed. 7. They are unlikely to have any objections to our proposal. 8. The
negotiations are likely to continue until Friday. 9. He didn’t prove to be a
very experienced engineer. 10. The house is known to have been built at the

beginning of the 19" century. 11. They turned out to have returned home. 12.
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The actress was heard to speak to the film director about a new production.

13. He turned out to speak three foreign languages.

EXERCISE 9. Paraphrase the sentences. Use the Complex Subject.
Model: It is reported that the delegation has left London.
The delegation is reported to have left London.

1. It is known that he has a large collection of pictures. 2. It is expected that
many people will attend the meeting. 3. It was found that the lecture was
very interesting. 4. He was ill. They say so. 5. It can’t be considered that the
results of the experiment were bad. 6. It happened that they met that very
day. 7. It is certain that they will come here on Monday. 8. It appears likely
that he will recover soon. 9. It seems that the play has made a deep
impression on him. 10. It is expected that our football team will win the
match. 11. It was reported that the Prime Minister had arrived to the Summit.

12. It was supposed that the ship had left Odessa.

EXERCISE 10. Translate into English. Mind the structure Complex
Subject.

1. Kaxyrp, mo meit mamanm OyB 30ymoBanmii y XVIII cromirtri. 2.
[IpumyckaroTh, 110 3acijaHHs CKOpo 3akiHYUThCA. 3. CTanocs Tak, IO BiH
BITI3HAB IHOTO 4YOJOBiKa. 4. MayloiiMOBIpHO, III0O BOHM YYJHM MPO HaIll
JOCJIJDKEHHS B IUX Tajy3sx. 5. YMOBU Mpaill BUSBUIUCS BOXKUYUMH, HIK
nepeadavanocs. 6. HoBe oOnagHaHHs BUSBWIOCS Habarato HaaiMHIIIUM. 7.
Binomo, mo meit BueHuil npoBiB Oarato yacy B AHriii. 8. BusiBiseThces,
Maiiks — oJIMH 3 Kpalux CIOPTCMEHIB y HalloMy YyHiBepcuteTi. 9. KaxyTsb,
0 BU TpAIIOETe HaJ I[i€l0 MpoOJieMOr0 Bxke Kiabka MicsmiB. 10. Biw,
31A€ThCS, BXKE CKJIAB BUIMYCKHI e€k3aMmeHH. 11. 3maerbes, 1 MoauHa TyxKe
IIIKABUTHCS PO3BUTKOM KOCMIYHHMX TexHOdorid. 12. JIymarots, mo [[xum

3Hae HabaraTo Ounbie, HiX ToBOpuTh. 13. He cmoxiBanucs, mo 3uma Oyne
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Takow Teruiow. 14. YUynu, mo Bama KoMaHJa Bi3bMe Y4acTh B OCIHHbOMY
TypHipi. 15. IToBI1OMIISIOTH, 1II0 BUEHI BIIKPWIN IIOCH TIHCHO Ba)xiuBe. 16.
3BICHO, BOHa HIYOr0 HE 3HA€ MPO TOW BUMaAoK. 17. BBaxkaroTh, mo AJjiaH
[To 3amouatkyBaB JeTeKTUBHUU >kaHp. 18. 3maeThcs, BIH 3HA€ HOMEP IOTO

rorento. 19. ['0BOpsITH, 1110 BOHH YCHIIIHO NPALIOI0Th HAaJl HOBUM IPOEKTOM.

EXERCISE 11 . Translate into Ukranian.

1. I want you to go to the office and speak to the manager about it. 2. The
director ordered the letter to be sent off immediately. 3. | consider him to be
responsible for it. 4. We heard the construction of railway facilities benefit
fully from the system. 5. We expect the goods to be delivered in three weeks.
6. | think that tonight you will hear her sing. 7. Furthermore, one need not
even know how to make the reaction in question occur. 8. We know the
velocity of a particle to be continuously changing if this particle has a non-
uniform motion. 9. He believed the results of this test to have been plotted in
the diagram. 10. This house is likely to have been built at the beginning of
the nineteenth century. 11. This state of affairs doesn’t seem likely to last
long. 12. The proposal known to have been advanced by our delegate was
unanimously greeted. 13. The device known to be built by Charles Babbage
Is now considered to be the parent of modern computers. 14. The discussion
of this work has not been considered to be within the scope of this chapter.
15. The fact happened to become known to everybody. 16. The lifetime of
the equipment is assumed to be 30 years. 17. He seems to have given up this
view. 18. The goods don’t appear to have been packed very carefull. 19. He
was made to sign the agreement. 20. Ronald was supposed to meet us at the
station. 21. The diode is said to be reverse-biased, and hardly any current

flow.
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YMOBHI HIAPAAHI PEYUEHHSA

YMOBHI MiJIpsA/IHI peUYeHHSI BBOJATHCS CHOMyYHUKaMHU «ify (sIKio),
«unless» (sixio ... He), «provided/providing» (3a yMOBH, SIKIIO), «giveny
(sxkmo maHo, €), «as long as» (ockinbku), «on condition thaty (3a ymoB
SKIO), «suppose/supposing» (npurryctumo, 1mo), «otherwise» (inakme),
«but for» (mom10), «even if» (HaBiTh AKI10), «in case of/in the event of »

(y BumamKy).

YMOBHI peueHHsI MOYKHA TTOAUTATH HA TPH THITH:

1) VYmoBue peuenns l-ro tumy (First Conditional) — peuenns, o
OIKCYE peajibHy a00 Jy’Ke HMOBIpHY CHUTYyaIlil0 B TeNepiliHbOMYy a0o
MaiOyTHROMY Yaci.

B  yMOBHMX  WApSAHMX ~ peUCHHAX 1-ro  THMY  3aBXIH
BUKOPUCTOBYETHCS yac Present Simple, a B TooBHi# Y4acTHHI, B 3aJIC)KHOCTI
BiJl cuTyalli, Moxe BuUKopucToByBaTHcs Future Simple, cnonykanbHuii
crocid abo X MopaybHI AiecioBa can, must, may Toio 3 iHpiHITUBOM O€3
gacTku 10. B yKkpalHCBKHX pEUEHHSX NPHUCYAOK HE Ma€ YaCTKU «Oum».
HiecniBHi ¢dopmMu 000X pEUCHb TNEPEKIANAIOTHCA Ha YKPAiHCBKY MOBY
JIECIIOBAMH B MailOyTHROMY 4aci, HallpUKJIaI:

Unless he is busy, he will come to the meeting.

Axwo 6in He O6yOe 3atinamull, 8iH nputide Ha 300pu.

The system will fail to perform unless the requirements are satisfied.

Cucmema He 0yoe pynKyionysamu, sAKul0 6Ci 8umocu He 0yoymb

300060.J1€HI.

Please, come to the lab and help me with the experiment if you are not

busy tomorrow.

byov nacka, nputioime 6 nabopamopito i 00NOMONiCIMb MeHi 3

eKCNepUMeHmoM, SIKWo 68U He Oydeme 3auHAMI 3a6mMpa.

91


https://grammarway.com/ua/present-simple
https://grammarway.com/ua/future-simple
https://grammarway.com/ua/mood#imperative-mood
https://grammarway.com/ua/mood#imperative-mood
https://grammarway.com/ua/can-could
https://grammarway.com/ua/must
https://grammarway.com/ua/may-might
https://grammarway.com/ua/infinitive

We may stay at home next Friday ifthere are no lectures at
university.

Mu 3moocemo 3anumumucs 800Ma HACMYNHOI N'SMHUYI, AKWO 8
VHigepcumemi He OyOe neKyil.

B yMOBHHX MiAPSIHUX PEUYCHHSX 1-r0o THITY 3 3alepeuyeHHSIM 3aMIiCTh
cnonyunuka If MoxxHa BUKOpucTOBYBaTHCS UNIess (ko He) Ta ieCIOBO B
cTBep/uKyBaibHIN ¢Gopmi. [Ipu mepeknani yKpaiHCbKOIO MOBOIO HacTKa He
CTaBHUThCS IIEPE] JIECTIOBOM.

They don’t have to go there unless they want.

Im ne 0608'53K060 ixXamu Mmyou, AKWO BOHU HE OANCATOMD.

2) YmoBHe peuenns 2-ro tuny (Second Conditional) — peuenns, mo onucye
MAaJIOBIPOTiAHY CHUTyaIlll0 CTOCOBHO TEMEPIMIHHOro abo MalnOyTHHOTO
4acis.

B  yMOBHHUX  MIPSAHMX  PEYCHHAX  2-T0  THIY  3aBXKIU
BHUKOPHUCTOBYEThCs Past Simple, mpuyomy were craBuThCcs mepen ycima
ocobamu 3amicte Was (I were, he were, she were). B ronoBHoMy peueHHi
BUKOPUCTOBYIOThCS MojaibHi mieciaoa Should, would, could, might +
Simple Infinitive miecmoBa 6e3 wactkm t0. B Takux pedeHHSIX HE MOXHA
3aMinsaTi crnonyunuk If Ha when. Ha ykpaiHcbky MOBY Taki pedycHHS
NEPeKIIATAIOTHCS 3 YACTKOI «OM», «IKOM», «O».

If the situation permitted, we should test this device.

Axbu cumyayin 003601uUna, Mu 6 npomecmy8anu yeu npucmpii.

Unless the situation were favourable they could not apply the new
equipment.

Axwo 6 cumyayin He Oy1a Ccnpusmiuéoro, 60HU O He 3MOo21U
guKopucmamu ye Hoee 0ONAOHANHSL.

If I were him, | would never permit it.

Axwo 6 51 6y8 Ha tlo2o micyi, s1 6 HIKOAU He 00380UB YbO2O.
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3) YmoBHe peuenns 3-ro tumy (Third Conditional) — pedyenns, mo onucye
HepeajbHYy yMOBY, III0 Tak 1 He BIgOyJacs B MHUHYJIOMY. YMOBHI
KOHCTPYKIIii 3-TO TUIY MalOTh BIATIHOK aJt0, MPUKPOCTi, TOKOPH Yepe3 Te,
110 HE TPAMKIJIOCS Y HEe OyJI0 BUKOHAHO Y MHUHYJIOMY.

B yMOBHUX MiIpsSAHMX PEUYCHHSX 3-TO THITY BHKOPHUCTOBYEThCs Past
Perfect, imkomm Past Perfect Continuous. B rojoBHOMy peueHHI
BUKOPHCTOBYIOThCS MojaibHi jgieciioBa would, could, might + Perfect
Infinitive (have + V3) 6e3 wacTku to. B Takux pedeHHsx cnonydHuk if He
MOKHa 3amiHsaTH Ha When. Ha ykpaiHCbKY MOBY Taki peUYCHHS
NIEPEKIIAAI0THCS 3 YACTKOI «OM».

If the situation had permitted we should have tested the device last
week.

Axou cumyayis 0ozeonuna, mu 6 npomecmysaiu yeu npuIao
MUHYTL020 MUDIICHL.

What would they have done if you hadn 't helped them?

Lo 6 sonu pobunu, axujo 6 eu He donomozau im?

B ymoBHux peuennsx I i III tuny if iHomi omyckaerbes, 1 Ha HOro
Micue BuHocAThC aieciosa had, could, were, should.

[Tpu mepekiajii Ha YKpaiHChKY MOBY BBOJHUTHCS CIIOJIYIHHK <«SIKIIIOY.

Had we time, we should test the sample twice.

Axbu y nac 6ye wac, mu 6 npomecmyeanu yeti 3pazoK 08iui.

JIs1 BUCJIOBIIIOBAHHS JKajlt0 3 MPHUBOAY Ti€i 4M 1HIIOI Jii BITHOCHO
TEMEPIIHBOI0 YW MHUHYJIOTO 4Yacy B aHIJIHCBKIA MOBI BXKHUBAETHCA
KoHCTpyKItis 3 Wish / if only.

BigHOCHO TenepinHporo 4yacy B MmigpsaHux pedeHHs micas wish / if
only mxwuBaetbes Past Simple / Past Perfect i mns munymoro wacy — Past

Perfect.
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Peuenns 3 mieciioBom Wish i Bupazom if only moxxyTs mepekiagaTucs
YKPaiHCHKOK MOBOIO SIK «HA KAJIb», «KAJIb», «AKOH TLIbKH», «XOTLIOCS
0».

Skmio peuenns, mo croite micis Wish / if only, croirte y 3anepeuniii
dbopmi, TO YKPaiHCHKOIO MOBOIO BOHO Oy/1€ MepeKIagaTUCs CTBEPIKEHHSM, 1
HABIIaKW, CTBEPDKEHHS B YKPAIHCBKIM MOBI Oyjae IepenaBaTHCS Yepe3
3alepeyeHHs] B aHTTIHCHKIM, SKIIO MU BUKOPUCTOBYEMO IS IIEPEKIIATy «HA
JKaJab», HAIPUKIIAI:

I wish | had more free time.

JKanv, wo y mene nema we dinvuie 8i1bHO20 Hacy.

(Xominocs 6, wob y mene 6y10 binvuie 6ibHO20 4acC).)

EXERCISE 1. Translate the sentences into Ukrainian.

1. If this is the case, this hypothesis may prove to be valid. 2. If we raise the
temperature, the film will expand. 3. If we were free tomorrow, | should go
to see a friend of mine who has just come back from an expedition. 4. A wife
Is a good helper to her husband in all his troubles most of which he would
not have had if he had not married her. 5. It would have been risky to answer
these questions if they had not been verified by experiment. 6. Had we any
reason, we might refuse the offer of their group. 7. Had you spoken more
clearly, everyone would have understood you. 8. Were he in London, they
would know about it. 9. Unless you can deliver the machines by the 15"
September, we shall be compelled to cancel the order. 10. If | were you, |
should go there immediately. 11. Unless a very high pressure is used,
electrons produce only a small number of ions. 12. If such ores were of
interest to you, we could send you our offer at once. 13. Had there been no
earth’s gravitation, the satellites would have moved through airless space in
a straight line at a uniform speed. 14. This could have been noticed by the

programmer if he had inspected his programme carefully. 15. If you had not
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left the child alone, it would not have broken the plates. 16. Had he taken
more winter clothes, he would not have complained of the weather in this
region. 17. I would never allow them to take those books if they were not my
close friends. 18. He will certainly agree to join you if somebody shows him
the possible benefits. 19. If | were you, | could speak to the manager and
make him change his mind. 20. The engineers will go on business if the
weather does not get worse. 21. The tourists would have lost the way long
ago if the guide had not been so experienced. 22. The machine-tools would
go directly to London if the director did not cancel the order. 23. Your son
will be a success if he doesn’t waste time playing computer games. 24. If we
applied principles of information technology and connectivity to the various
processes that make up the urban infrastructure, we would end up with a
smart city. 25. Had he done the task, he would have been chosen the best
player. 26. If |1 were younger, | would like to go to the party with my
children. 27. The experiments show agreement with theory provided the

conditions are met.

EXERCISE 2. Choose the correct form of the verb.

1. If | don’t/won’t feel well tomorrow, | stay/will stay at home. 2. If the
weather is/will be nice tomorrow, we can go to the beach. 3. It will be hard
to find a hotel if he arrives/will arrive on Sunday. 4. Do/Will you join our
club if we invite/will invite you? 5. I am/will be surprised if he will not/does
not sign the contract. 6. What will you do if it snows/will snow in the city? 7.
| will not be able to cope with the task if you will not/don’t explain it in
detail. 8. If he doesn’t/will not work harder, he will not/deesn’t find a good

job.

95



EXERCISE 3. Indicate whether each of these predictions is probable

(P), hypothetical (H), or impossible (I).

Model:

PREDICTION

active: There {will be} an eclipse tomorrow.

passive: The eclipse {will be hidden} by the clouds.
PROBABLE PREDICTION (First Conditional)

active: If it rains, we {will get wet.}

passive: If the eclipse is hidden, the photos {will be ruined.}
HYPOTHETICAL PREDICTION (Second Conditional)

would
active: If I studied, I ¥ could pass.
might
would
passive: If the eclipse were hidden, the photos < could be ruined.
might
IMPOSSIBLE PREDICTION (Third Conditional)
would
active: If I studied, 1 could \ have passed.
might
would

passive: If the eclipse were hidden, the photos < could > have been ruined.

might

P_ 1. If sugar is added to water, it will dissolve.
2. If the volcano had erupted, many people would have been killed.

3. If the car had fuel, it would go.

4. If the meteor had penetrated the earth’s atmosphere, it would have

burned up.
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5. Ifafuel, heat, and oxygen are present, combustion will take place.

_____ 6. If the milk were pasteurized, the harmful bacteria would be
destroyed.

______T.If neon is given an electric charge, it will glow.

8. Ifthe apple fell from the tree, potential energy would change to

Kinetic energy.

EXERCISE 4. Change each of these probable predictions to a
hypothetical prediction. Remember to use were instead of was in if
clauses.
Model: If we study, we will pass.
If we studied, we would pass.
If an effective cure is found for leukemia, many lives will be saved.
If chlorine is inhaled in large doses, it will be fatal for a human being.
If mercury is heated to 357° C, it will boil.
If the fuel ignites, the engine will start.
If it is a clear night, we will see the eclipse.

If the wires are insulated, they can be used to carry electric current.

N o ok~ w0 NP

If the air temperature drops below 0° C, the rain will turn to snow.

EXERCISE 5. Change each of these hypothetical predictions to an
impossible prediction.
Model: If we studied, we would pass.
If we had studied, we would have passed.
2. If we spoke the same language, we would understand each other better.
3. If we moved the clocks back one hour, we would have an extra hour of
daylight in the morning.
4. If the bridge were properly designed, it would not collapse.

5. If the standards were lower, more students would pass.
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6. If the satellite were not interrupted, it would continue in its orbit.
7. If the egg cell were fertilized by sperm carrying an x chromosome, the baby
would be a girl.

8. If he ate a balanced diet, he would be healthier.

EXERCISE 6 . Complete the following predictions by filling in the proper

form of the verb.

1. Plants will not grow if they are  (be) deficient in nitrogen. 2. Many
lives would have been saved if scientists (predict) the tornado. 3. A
satellite will go into orbit when it (reach) a speed of 18,000 miles
per hour. 4. The calcium would melt if you (heat) it to 845° C. 5.
When winter comes, the bears (hibernate). 6. If the iron bar were
exposed to air, it (rust). 7. If the compound had been an acid, it

(turn) the blue litmus red. 8. If the oxygen were cooled sufficiently,

it (liquefy).

EXERCISE 7. Complete the following predictions in any logical or
Imaginative way, using the correct verb form.
1. There would be fewer traffic accidents if __ people didn’t drink and drive.

2. People would be healthier if ... . 3. The air would be cleaner if ... . 4.
University would be easier if ... . 5. If human beings could fly, ... . 6. If we
could control the weather, ... . 7. If there were no irregular verbs, ... . 8. If

computers could make breakfast ... . 9. If | could go anywhere in the world,
.... 10. If I were you, ... . 11. If the book had not been so old, ... . 12. They

would refuse to go there if ... . 13. If it had not been late, ... . 14. If you
informed me earlier of their visit, ... . 15. If they had not used the equipment
without our Professor’s permission, ... . 16. If he agrees to come to our place

in winter, ... . 17. It could have been impossible to fix the computer if ....
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EXERCISE 8. Answer the questions.

A

1. Could you speak to your English colleagues if we didn’t invite an
interpreter?
Where would you spend your money if you won a million dollars?
Could you survive if you were left alone in the mountains?

If you were late for an important meeting, what would you do?

o &

If none of you friends agreed to follow you, would you insist on your
plan?
6. What would you do first if you were offered to take part in a scientific

conference?

1. Could you have passed the exams better if you had worked a little
harder?

2. What would you have bought if you had gone shopping yesterday?

3. Would you have gone to university if your parents had not insisted on?

4. What film or show would you have watched if you had had enough

time yesterday?

EXERCISE 9. Open the brackets. Use the necessary form of the verb.
1. I wish | (to consult) the teacher when | first felt that the subject was too
difficult for me. 2. | love sunny weather. | wish it (to be) warm all the
year round. 3. I wish I (to know) how to drive a car in 2005. 4. If only he
(to be) here. 5. | wish | (not to have) to do my homework every day. 6. |
wish you (to go) skiing with me yesterday. 7. | wish he (to know)
Spanish. 8. If only I (not to drink) so much coffee in the evening, | could
not sleep well enough. 9. | wish you (to read) more in future. 10. | wish

we (to meet) again next summer. 11. They wished they (not to see) that
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horrible scene again. 12. My aunt wishes she (to stay) at home last

weekend.

EXERCISE 10. Translate the sentences into English using «I wish / If
only»

1. O, kO BU cKa3zaJid HaM Mpo Liel BUMaAok mMuHynoi Henaut! 2. byno 6
no0pe, mo0 B Hel 3apa3 Oyna Bignyctka. 3. lllkozaa, 1110 Bac He 1IKaBUTH 1€
nutanHs. 4. lllkoma, mo BM BBIMKHYJIHM TeENEBi30p Tak Mi3HO. 5. Bonwu
IIIKOYBAJIM, 10 HE BIIPEMOHTYBAJIM IIi MPUCTPOi paHime. 6. SAx6u s OyB
BUTbHUN 3apa3! 7. bymo 6 mobOpe, mo0 BiH TepmMid 3ampoONOHYBaB i
sycrpitucs. 8. Illkoma, mo Bxke mizHO Tyau wtm. 9. Illkoma, mo tu He
3akiHuuB yHiBepcuteT. 10. Illkoma, 1m0 B pobuTe Tak GaraTo MOMUIIOK Y
nuktanTax. 11. Slkbu Bu 3Hanu Bcro npaeay! 12. Illkoxa, o Mu HE BCTUTIIU

Ha JiTak. 13. XoTiB Ou 4, 11100 BOHU CIIyXau MOT TOPaJIH.

EXERCISE 11. Translate the sentences into English.

1. SIx6u BoHa moroauiack NpUNTH y Kade, Mu O MOKa3anu iif IaH HAIIOTO
OynuHKy. 2. BiH 3MiHUBCS. SIKIIO TH WOTO 3yCTpiHEINI, TH HOro HE BITI3HAEIIL.
3. SlkOu Bu mpairoBaidM OUIBII HAIMOJETIWBO, BU OTpuManu O Habarato
Kpallll pe3yJbTaTH MHHYJOTO Micsis. 4. SIKIo BoHA HE IMiJie 10 JTaHTHUCTA,
Jiku i He JomoMoXkyTh. 5. Ha Bamomy Michi s 6 He 3rajyBaB MpoO IO
noi3nky. 6. Bin He mimoB 0 Toai 3 1OMYy, SKIIO O MOoro 0aThbKH HE MOKa3aJH
Homy cBiTiMHU. 7. BoHa He KynyBaja O CTUIBKH JOPOTOLIHHUX pedeH, SKOu
HE BUMIUIA 3aMDK 3a Jyke Oaratoro u4ososika. 8. lleit mnpunan
BIIPEMOHTYIOTh, SKIIO KEPIBHULTBO Bamioi jadopaTopli MOMNPOCHUTH L€
3pooutu. 9. Bin He BUrpaB OM TOHKY MUHYJIOTO pa3y, KOM HOro TpeHep He
MpaioBaB 3 HUM Tak akTuBHO. 10. SIkOu Tom He OyB Takuil 3aiiHATUH 3apa3,
BiH HamucaB Ou CTaTTIO Mpo Hal pakynbTeT. 11. SkOu 6aTbku Kynuin oMy

TUTAHIIET, BIH MIT OM KOPUCTYBATHUCS 1M y aBToOycCl. 12. SIkmo 6 BOHU MeHe
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TOA1 HE TOMPOCHIM MPO JOMoMory, s 6 iM He momomir. 13 SIkmio BiH He
MOIAUTH 3 MICTa, S 3aiily J0 HHOTrO HAacTymHOro pasy. 14. SIkOu s OyB Tom1
Myapiiie, 1 0 He 3poOUB CTUIbKHM MOMMIIOK. 15. BOoHM HaM He MOBIPSATH,
AKIIO MU HE MPOJIEMOHCTPYEMO iM Haill po3paxyHku. 16. Tu 6 37aB cBoi
eKk3aMeHu 0e3 mpoOjieM MHUHYJOTO POKY, SIKIIO O BYUBCS cTapaHHime. 17.

SAxmro 6 Tv He 30upasiacs Tak TOBro, MU O TICTAIMCS aepOIOPTY BUACHO.

APPENDIX 1

LINKING WORDS AND OTHER USEFUL EXPRESSIONS
according to BIIMOBIIHO 110, 3T1IHO
a good deal of Oararo, BelMKa KiJTbKICTh
along with Topsiz 3
a number of BeJIMKa KUJIbKICTh
although X04a, HE3BaXKAI0UYM Ha T€, 110
among cepell, TOMIX
apart from KpiM TOTO, OKpIM
as K, Y SIKOCT1, OCKUJIBKH
as a matter of fact (akTHYHO, HaCTIpaBIi
as a result BHACJIIJIOK, B PE3yJIbTATI
as...as TaK caMo ...dK
as compared with HOPIBHSHO 3
as far as HACKUIBKH, J10
as for III0 CTOCYETHCS
aside from KpiM, 332 BUHSATKOM
as if HEMOB, Haue
as though HIOH, HCHaue
as mentioned above SIK 3ralyBaJIoCs BHUIIIE
as well as TaK camo, sIK
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as well

TaKOXK

at any rate

B YCSIKOMY pa3i

at the expense of

3a paxyHOK

because TOMY II10, OCKIJIbKH, 00
because of 3-3a, 4epe3, BHACIIIOK
bear in mind MaTH Ha yBas3i, IlaM’ITaTh
behind mo3ajny, 3a

beside OpYY, MOPSIT

besides KpiM TOT0, KpiM, JTO TOTO K
between MIX, cepen

both...and... JK...TaK 1...

by all means HEOAMIHHO, OYIb-1110

by far Habararo, 3HaYHO

by means of 3a JIOIIOMOT'OKO

compared with

B MOPIBHSHHI 3

contrary to BCYyIIEpEY, Ha MPOTUBAry

concerning BiJIHOCHO, CTOCOBHO, IT0JI0
despite HE3BaXXAIOUHW Ha, BCyNepey
deal with MaTH CIIPaBy 3, PO3TJISIATH

do one's best

p06I/ITI/I BCC MOXKJINBC

due to BHACJII0K, 3aBIIKN
during i 9ac, MpOTATOM
either ...or... a6o0...a00...

except OKpiM, 32 BUHATKOM
far from JaIeKo

first of all HacamIepe

for example / for instance HAIPUKIIA]

for the sake of

3apajiu
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furthermore

OlIbIIE TOTO, KPIM TOTO

hardly... when

HaBpsd Y. .. KOJIH

hence

OTK€, 3BIICH

however

OJIHAK, IIPOTE, IKOU HE

in accordance with

BIJIIOBIIHO 10

in addition

Kle TOI'o, 10 TOI'O X

in all respects

B YCIX BIJTHOIIEHHSX

in comparison with

y TIOPIBHSIHHI 3

in front of moTepey

in general B3araii

In its turn y CBOIO 4epry
in no way YKOJITHUM YHHOM
in particular 0C00JIMBO

in spite of HE3BaKAIOYH HA
in order to IUISL TOTO, 1100

in this respect

B IIbOMY B1JIHOIIICHHI

instead of

3aMICTh

irrespective of

HE3aJIEXKHO B1J

in view of 3 ypaxyBaHHSAM
like K, HIOH

least of all II[OHAlIMEHIIIE
moreover OUIBIIIE TOTO
neither...nor Hi...Hl...

no longer OinbImie He

nevertheless

THM HC MCHILIC, IIPOTC

on account of

BHACIIIJIOK, Yepe3

on the one hand

3 OHOT'O OOKY

on the other hand

3 Ipyroro OOKy
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owing to

3aBISAKH

provided that

3a YMOBH, AKIIIO

regarding BiJTHOCHO, CTOCOBHO
rather than a He, CKopiIle, Kpalle aHix
result in MIPUBOJHUTH JI0

result from OyTH pe3yIbTaToOM

so that TaKUM YHHOM, II[O

that is why OCh YOMY

the former nepiuii (i3 3rajlaHux)
the latter apyruii (i3 3ragaHux)
therefore OTXKeE, TOMY

though xo4a

whether YU, YA TO

with regard to

BIAHOCHO, 1100

APPENDIX 2

ENGLISH IDIOMS

against all odds / against all the odds

ecyneped 6Cbomy, He3zsadcaArodu HI

Ha wo

around the clock

Yinoooboso, 6e3 nepepasu

as soon as possible / asap

AK MIiIbKU, max 8iopasy, 8
MAKCUMANbHO MOACTUBUU

KOpOMKUU MepMiH

asking for trouble

HANpouy8amucs Ha
HEeNnpueEMHoOCmi, pooumu woco
pusuxKose, wo mModxice npu3eecmu

00 npoob.iem
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at your wits’ end

oymu 3acmyyeHum ma
Ccnycmouerum uepes me, wo 0yiu
NPUUHAMI 8CT MOJNCIUBL Oil, 014
suUpiuleHHs npoobieMu, aie 6oHa

makK I 3a1UWULACA HeBUPIULEeHOTO

beat around the bush / beat about the
bush

coeopumu Hamsiakamu, He

coeopumu WOCb nNpAmMo

behind someone’s back

p06umu wocob noza ouuma KococCb

blow your own horn / blow your own

trumpet

xeaaiumu ceoe

break the ice

noxKiacmu no4amox, nopyuumu
MOBUAHHS, «PO3ZMONUMU Ni0» NPU

nepwit 3ycmpidi

a couch potato

AIHUBGULL, npo JIFOOUHY), wo

noaoae nexcamu Ha OUBAHI mda

OUBUMUCS MeNesi30p

call it a day

3aKiHYy8amu wocb pooumu, uwo

nos’azame 3 pobomoio

can’t see the forest for the trees

He Oauumu cumyayiro NoeHicmio,

y eciu ii macumabrHocmi

change your tune

3MIHIO8AMU CB0K) NO3UYIIO HA

PAxXyHOK 4020-HehyO0b

come in handy

Woco Modce 6ymu KOPUCHUM

come to grips with / get to grips with

Cepuro3HO B83AMUCA 34 BUPIUEHHS

npooniemu

couldn’t care less

abcontomuo 6auodyace, 308CiM He

mypoysamucs

the cream of the crop

Kpawuu 3 Kpawux
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a done deal

YKIa0eHa y2o0a, cnpasa 3pobiena

day to day

NOBCAKOCHHUL, UW0OEHHULL,

pymuna

do your best

pobumu éce, wo MOdACHA, poOUMU
Ha medci AKocmi,; oyaice
cmapamucs npu 6UKOHAHHI

pobomu

each to their own

KOJCHOM)Y C60€

easy come, easy go

AK NpUtwIo, max i 8i0ituL10

every now and then

yac 8i0 uacy

expand / broaden / widen your

horizons

PO3UWUPAMU KPY203ID

from now on

noYuraAmOvYU 3 YboO2O MOMEHMY

from time to time

yac 8io wacy

go with the flow

naucmu 3a mevieio, He

XBUNIOBAMUCA 3d NOOIT

hard to swallow

B8AIHCKO noeipumu

have your head in the clouds

aimamu 8 xmapax, Oymu HaieHUM

wooo cumyayii uu o6cmasum

hold your own

Oymu He 2ipuum 3a K020Ch;
8IOCMOI08AMU C80I0 MOYKY 30DY,

MPUMAMucst c8o€i no3uyil

in a nutshell Tpeba po3ymiTH sIK: 6 060X cr08aX,
Kopomuie Kaxcyuu

il at ease giouyeamu cebe HeCnOKIlHO,
HeKOMpOPMHO

in any case 8 0Y0b-aKOMY GUNAOKY

in the long run

Y 008620CmMPOKOBIll nepCcneKkmusi
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in two minds

mamu 6ubip, ane He 3HAMU, WO
subpamu, mamu 0eKiibKa 0YMOK 3

00H020 NPUBOIY

it’s high time

yac woce pooumu, wo Mmaio 6

oymu 3pobaeHum we 6 MUHYI0M)

join the ranks of

NPUEOHYBAMUCI 00 2PYNU

jump for joy

cmpubamu 810 paodocmi

jump to conclusions

pooumu nepeduacHi 8UCHOBKU

the jewel in the crown

HAUYIHHIWA YacmUuHa 4020-Heb0)0b

keep something in mind

mMamu Ha y8asi, 3anam moeyeamu

keep track of

cniOKyeamu 3a pO3BUMKOM Y020-

HebYOb

kill two birds with one stone

8OumMu 080X 3aUiYi6 0OHOUACHO

know your stuff

0obpe wocb 3Hamu, po3ymimucs

HAa 4OM)Cb

learn the ropes

3Hamu OCHoOe6U

lend someone a hand

Haoasamu 00NOMO2Y

lost for words

HeMOoCIU80 nidiopamu cioéa 00

cumyayii

make ends meet

3600UmMU KIHYI 3 KIHYSAMU, HCUMU

810 3apniamu 00 3apniamu

make the most of

BUKOPUCOBYBAMU HAUKDAUWUM

YUHOM, ompumysamu MAKCUMYM

meet someone halfway

umu Ha 3ycmpid, pooumu

nocmynkKu

miss the point

He bauumu 20J106HOZ20, He

3po3ymimu cymi

next to nothing

matioice Hivo2o
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No way!

Hemoorcnuso!

out of the blue

Hecnooieamno

part and parcel of

HeBio eMHA Ywacmuna

pull someone’s leg

()paofCHumu Ko2cocCb, Kenkysamu

the pros and cons

naloCU ma MIiH)CU

rack your brains / rack your brain

Hamazamucsa wochsb 32610617’111/1,

HAanpyaicyeamu MizKu

recharge your batteries

3ap}10umuc;z HOosUMU curamu

read between the lines

yumamu Midxnc psaoKkamu,
HamMa2amucs po3ymimu wocb, wo
He cxkazano | nanucano npsamum

mexkcmom

safe and sound

Yinutl i HeyuKoodceHull, pyKu ma

Ho2U Ha MicYl

see eye to eye

CXO00UMUCA 8 NO2NAOAX 3 KUMOCH

serve someone right

mak im/ii/tiomy i mpeba,
3acnye08y8amu mozo, wo

cmanocA

speak your mind

81068epmo GUCTIOBII0BAMUCA,
BIOKPUMO GUCTIOBII0BAMU CBOIO

OYMKY

state-of-the-art

OCMAHHE OOC}ZZHGHH}Z,

yavmpacydacHuu

take for granted

gaocamu | mamu wocv camo

c00010 3pO3YyMINUM

time and time again

3HO8Y [ 3H08Y, HEOOHOPA3080

the ups and downs

31emu U nadinHs, 0Nl ma 4opHi

CMYIHCKU 6 Hcummi
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under no circumstances

3d HCOOHUX 0OCMABUH

user-friendly

JecKUll y BUKOPUCMAHHIT

wheeling and dealing

Kpymumucsa ma 0OMOBIAMUCS y

nonimuyi abo 6izneci

worth your while

KOWmy8amu mux 3yCuib, wo Oyiu

NPUKIAOEH]

You are what you eat.

mu me, w0 Mu icu; meoe 300pP08 s

3a1excumsb 8i0 Mmoo, wo mu icu

You asked for it!

Tu ompumae me, HAa wo

3acnyeosyecu!

zebra crossing

niwoxXioHull nepexio

Zero in on

CKOHYermpyeamucs Ha 40OM)Cb

Do you really mean it?

Bu cnpasoi mak esascacme?

That goes without saying.

Camo coboro 3po3ymino.

You are always welcome.

3asorcou sam paoi.

Let’s hope for the best.

byoemo cnoodieamucs na kpawe.

Nothing special

Hiuoco ocobausozo

It’slike this

Cnpasa ocb y uomy

Things happen

Veske mpanjislemsCs

You don’t say so!

He moorce 6ymu!

Enjoy yourselves!

IIpuemnoeo gionouunxy!

EXERCISE. Translate the sentences into Ukrainian.

1.Visitors to Britain are sometimes confused when they’re told there’s a

zebra crossing up ahead. 2. Making experiments is part and parcel of the job

of acting and it cannot be avoided. 3. They want to look into the pros and

cons of doing business in Hungary before opening an office there. 4. Our

instructors will teach you what to do, and it shouldn’t take you too long to
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learn the ropes. 5. Hearing the news, | was lost for words. 6. Jerry wants to
buy a new car, but it’s out of the question. It’s very expensive and we just
can’t afford it. 7. Keep what I said in mind and you’ll be a success! 8. I have
to go shopping and if I borrow the books off at the library on the way I’ll be
Killing two birds with one stone. 9. Every now and then he starts asking
questions about our joint projects. 10. Peter was seriously injured but,
against all odds, he recovered and now he’s fine. 11. We must work around
the clock until the task is done. 12. Henry is in two minds about what to do
at the weekend. He would like to go snowboarding, but he also likes the idea

of going to the movies.

APPENDIX 3

TEST YOUR GRAMMAR

Test 1

1.  wheatof all is processed _ semolina and used to make cakes.
A. The most hard, to C. The more, in

B. The hardest, into D. Hardest, at

2. Sarah ___ in America, ___ likely she will go back to Asia.

A. The longest, has stayed, the least C. Longer, will stay, less

B. The longer, will be staying, — D. The longer, stays, the less
3. They are changing the buildingto___it for disabled to get around.
A. have made, easy, — C. do, easier, a

B. make, easier, the D. making, easily, the

4. We found it togetusedto __ ina foreign country.

A. hard, living C. harder, live

B. hardly, live D. hardest, have lived

5. Jane’s new haircut __ her look much .
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A. does, attractive C. have made, least attractive

B. made, most attractive D. makes, more attractive

6. electricity you use, ___ your bill is. You had better __ down your
energy consumption.

A. The more, the higher, cut C. The most, the highest, to cut
B. Much more, much higher, cutting D. More, higher, to cut

7. He __ changed his manner into a much____ one,.

A. sudden, most sympathetic C. of a sudden, least sympathetic

B. suddenly, more sympathetic D. sudden, sympathetic

8. Youlook  thanyou  lastyear.  you lost your weight?
A. thinnest, had been, Had C. thinner, were, Have
B. the thinner, have been, Did D. the thinnest, was, Had

9. They got ___ to business without delay.

A. into, far C. off, the farthest

B. up, farther D. down, further

10. This problem doesn’t seem  serious than

A. least, another C. less, the others

B. the least, others D. a little, the others

11. Your house is a deal than

A. greater, best, my C. greatest, better. Mine

B. great, better, mine D. the greatest, the best, my
12. Petrolistwiceas _ asit___ afew years ago.

A. expensive, was C. most expensive, had been

B. more expensive, was D. the least expensive, has been
Test 2

1. Thegirl __ asshe _ the windows.

A. was singing, cleaned C. was singing, was cleaning

B. sang, cleaned D. has sung, had cleaned
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2. They for hours when they stopped for rest.

A. walking C. walked

B. will be walking D. had been walking
3.John __ hiscar___ Steve was tidying the garage.

A. was repairing, while B. repairs, after

B. has repaired, as soon as D. will have repaired, before
4. ”When you to Sue?” - “ImetherasI  to work.”
A. had, spoken, had gone C. do, spoke, went

B. have, spoken, gone D. did, speak, was going
5.1 Johnsincewe __ children.

A. knew, have been C. know, are

B. have known, were D. had known, are

6. Itisthe _ film | ever

A. funny, had, seeing C. funnier, —, saw

B. funniest, have, seen D. much funnier, will, see

7. My father’s condition _ day _ day.
A. improves, for C. have improved, for
B. improved, before D. is improving, by

8. They will  lunch _ two o’clock this afternoon.

A. have eaten, by C. be eating, for

B. ate, in D. eating, at

9. you _ toRob later? I’ve got a message for him.

A. Will, spoke C. Will, be speaking
B. Have, speak D. Would, spoken

10. Look at them! They to the thieves.

A. had been going, be catching C. going, have been catching
B. are going, catch D. go, caught
11. Since you tired, | ___ dinner tonight.

A. — will cook C. will be, cooks

112



B. was, cooked D. are, will cook
12.By the time Jack the race, he __ for two hours.

A. finishes, will have been running  C. will finish, will run

B. had finished, will be running D. has finished, had run
Test 3

1.This man’s experience can __ relied

A.— 1o C. being, at

B. have, at D. be, on

2. The living-room __ ,and . Itis clean now.

A. was being swept, mopped C. is sweeping, mopping
B. has been swept, mopped D. swept, mopped

3. Whenever he , he always __ to with great attention.
A. speak, —, listens C. spoke, was, listened
B. speaking, has, listening D. had spoken, had, listen
4. What a mess! Thisroom ____ redecorated, it?

A. IS, was C. is being, isn’t

B. being, hasn’t D. will, won’t

5. Thousands of new houses __ every year in this area every year.
A. are built C. were being built

B. have been building D. built

6. The patient _ operated by a well-known surgeon.

A. has, — C. had been, at

B. will, from D. was, on

7. Much attentionwas _ the singer at the party.

A. paying, at C. pays, after

B. being paid, into D. paid, to

8. We’ll find if the kids taken good care

A. out, are, of C. —, have, -from

113



B. away, will have been, off D. up, had, -

9. Thisbook  lastmonth. It much ___ about now.

A. published, was, speaking C. was being published, is, —

B. was published, is, being spoken  D. has been published, is, spoken
10. Water inthe flat __ cut off and the plumber

A. is, has sent, - C. had been, was sent, for
B. will be, send, to D. —, had been, of

11. When he arrived some warm clothes __ to him.

A. were giving C.isgiven

B. were given D. are giving

12. By 5 o’clock a decision  arrived

A. was, to C. has been, on

B. will, of D. had been, at

Test4

1. He hated ... with trifling matters when he had more important questions

A) bother, to be decided C) to be bothered, to decide

B) to bother, decide D) bothering, deciding

2. He deserves ... how the matter stands and ... about it.

A) to know, to be told C) knowing, to tell

B) to be known, telling D) to have known, to have been told

3. How fortunate you are ... all over the world and ... so much of it.

A) to travel, see C) to be traveling, to have been seen
B) to have traveled, to have seen D) travel, see

4. She was probably angry ... in front of me. Her mood seems to ... for the
Worse.

A) to reprimand, changing C) reprimanded, changed

B) to have reprimanded, be changed D) to be reprimanded, change
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5. Nobody saw ..., we just watched ... ...it away in his case.

A) anyway, his, putting C) anything, him, put

B) nothing, he, to put D) none, himself, to have put
6. The delegation ... to ... London.

A) is reported , have left C) have reported, leaving

B) was reported, having left D) report, leave

7. This invention ... to be ... great importance in shipbuilding.
A) considered, in C) is considered, of

B) considers, at D) have been considered, off
8. They ... to ... quite ... us already.

A) seems, has, forgotten C) seem, have, forgotten

B) will seem, —, forgetting D) seem, —, forget

9. He ... not likely ... come today.

A)is, to C) —, to have

B) does, to D) has, —

10. The cargo ... not ... to have ... by the storm.

A) does, seem, been damaged C) has, seems, damage

B) is, seemed, being damaged D) don’t, seem, be damaged

11. The agreement ... certain ... next week.

A) has, to sign C) has, signed

B) is, to be signed D) was, signs

12. He ... to .... a very experienced engineer.

A) prove, being C) has proved, been
B) proves, having been D) proved, be
TestS

1. Do you mind ...such ... long way to work every day?
A) travel, the C) having traveled, —

B) traveling, a D) to travel, a
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2. Excuse ... asking but does everyone in your family approve ... your ... ?
A) me, -, to fly C) my, of, flying
B) myself, at, having flown D) I, in, flown

3. I’'m not very friendly with him, so I was surprised ... his ... me to dinner.

A) in, being asked C) of, having asked

B) with, to be asking D) at, asking

4.1 object ... Mary and Jane ... out ... at night.

A) at, gone, somewhere C) of, having gone, everywhere
B) from, go, wherever D) to, going, anywhere

5. I could not help ... with him. The problem turned out ... urgent.

A) speaking, to be C) to speak, bein

B) having spoken, - D) spoken, been

6. I intended ... to the cinema yesterday but my friend told me that the film

was not worth ... .

A) going, seen C) to be going, to see
B) to go, seeing D) go, see

7.1don’t feel ... ... a swim.

A) as, to be having C) as if, had

B) like, having D) about, to have

8. When we were at school, we ... to ... those games in the yard.
A) were using, playing C) used, play

B) have used, playing D) was used, having played
9. Jane could not ... used to ... on foot to her office.

A) get, going C) getting, go

B) having got, gone D) got, go

10. At that time we ... keen on .... a lot of money

A) are, having made C) —, make

B) were, making D) will, to make

11. Try ... at the back door if ... hears you at the front door.
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A) knocked, anybody C) to be knocked, none

B) knocking, nobody D) having knocked, somebody
12. Bad weather prevented us ... ... home in time.

A) from, coming C) to, come

B) at, having come D) off, to have come
Test 6

1. But ... your advice, I ... have been able to solve my problem.
A) from, won’t C) to, weren’t

B)for, wouldn’t D) of, will
2.If1...you, ... travel ... my own.

A) was, will not, off C) am, won’t, —

B) will be, wouldn’t, from D) were, wouldn’t, on

3. If Steve ..., tell him I ... back in ten minutes.

A) calls, will be C) will call, will

B) call, had been D) called, am

4. If you ... more attention to your studies last year, you ... these mistakes.
A) paid, had not done C) have paid, wouldn’t make

B) would pay, hadn’t made D) had paid, wouldn’t have made

5. Your son ... nightmares if he ... that film.

A) wouldn’t have had, hadn’t watched C) won’t have, didn’t watch
B) doesn’t have, will have watched D) hasn’t had, don’t watch

6.IfI ... rich, I ... sail around the world.

A) will, were to C) were, could

B) had been, will D) will be, had sailed

7. ...she ..., she would ... her permission.

A) Has, being asked, give C) Had, been asked, have given
B) Is, asked, giving D) Will, have asked, gave

8. If Mark ... me some money, I ... this jacket.

117



A) gave, bought C) gives, will buy

B) had given, have bought D) would have given, would buy
9.1d ... go to Majorka because I love ... by the sea.

A) better, to have been C) rather, being

B) prefer, been D) —, be

10. Dick prefers ... fish ... meat.

A) to eat, rather than C) eat, then

B) to be eating, to D) having eaten, than

11. - I’m ... out in a minute. — ... am I. You’d ... take your keys with you.
A) go, And, rather C) gone, As, —

B) to be going, Also, best D) going, So, better

12. Colin wishes he ... the bus; now he ... late for work.
A) isn’t missed, has been C) isn’t missing, was

C) hasn’t missed, will D) hadn’t missed, is
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